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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
3 TIH-UF Tl B Tl § Ugel THudT (Heteriad faen wt ug

This Question Booklet contains 100 questions with
weightage of 1 mark for each question.

Before attempting the question paper, kindly check that
this booklet has total 24 pages and OMR Answer Sheet is
in triplicate. At the start of the examination within the first
five minutes, candidates are advised to ensure that all
pages of Question Booklet and OMR Answer Sheet are
properly printed and Question Booklet is not damaged in
any manner.

The OMR Answer Sheet consists of three copies, the
original copy, the commission copy and the candidate’s
copy. Do not separate or displace them. Do not darken the
bubbles in three copies of OMR Answer Sheet separately.
Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of
the examination. Invigilator will hand over the candidate’s
copy after separating it. The candidates are allowed to take
away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR
Answer Sheet Serial No. match with each other. In case of
any discrepancy, the candidate should immediately report
the matter to the invigilator for replacement of Question
Booklet and OMR Answer Sheet. No claim in this regard
will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet
should be filled carefully. Change of OMR Answer Sheet is
not permitted.

Do not forget to write your Roll Number on the top of this
Question Booklet and OMR Answer Sheet. Do not tear or
fold any page of the Question Booklet and OMR Answer
Sheet.

Candidate has to fill one option compulsorily out of the five
options given. If a candidate does not know the answer,
then he/she has to fill the fifth option (option ®). Extra
five minutes will be given to mark the fifth option, No marks
will be awarded against the fifth option as it indicates that
the candidate has not attempted that question.
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There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
shall result in deduction of one mark.
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The Kingdom of Ballabhgarh was annexed by the
British after the Indian Rebellion of 1857. Who
was its last ruler ?
(A) Ajit Singh
(C) Nahar Singh
(E) Not attempted

(B) Gopal Singh
(D) Balram Singh

Select the combination of numbers so that letters
arranged accordingly will form a meaningful
word.

NI|IR||O|[C|]|T]||A

(A) 162435
(B) 652314
(C) 2354061
(D)462531
(E) Not attempted

You are facing the rising sun early morning. You
turn 90° clockwise, then 45° anti-clockwise.
Which direction are you facing now ?

(A) South-West
(B) East
(C) South
(D) South-East

EE
(E) Not attempted ;

O

In a certain code, “TEACHER” is written as
“VGCEJGT”. “DULLARD” be
written in the same code ?

(A) FWNNBTE
(B) FWNNCTF
(C) FWNNCSF
(D) FWNNCRE
(E) Not attempted

How would

2.

4.

1857 o WA fogie o =g SIS 3 dod g ST
T hosTT Rt ToTaIT 9T | 39T JiTaH STTEeh shi o7 2

(A) 3Fsfa i (B) 7Tt T
(C) TR fEe (D) sonH fiiw
(E) I Tl <7 =med

HEH! & HASH H =TI AT dqlfeh qETER
ST 78T Uh Tk 3168 o1 Teh |

NI|R|[|O|[C||T]|[|A

(A) 162435
(B) 652314
(C) 235461
(D) 462531 i
(E) 3T o1 amed ﬁ%

3T YTE-GeTE T4 G ohi 3T 8 ek @ & | 377
90° aferoTTerd, Tt 45° ATTard ¥Hd 2 | 3T T fore
feam i e FF @ E 2

(A) Efeorafe=m

(B) T

(C) afequr

(D) aferur-g=

(E) TRl o1 9med

T Hf¥=d e H, “TEACHER” &1 “VGCEIJGT”
o &9 # foran St € | 36 %2 § “DULLARD” &
foper SRR forar Sma 2

(A) FWNNBTE

(B) FWNNCTF

(C) FWNNCSF

(D) FWNNCRE

(E) ST &1 =med
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Which Article of the Indian Constitution
facilitated the creation of Haryana as a separate
state ?

(A) Article 239

(B) Article 3

(C) Article 1

(D) Article 371

(E) Not attempted

Under the Haryana Budget 2025 — 26, how much
amount has been allocated for women’s welfare
under the Lado Lakshmi Yojana ?

(A) ¥5,000 crore

(B) ¥4,000 crore

(C) ¥3,000 crore

(D) 6,000 crore

E5E
(E) Not attempted n@%

Which the not a

Constitutional Body in the state of Haryana ?

among following 1is
(A) Haryana Public Service Commission
(B) State Election Commission

(C) State Finance Commission

(D) Haryana Human Rights Commission
(E) Not attempted

The ‘Pinjore Gardens’ (Yadavindra Gardens) in
Haryana are an excellent example of which
architectural style ?

(A) Indo-Saracenic architecture

(B) Rajput architecture

(C) British colonial architecture

(D) Mughal garden architecture

(E) Not attempted

Which of the following Parks/Santuaries in
Haryana is a Ramsar site ?

(A) Nahar Wildlife Sanctuary

(B) Sultanpur National Park

(C) Abubshahar Wildlife Sanctuary

(D) Kalesar National Park

(E) Not attempted

S.

6.

8.

9.

R dfoa™ o R T=ee o sREmn & T
AT TS o &9 H o= H T i 2

(A) 3TT=33 239

(B) 313 3

(C) 3rF=ee |

(D) 3133 371

(E) TR 1 =med

IO ST 2025 — 26 % d&d, ATt ARHT AT &
TEd HigaATl o FHeamr & fore ferat afyr ereifea
HET?

(A) % 5,000 FS

(B) %4,000 FS

(C) %3,000 FIS

(D) % 6,000 FS

(E) TR &l o1 9med

frfeTRad 9 9 SHH-97 ST UST § Ueh G99t
[REIRE kS

(A) ST SAleh | ST

(B) UST TS AT

(C) T=F famr s

(D) BTN AHETTERR SRR EigL
(B) ST &l <1 9med e
g § ik e @efasr méa)

FTHAT AT T IeHE AT @ 2
(A) FEI-TTHT FTEhel

(B) TSTIT TR

(C) fsifesr SftafAafimes aregerar
(D) TS T et

(B) 3T o1 9med

g # Fefafad & @ HF-a1 S/
THER TIAR ?

(A) AT TS AWIRT

(B) FeaHdX TS Sam

(O ECHEEREIERERIND]

(D) FATR T I

(E) TRl o1 9med
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10. Arun’s salary is 25% more than Bishnoi’s.|10. 3797 T dd- foIeis o a9 § 25% 314 & | =A0T
Charan earns 40% less than Arun. Deepak earns IR T 40% HH FHHET § | 29eh, o E d 30%
30% more than Bishnoi. 3TTereh AT 2 |
By how much is Deepak’s salary more than 9 T IdT ILOT & da- o TehaHT ATF & 2
Charan’s ? (A) 5333% (B) 62:25%
(A) 53:33% (B) 62:25% (C) 66:67% (D) 7333%
(C) 66:67% (D) 73-33% (E) 3ot 3T e @g’_@
(E) Not attempted OE=
1 s (1) 1 s (1Y
11. Ifx+ — =2,thenx +| | = 11. 'alﬁx—I-—:Z,?‘ﬁx + | = .
X X X X
(A) 2 (B) 0 ©)s (D) 6 (A) 2 (B) 0 (C) 5 (D) 6
(E) Not attempted (E) STl &1 =med
12. A solid metal cube of side 14 ¢cm is melted and |12. 14 9+t Sl I Teh 3 a1q & o9 I TUeATe
recast into smaller spheres of radius 1 cm. How 1 9} Bream 9T B1 Mt ST SITd 8 | U8 fohde Mt
many such spheres can be formed ? a:nqsnm 29
(A) 535 (B)655  (C)6l2  (D)724 (A) 535 (B)655 (C)612 (D) 724
(E) Not attempted (E) I T T =R
13. If ‘a’ and ‘b’ are positive integers such that|13. If& ‘a’ 3 ‘b’ oHTCHS qgﬁ% g oo &
2 2
a —b =231, then what is the value of a x b ? a2 —b2 =3],AMaxbHATHTLE?
(A) 246 (B) 240 (C) 128 (D) 321 (A) 246 (B)240 (C) 128 (D) 321
(E) Not attempted (B) I 1 =
14. The average weight of 6 boys is 50 kg. A 7th boy | 14. 6 TIShi o1 3T 51 50 TheAIT™ B | Teh 7o cTgam
joins and the new average increases by 4%. Later, ot STt 81 STar @ S =T 379 d 4% 9 ST # |
an 8th boy joins and the average increases by oS |, Teh 84T argehT Al Ifyer 2 Sirar 8 3 e
1 kg. What is the weight (in kg) of the 8th boy ? 1 foreitum s1g ST 2 | 89 wigah ol st (fehetiom
(A) 62 (B)56 (C)57  (D)60 e
(E) Not attempted 24 (A) 62  (B)56 (C)57  (D)60
[=] .
(E) WA &1 =med
15. F int A the d, the angle of f . et T
elr:\jaltian‘?omthe toc;n of a \g/re(l)r‘?ilclal tower ii 30° 15. = %l’g’ A ¥, T SR
. o ' 31T RI0T 30° 7 | T foig B 9, ST foig A 9 AR R
From a point B, which is 50 metres closer to the S ©
: IR § 50 HeX 3Rres feve 8, fia) & oid w1
base of the tower from point A, the angle of . )
elevation to the top of the tower is 60°. What is 3 10T 60° © | HIATE 1 Freitg ( ilEZﬁ)W%?
the height of the tower (in metres) ? (A) 25 ﬁ m (B) 50 ﬁ m
A 3 (B) 3
(A) 253 m 504/3 m (C) 50m (D) 25 m
(C) 50m (D) 25m ]
(E) Not attempted (E) S 1 =T
D &4 &



16. Which of the following policies aims at|16. fr=faRad @ & wH-H Hifd #1 kYT Afearst &
transforming rural economy through women-led A ATl SH-HEEdl SRl (SHG) % AT ¥
self-help groups (SHGs) ? T STefeEel i SEeHT & 2
(A) PM Gati Shakti (A) dum i 31ferd (PM Gati Shakti)

(B) e-SHRAM (B) $-11 (e-SHRAM)

(€) DAY-NRLM (C) ITATE-THITRTSATH (DAY-NRLM)
(D) PM-KUSUM (D) HeH-FEH (PM-KUSUM)

(E) Not attempted (E) ST 2T =18

17. Statement I : The Prime Meridian passes through|17. & [ : T8I H&ATg @ (W) ffer @ Bt
Greenwich. Eﬁ'{_vﬁ gl
Statement I : 1t is at 0° latitude. FHYT I - TS 0° ST L |
(A) Both Statement I and Statement II are (A) FIF 1 3 FHIYT [ 3T T ¢ |

correct. (B) 9 [ W &, Wifohd o [1 7Tl € |
(B) Statement I is correct, but Statement II is (C) e I 3 o 11 2 et |
© gczl”e;t' 1 and Statement I (D) YA 17T &, AT e [ TR R |

0 tatemen an atemen are .

. (E) ST T &A1 =med

Incorrect.
(D) Statement I is incorrect, but Statement II is

correct.

IE:EH_IE

(E) Not attempted Dty

18. Which of the following phenomena best explains |18. F=fcfaa & & Fia-dt uftge et streemr it
the appearance of a blue sky ? ufkerfer sl Teardr STt g | AU © 2
(A) Wavelength-based scattering of light (A) TSN T qUTQE-3TETd Jehivi
(B) Reflection of ocean colour (B) TS o TOT &7 Ifdtsie
(C) Absorption of ultraviolet rays (C) TSI fomatt o Sareieor
(D) Curvature of the Earth (D) et Y Fshar
(E) Not attempted E ) el Em

(E) IO & a1 =med E?E’%

19. India successfully hosted which major|19. WRd 2024 ﬁﬁn‘ﬂﬂ'ﬂ'@ Sfaue e o it

international summit in 2024 ? HHTATYA e HTeITHT 6T ?
(A) BIMSTEC Summit (A) femees (BIMSTEC) fIrer ove
(B) SCO Summit (B) THEIAT (SCO) fIrer aeie
(C) SAARC Summit (C) | (SAARC) fmet arie
(D) G20 Summit (D) Sf20 (G20) TR weier
(E) Not attempted (B) 3T o1 Amed
D &5 &



20. A piece of paper is folded and cut as shown in the

Question Figures. From the given Answer
Figures, indicate how it will appear when opened.
Question Figures :

e N - ., . .
. » . . .
. - L "

L " ]

"""" L

. [ S h
. P .

. . e

. . o

Answer Figures :

(A)
(B)
©

(D)

FEDEDE

(E) Not attempted

20. T HATS o ZhS shi T SATH(aAT H fe@Ty S17am

HIST 31X 1T T © | 4T 15 ST SRl ¥ a5
o Wie 9T 318 A fe@s o |
9T SATHTAT :

. . . . P N
. . . . . .
g N .
" r. . ! .
N . v
"""" [l i
v . .
. N
* ‘ . .~
. g -
3

IR ATHTAAT :

(A) @
(B) @
© @
(D) @

(E) IO & a1 =med
21. Six faces of cube are painted red, blue, and green, |21. =9 % BT HeAhl bl ATed, ﬁﬁ, FARWTH 9 di@
in a manner that no two adjacent faces have the Q1 T B ToR hiS o 27 STTE=T WeAohl ol TT Teh ST
same colour. The cube is then cut into 64 smaller T2 | TR o &1 64 B T4 O er 737 | fohaq o1
cubes. How many cubes have only one face T heel Teh HeTeh oTel QT hT 2 2
coloured red ? (A) 24
(A) 24 (B) 8
(B) 8 (C) 10
(©) 10 (D) 6
’ [OpHO]
(D) 6 (E) 3T &I o1 =med %?E%
oo
(E) Not attempted Bk,
22. Complete the series : 22, el I i ;
7,14,11,22,17,34,? 7,14,11,22,17,34,?
(A) 27 (A) 27
(B) 20 (B) 20
(C) 28 (C) 28
(D) 39 (D) 39
(E) Not attempted (E) T2t 27 =med
D &6 &



23. Identify the correct pair of indigenous cattle|23. BRITOM ﬁwzraﬁmvﬁ%sﬁuévﬁ#@émﬁgn
breeds that originated in Haryana : I gg=m Hifse ;
(A) Sahiwal cow and Banni buffalo (A) \TEET TR 3 =t 9
(B) Gir cow and Jaffarabadi buffalo (B) TR T 31 SIrptreret S|
(C) Hariana cow and Murrah buffalo (C) sieEmT I St e
(D) Tharparkar cow and Mehsana buffalo (D) ST TR 3ﬁ; Tegmon g9
(E) Not attempted (E) I e AT =
24. What percentage of Haryana’s geographical area |24. &N o M{oTeh &1 o fehd=T STaeTd SXI&TT &1
is covered by the Protected Area network eTeh (TS ITH, TS STHIR, TeoT fistdl)
(National ~ Parks, = Wildlife  Sanctuaries, T el feRaT T R 2
Conservation Reserves) ? (A) 0-34%
. 0
(A) 0321/0 (B) 1-1%
o
1270 600
(E) Not attempted D
25. Under Haryana’s Parivar Pehchan Patra (PPP) 25. gfmom &t ufar gg=m o (i) yomeft & d&a,
system, which of the following statements is feafefea g g fA-arFUT o 2 2
correct ? (A) et i & fanfem = & Siet st
(A) Only Haryana residents get a Family ID. (ID) Tt & |
(B) Families outside Haryana get a 9-digit ID (B) sfemom T STET F qRER T T e Y RS
starting with letter “T’. 21 aTelt 9-37eRT T 3T (ID) frerdt 21
(g) iPP 1S mand?]‘;)ry for e;ll resi‘dentst. ) (C) aft Frafet ¥ forg et sifamt 2|
(D) elmporary s are for migrant workers (D) SRRl ST (ID) e Yol st ¥ forw
only. 5
|
E) Not attempted . L)
E) P (E) ST TEl o1 9med A
26. The decline in the population of which bird|26. RO (33ﬁ1' t{i( ‘HT{?fﬁ) forar weft g St ST
species in Haryana (and across India) is a ¥ FRrere sk wewul qateRuiiy ey €, okt qer
significant environmental concern, largely SHTLOT 93] ferfercar O feaaiithaes &1 ST © 2
attributed to the use of Diclofenac in veterinary (A) AT
medicine ? .
(A) Cranes (B)
(B) Peacocks © fire
(C) Vultures (D) T
(D) Sparrows (E) ST & T AR
(E) Not attempted
D &7 &



27. Consider the following statements : 27. FfaRaa wemt w fomm il -
I. The first nuclear power plant in North India [ ST YRA § ggel AT STl I g0 &%
is being built in the Hisar district of RO Nt & SR ST @ 2 |
Haryana. II. BT SR A4 gt fhae ud @fiet
II. The Haryana government has removed the LR Sftad quat PIEEIME ALY SR T 8T
age limit for the ‘Mukhyamantri Kisan 2|
Evam Khetihar Mazdoor Jeevan Suraksha M1 OE ATSHTIeRT Aol AT T GEehior U o
Yojana’. s ot o | )
III. The 3rd edition of the Saras Aajeevika Mela gq'gi.—cﬁ TP FAT TS 2
was held in Gurugram. (A) et 1 3T
Which of the above statements are correct ? (B) LI I
(A) II and IIT only (C) Tt [ AR
(B) I, ITand III (D) el [ 3R I
(C) I'and II only (E) S TS T =T % ?;g
(D) I'and III only
(E) Not attempted
28. In 2022, Haryana ranked among | 28. 2022 H, ffa dawt F=reier § RO R Tt
Indian states in the Export Preparedness Index. iy T YT T |
(A) 8th (A) &
(B) 4th (B) =
(C) 2nd (C) 3;5&
(D) 5th (D) 53
(E) Not attempted (E) T e 3T =
29. Which author from Haryana won the Sahitya|29. 1990 ¥ U+ shfddl §UE “sfit a1 =a8” & oIy
Akademi Award for work in Haryanvi language RICINCIR IR R IR R E R TR SIRERCIN
in 1990 for his poetry collection titled “Bire Da RN R,
Viyah” ? (A) SEERT fie
(A) Jasbir Singh (B) 334 W@E‘J
(B) Uday Bhanu Hans (©) e T e
(C) Mewa Ram Gaur (D) Tt =iz T
(D) Gopi Chand Narang Eg () T e
(E) Not attempted ET
30. What is the current number of reserved|30. RO farem @ d ﬂg'ﬂfvl?f Sirfert (Q'FR:IQD%%Q
constituencies for Scheduled Castes (SCs) in the tera fatem-aet Y gaam geaT fha-t 2 2
Haryana Vidhan Sabha ? (A) 20 B) 15
(A) 20 (B) 15
©) 2 D) 17 ©) 2 (D) 17
(E) Not attempted (E) SR <A1 =med
D &8 &



31. In the following question, find out which of the |31. freferfaa gem #, F1a Fifste f s ﬂ'@&lﬁ (A),
Answer Figures (A), (B), (C) and (D) completes (B), (C) 3R (D) # ¥ *hi7-€ ST AT I T

the figure matrix. FAT R |
| L | o]0 | L | o]0
|| N |elo || N olo
<§§> OO <§§> [eY4aNe)
<> c<>3 <> o0
dD|ICRD | ? dD|ICRD| ?
Answer Figures : I GTW :
(A) 0 (B) A (A) 0 (B) N
C ) (IR} C ) o1
9 W 9 L
C & D) | oo C & D) | oo
© © o ®) C ) © © : [®)] ®) C )
c oo o oJo
(E) Not attempted (E) ST <1 =med
2
Of22

32. Which of the following diagrams represents the |32. TTHfRad § & TH-AT 3TE U YT, ﬁtﬁi‘}ﬁ'{ﬂ’g
relationship among Beverages, Coffee and Soft (zfieT) 9 o o= Geier gemiar & 2

(Cold) drinks ?
A) @O

EAj ?Oo ® OL

o O
© @D
© @
D Bl

(E) ST &} T =med

(E) Not attempted

&9 &



33. A number is increased by 20%, then decreased by |33. T H&ATH 20% ﬁaﬁi?ﬁaﬁﬁ%, TORT 30% st HT
30%, and finally increased again by 50%. What oY STt 7, 3T 31d | T 50% ot gfeg Al STt 3 |
is the net percentage change in the number from & § 39 A AH 9 3 Yfavd afeds =
its original value ? 29 ) ;

(A) 0% (B) 26% (A) 0% (B) 26%
(©) 10% (D) 16% (€) 10% (D) 16%
(E) Not attempted (E) T T AT AT

34. Selling Price of two items is € 120 each. One sold |34, @I _OI“vT\'lﬁ & o g o sk AT T 120 TITH
at 25% profit, the other at 25% loss. What is the T 25% AT I ST T, SO Rl 25% B |/ |
net profit or loss for the shopkeeper ? WW@@W&T%’F&[%T% ?

(A) ¥ 16 profit (B) No profit no loss E’A) F 16 HTATT (B) TA T -
(C) T25loss (D) T 16 loss (C) 25 Hrafy (D) %16 Frerf
(E) Not attempted (E) I TR AT =TE

35. A sum of money, invested at a certain rate of |35, Uk H-XIIT I HTERUT AT ol Uah (f¥erd & W
simple interest for 3 years, yields ¥ 1,200. If the 3 9T o fT 9937 & W ¥ 1,200 ITH B4 © | IS
same sum were invested at the same rate of 3t Wﬁaﬁammaﬁwa CULEESY
compound interest (compounded annually) for ¥ gafr) w2 ast & forw e e sme, o
2 years, it would yield ¥ 840. What is the F840 ITH BT | I@W@T GEER) 1V SIS ST
principal sum and the rate of interest ? S9
(A) Principal : ¥ 3,800, Rate : 10-5% (A) HETE : 3,800, W : 10-5%

(B) Principal : 4,200, Rate : 9-:5% (B) TEH : 4,200, & : 9-5%
(C) Principal : 3,600, Rate : 11-11% >
o (C) B9 :% 3,600, : 11-11%
(D) Principal : ¥ 4,000, Rate : 10% D) IIC\FP%F{ 740007 10%
(E) Not attempted *E!%_El S
5 (E) I AL T =8

36. A hemisphere and cone have equal volumes. If|36. Tsh 3Tefit ﬁ?ﬂ@% ST SR | Qﬁﬂiﬁaﬁ
the height of the cone is h and radius of both is r, AR he M A B r?, A rF UG H h I
find h in terms of r. HIT |
(A) 2r (B) 41/3 (A) 2r (B) 41/3
©) r (D) 3r/2 ©) r (D) 3t/2
(E) Not attempted (E) I et T =T E;&E

37. If a train is 180 m long and crosses a man in|37. DI ISOWWWT@, @Cﬂﬁ'ﬁﬁﬁ 9 Uehg |
9 seconds, then how long does it take for it to R LT &, a7 3§ 280 HIZT T THeHIH hi I T
cross a 280 m long platform ? T foraeT 985 & 2
(A) 27 seconds (B) 23 seconds (A) 27 Qehs (B) 23 ¥
(C) 18 seconds (D) 21 seconds (C) 18 Tehe (D) 21 ¥ehe
(E) Not attempted (E) IS AT =R

D & 10 &



38. A factory uses three machines (A, B and C) to

produce a specialized type of widget.

Machines A and B working together can produce
100 widgets in 4 hours.

Machines B and C working together can produce
100 widgets in 5 hours.

Machines A and C working together can produce
100 widgets in 2-5 hours.

If Machine A were to work alone, how long
would it take it to produce 100 widgets ?

(A) 40/9 hours

38. Ush Shaedl Teh fouiy Yar o fosie s & forg e

AT (A, B 37T C) o TN T 2 |

T3 A 3R B ek 91 & ek 4 5 1 100 fomie
ST HHAT S |

T3 B 3R C Ueh 919 19 ek 5 5 § 100 fasie
ST HHAT 2 |

39 A 3R C U 919 &9 & 25 8 |
100 farsie sHT Tt & |

Ife TRfiT A 3Tehet o8 L, A1 3§ 100 fosie s &
ToraT wmer @ 2

(B) 16/3 hours (A) 40/9‘5?%
(C) 5 hours (B) 16/3 e
(D) 45 hours © 5 e
(E) Not attempted (D) 455 @%_E,l
(B) 3T o1 amed ol
39. If5@1=60;12@ 8=200;16@2=180;then|39. a5 @ 1=60;12 @ 8=200; 16 @2 =180%;
what is the value of 16 @ 10 =? 16 @ 10=HF A FTE ?
(A) 10 (A) 10
(B) 260 (B) 260
<€ 9 () 9
(D) 32 (D) 32
(E) Not attempted E%E (E) T2t 27 =med
40. A cube has six different symbols drawn over its 40. T = % 8 Helehl T BT ST-3TT Tl o+ §Y
six faces. The symbols are dot, circle, triangle, Tl ydls & — ]%ig, Eih ﬁﬁi\_:r, T, e I T |
square, cross and arrow. Three different positions 3:|-|3§[%reﬁ T g il T STeT-21a feafaat awnis 18
of the cube are shown in the figures. 2
Which symbol is opposite the Square ? T F g PEET s £ 2
(A) Cross (M.—m-—“ﬂ;[ ‘ .
(B) Circle (B) I«
(C) Triangle (C) %rzisf
(D) Arrow (D) dR
(E) Not attempted (E) TRl o1 9med
D &11&



41. The “Surya Grahan Mela” (Solar Eclipse Fair) is |41. “Hﬁ TEUT HAT” Teh T 3TN HSTcl‘i\U(I\ CIDISCR
aunique and significant event specifically held in ST forers w7 & gfmom o for dtef Tue ‘v’lﬁ B
which pilgrimage site in Haryana when a solar B 9T AT fohaT ST © 2
eclipse occurs ? (A) SR, ‘3!56?33
(A) Jyotisar, Kurukshetra (B) g Fereed! T TeRe, ‘355@3[
(B) Sheikh Chilli’s Tomb, Kurukshetra (C) ¥ I, Foar
(C) Bhishma Kund, Kurukshetra (D) & TR, W
(D) Brahma Sarovar, Kurukshetra (E) 3T Tl <1 =med
(E) Not attempted
42. Which of the following statements is correct|42. TREITON H BT ﬂﬁ'ﬂ'@ & (SASETAT) % forerd
regarding recent infrastructure developments in & Hey § Aeforiad O O shi-97 9 g © 2
Haryana ? (A) TETTET g Q- o aTd qe T e & |
(A) Rakhigarhi is located on the left bank of (B) efmom @a st iR stfirfem 2016 # aria
Palaeo-Channel of Drishadvati. foraT T T |

(B) Haryana Right to Service Act was passed in (C) T Tommt 1528 sismen 3R A
2016. Sreard |

(C) National Highway 152D connects Ambala (D) St AT TR e 9Tt & S T
and Narnaul. 3 s

D) The Eastern Peripheral Expressway passes

) through the city opf Hisar. ' o (E) ST A e E;&E

(E) Not attempted

43. Which temple in Thanesar served as a prominent |43, T8 H IH-87 HT TST € & IMEHTA &
religious site during the reign of King SN Uk T YTfHeh Tt o B9 § 3 hdl AT 2
Harshavardhana ? (A) W;WFI‘TW&T
(A) Amin Bhadrakali Temple (B) TUMTa HERS HidT
(B) Sthaneshwara Mahadev Temple (C) FRrarfim =1 e wf
(C) Vishvamitra Ka Tila Temple (D) Wqﬁ.{

(D) Pashupatinatha Temple e (E) SCAE 7 =

(E) Not attempted B
44. Find the odd one out : 44. ﬁ'ﬂ'ﬁfﬂﬁ‘cﬁﬁl"{ :

(A) Prism A) fosm

(B) Mirror (B) &g

(C) Lens (C) &g

(D) Window (D) f\@-gaﬁ

(E) Not attempted (E) 3T e} &7 =g
D & 12 &



45. Find the odd one out : 45. %Wﬂ'l?ffﬁ%l’f{ :
(A) 417 (B) 370 (A) 417 (B) 370
(C) 153 (D) 371 (C) 153 (D) 371
(E) Not attempted (B) ST TR T =med @%_E_l
mEa
46. A certain number, when divided by 15, 20, or 25, |46. e [f¥=a G =t 15, 20, a1 25 4 fovifsa sF o
always leaves a remainder of 8. What is the AT 8 Y S=idT © | UHT 9oy DT ST -8t 8
smallest such number that is also greater than 500G a2
>007 (A) 592 B) 615
(A) 592 (B) 615 © 608 D) 612
(C) 608 (D) 612 -
(E) Not attempted
47. IfREADis coded as 94 (18 x 5+ 1 x 4), how will [47. If& READ &1 94 (18 x 5 + 1 x 4) % ®9 § shifsd
MATH be coded ? foRa SITaT 2, @ MATH 1 8 Shifed foram St 2
(A) 156 (A) 156
(B) 160 (B) 160
(C) 173 (C) 173
D) 165
(D) 2o (D) 165
(E) Not attempted [Sfa (E) S 72 AT =T
48. Four individuals — P, Q, R and S — are suspects in |48. TR ARE— P, Q, R 3 S — R o Uk HTHA § HIT]
a theft case. They make the following HERG I RICHE PR T
statements : P EaT: “Q A |”
P says : “Q 1s guilty.” QFEAE: “RAME |
Q says : “R is guilty.” R T «p iy 2
R says : “P is innocent.” S T
S says : “I am innocent.” ' Ny .
- o Ifg 218 91 ¢ foh 0 & areaa & wa & ot € ofR
If it is known that exactly one of them is guilty, St A o 2 AT B @ [
and only the guilty person lies (all innocent NN ﬁb\:r
(7
people tell the truth), then who is the guilty one ? 9. ek
A) P B) R S D
(A) P (B) R ©) S (D) Q (A) .() ©) D) Q
(E) Not attempted (E) S 1 =T
D & 13 &



49. Consider the following statements :

I. Haryana covers 2:34% of the geographical

area of India.

II. The government has legalized the shooting

of female Nilgais.

Il. Lantana camara pose a significant threat to

49. ffafga swedi o fomm fifse

. BT YR % Smicie &7 o1 2-34% W
UATE |

. TR = H1eT ST bt et HR sl o T
fema

111. SIeMT HART giEmm a7 gritfefdasht a3 o fog

the Haryana forest ecosystems. Th ﬂ%r_orqc'\Uf@ﬁT[ 2|
Which of the above statements is/are correct ? Wﬁ?ﬁﬁﬁ&ﬁ?—l‘mﬁ YT TR 8/2 2
(A) 1II only (B) 1l and III only (A) Had I (B) haet 11 37 111
(C) Iand Il only (D) I, 1T and 111 (C) ad [ I (D) 1, 11 3R 111
(E) Not attempted (E) STl T =med
50. Which of the following pairs of institutions and |50. F=fciRaa & & AT 3 IS TN 1 HIF-AT
their locations is incorrect ? RAG) TATE ?
(A) Central Institute for — Hisar (A) FEg 99 HHET HEAH ~ feaw
Research on Buffaloes GISIESEED)
(CIRB) (B) TSI SEUH &M~ — A
(B) National Dairy Research ~ — Karnal (@3"}3}1{3]1‘5?)
Institute (NDRI) © T T e [ N—
(C) Indian Institute of —  Rohtak (JTTSATSTR)
Management (ITM) (D) WA HiY SUUH T — Tl
(D) Indian Agricultural — Panchkula (3113‘!{311‘{3]1@)
Research Institute (IARI) (E) 3T EH 37 =Tea EE
(E) Not attempted e meEa
Of
51. Which of the following statements about the|51. BRATOT H HEawst ST AT AT (THSTSETS)
Mukhyamantri Bagwani Bima Yojana (MBBY) Fan g FAffaa s a R F el g 2
in Haryana are correct ? 1. 38 AT H 46 SOTEHT BEcT i M foham
I.  The scheme covers 46 horticultural crops. e
II. Premium is  750/acre for 1. fssri/marar o foe fiftmm £ 750/The ® |
vegetables/spices. 111 ®fssEi/maret % fog sifekan gemest
III. Maximum compensation is ¥ 15,000/acre ¥15,000/THS T |
for vegetables/spices. R
Opti :
ptions (A) 1, 11 R 10 (B) et [ 3R II
A) 1, II and III B) IandII onl
(A) 1, ITan (B) Tand T only (C) FFAUIRII (D) Faat 13RI
(C) II and III only (D) Tand III only ;
(E) Not attempted (B) ST T
D & 14 &



52. The original Indian Constitution had 52. HAdA AR wferermT & Hiferer SAferspR &
Fundamental Rights while it presently has EEIEACREICR L] Aiferer AR E |
Fundamental Rights. (A) 78 (B)87 (06,7 (D)7;6
(A) 7,8 @B)S§7 (©)6,7 (D)7;6 (B) ST TR T =med
(E) Not attempted
53. A bucket is initially filled to 3/8 of its capacity |53. T SITe2] hl Y& H IHHT &GHAT 6 3/8 T I & ¥
with water. Then, 1/2 of the water currently in the 7T 2 | T, St | qﬁas it &7 1/2 Teemr |ree
bucket is poured out. After this, water equivalent ECARBCCIRSICIRD g{:ﬁ; e, mﬁﬁ;w qdT o
to 1/4 of the bucket’s total capacity is added. 1/4 3 ST YT ST ST © | 379 |, 1! | Hisig
Finally, 1/3 of the new total volume of water in qﬁ’raﬁqg‘;wnmw 1/3 wﬁmﬂﬁmwg |
the bucket is poured out. ol ST T el &HdT T haer iy et S ot
What fraction of the original bucket’s total ‘H‘:\T‘S’W 29 °
capacity is still filled with water ? ( A)\° 2/42 B) 7124
(A) 8/42 (B) 7/24 ©) 716 (D) 7/48
(C) 7/16 (D) 7/48 TR
(E) Not attempted (E) S
54. Imagine you have three identical cube-shaped|54. sHedaT ifsT foh e UE i ToHEH™ SRR
containers, each with an edge length of 10 cm. e 8, T T I o R A daE 10 cm ® |
These three cubes are stacked one directly on top T 9 =T Rl Teh & FU Teh gL Teh T ST
of the other, forming a single tower. What is the T T AT T ST T ATHT FTE ?
outside surface area of this structure ? 2 2
5 9 (A) 1550 cm (B) 1500 cm
(A) 1550 cm (B) 1500 cm 2 2
2 ) (C) 1700 cm (D) 1800 cm
(C) 1700 cm (D) 1800 cm (E) 30T 37 =med i
(E) Not attempted e
55.  Which one of the following pairs of international | 55. f=fctfiad # & SRl EreT ST 37k el
organizations and their headquarters is T SHIH-HT Teh I AT 29
incorrect ?! (A) SATSUST (IAEA) — € 2, :ﬂg@g\g‘
(A) TAEA — The Hague, Netherlands (B) THES (FAO) — T, et
(B) FAO — Rome, Italy (©) WW (UN) — _":':\qﬁ’ g1 e
(C) UN —New York, USA (D) qj@ﬁ (UNESCO) — if@, g
(D) UNESCO - Paris, France - (E) 390 AET 37 =18
(E) Not attempted L
56. IfLCM (a, b)=84 and HCF (a, b) = 7, which pair|56. If& LCM (a, b) = 84 3T HCF (a, b) = 7 &, &
is possible as values of aand b ? ﬁ?—ﬁ?ﬁaﬁaﬁ?b%qﬁ%@ﬁ?ﬁﬁ‘m%?
(A) 21 and 28 (B) 28 and 42 (A) 213728 (B) 28 3T 42
(C) 14 and 21 (D) 7and 12 (C) 143121 (D) 7312
(E) Not attempted (E) TR e 1 =medt
D & 15 &



57.

58.

59.

60.

Which of the following cities was awarded the
2024 “Green Capital of Asia” title ?

(A) Seoul

(B) Singapore

(C) Tokyo

(D) Delhi

(E) Not attempted

Which of the following statements about India’s

first bullet train project are correct ?

I. It will have 12 stations including Surat,
Vadodara and Sabarmati.

II. It includes the construction of India’s first
undersea rail tunnel.

III. It is expected to reduce travel time between

Mumbai and Ahmedabad to under three
hours.

IV. It is being executed with financial and

technical assistance from Japan.
Options :
(A) Tand II only (B) LII, Il and IV
(C) I, T and IV only (D) I, II and III only

E
(E) Not attempted .

iz
If a country’s Gini coefficient increases after
globalization, what does it indicate ?
(A) There is no change in income distribution
(B) Higher international trade occurred
(C) Income inequality has worsened
(D) Poverty levels have decreased uniformly
(E) Not attempted

Under which Act was the Trust Deed of PM
CARES Fund registered ?

(A) Companies Act, 2013

(B) Indian Trusts Act, 1882

(C) Societies Registration Act, 1860

(D) Registration Act, 1908

(E) Not attempted

57.

58.

59.

60.

frfaiaa 9 9 forg s_T &1 2024 “uf3m i gfia
TSI o Raare e mam 2

(A) faener

(B) fémge

(C) kI

(D) feeedt 0
(E) IUCAET &1 =Imet e

R ol T8 Joie o TS o o # freferfiaa

T Y - I T E 2

[ 39 O, TSI SR Aredt afed 12 TIH
B |

II. 399 9 shl T8l 695 o 1=l ol {et GO A
fmfor anfireT 2 |

I11. 364 HeIg 3TN TEHETEE o i< AT 1 G
TR I 5 ¥ 0 B HT SEE © |

IV. 38 S 9 fair 3T deriehl ggrdr & 91y
forfraa frr s T 2 |

IECace

(A) had [ I (B) I 11, Il 3R IV

(C) Faet 11, 11 TR IV (D) ohaed L, 11 3R 111

(B) I <A1 =med

afe Fveftertor & are foret Ju1 T it Turier g 2,
g T EIaT & 2

(A) AT faraTor § onig aftada &1 g

(B) oot SIS SATIR BT

(C) AT ITEHaT S ot s/gat &1 ST

(D) TRl o TR | UHHH ® H HHT AT

(E) TR o1 =med

e g $e it 7 S T rfufaw & dea
SiieRd ol T3 off 2

(A) st stferfm, 2013

(B) R & Afaf=m, 1882

(C) |ETSET USTeRtor ATIaw, 1860

(D) Hsfietor Aferfa=m, 1908

(E) 3T o1 amed

& 16 &



61. As per the official Haryana Government portal, 61. BRIN TWHR & ITRIFNG 9ed & I,
which of the following is mot one of the five frefciRed § & a1 SRAOT & 9ie STehfdeh
natural geographical divisions of Haryana ? WM TeToh THTTT H § Uk 781 & 2
(A) Yamuna-Ghaggar Plain (A) ZIE“«IT—Wﬁ?F[

(B) Aravalli Range (B) IWTEAT TeqHTET
(C) Bundelkhand Plateau (C) gﬁa@gw

(D) Shiwalik Hills e (D) Rranfes warfeat
(E) Not attempted El%a (E) T e 37 =

62. What does the acronym “MIME” stand for in the |62. 38T o Tef 7 “MIME” &1 T 37 § 2
context of email ? (A) U 3T AT U
(A) Mail Internet Message Extension (B) UTWUH 32T Ul TEesid
(B) Multipurpose Internet Mail Extensions ORIEIES] gﬁaﬁgﬁamﬁm
(C) Mobile Integrated Mail Encapsulation (D) HTSSHIETHR 2t AU sramid-e
(D) Microsoft Internet Messaging Environment (E) 3T a1 =mea
(E) Not attempted

63. Which of the following statements about units of | 63. 2T HURY FI A & 9§ Fefated 7 @
data storage is/are correct ? HIF-T1/H FHYT & 8/8 2
I. 1 Gigabyte (GB) is smaller than 1 Terabyte I 17T&TEe (GB), 1 FRIE | 1A (TB) aBlere |

(TB). 1. 1 ferarifere (Kb), 1024 forear s s 2 |
II. 1 Kilobit (Kb) is equal to 1024 bits. 111 1 Aefeie (Mb), 1 ®TTeTse (MB) ST 1/8aT 9T
III. 1 Megabit (Mb) is 1/8th of 1 Megabyte 2
(MB). e
Options : (A) e [ SR I
(A) Tand III only (B) had I1 R 111
(B) II and III only (C) hHae I
(C) Tonly DEESIE IS
(D) Iand II only (E) 3T TE1 &1 =mea E%E
(E) Not attempted

64. The ‘Chaudhary Bansi Lal Cricket Stadium’ is 64. <Nerdt sigf @Tet fohohe wfeam gfmom & fora wret

located in which city of Haryana ? O fuag?

(A) Faridabad (A) ®lierETe

(B) Panchkula (B) q%]zmT

(C) Gurugram (C) TeI™

(D) Lahli (D) gt

(E) Not attempted (E) I 31 =
D & 17 &



65. Which of the following Indian cities has a|65. F=fcifRad @@ fore Yo sret A Swekfsiefia o1s
tropical wet and dry (savanna) climate ? AR RN CEISHISNEIRS 29
(A) Shimla (B) Bengaluru (A) fmer (B) 311?\1)'5
(C) Shillong (D) Srinagar (C) f3ramm (D) #R
(E) Not attempted (E) IR TR &7 =med
66. The “Chhau” dance, with martial and tribal 66. IS (HATIRRICT) HR STTETH H AT “BI” T
origins, is primarily from which Indian state ? e O R ydig Tsg 9 ?
(A) Manipur (A) q‘fﬁTg'{
(B) West Bengal (B) uf¥=m siter
(C) Assam (C) ¥@m
(D) Haryana
(E) Not attempted E%’E EE)) mwm
67. Under the Digital Personal Data Protection Act, |67. fefSeat safmra ger weeamor srferfaem, 2023 %E?IE?T,
2023, which of the following activities is 18 3 & i HTY o S| o (SiSIeet ATHTd ST T
prohibited when processing of digital personal ORI hid O9Y FAfefad O O -4t nfafafer
data of children under the age of 18 years ? g e
(A) Providing educational content online (A) feren ATt TS STSTST AT
(B) Tracking or behavioural monitoring of (B) @ =T gi;iz T a7 SRR T
Chﬂdrel‘l . (C) oTaT-foar it Tefd & AT ST U
© S:Iilszczsng personal data with parental (D) F=5it 37 321 ufigrtre & i T e
(D) Storing children’s data in encrypted form (E) S T e E3m
(E) Not attempted OB
68. Which of the following is not a factor used to|68. U ENELR FrfieRtor o ENEIR! £l _OITﬁ';W FH F
classify climates in the Koppen climate foru fferftaa 9 @ s-a1 shres ST 78 foman
classification ? TR 2
(A) Wind (B) Moisture (A) =@ (B) 3TTsdT
(C) Temperature (D) Vegetation (C) aT9HH (D) Errent
(E) Not attempted (E) I & e =TEd
69. Which architectural style does the Sun Temple at |69. T T UEI;QQ TfeT fore wemae Seft st yefyia ser
Modhera represent ? 29
(A) Indo-Islamic (A) FSI-3EATHH
(B) Dravidian (B) sfas
(C) Maru-Gurjara (©) %_ﬁ
(D) Kalinga (D) HieAT
(E) Not attempted (E) T e 37 =
D & 18 &



70. What is the revised honorarium for the ‘Yuva 70. =TT @fecT STeReH] mﬁqaﬁ Tt T AEh
Lekhak Samman Puraskar’ given by the Haryana HHAT &R <hl TN AT TR ?
Sahitya Akademi ? (A) T75,000
(A) T75,000 (B) £1,00,000
(B) ¥1,00,000 (C) 25,000
(C) ¥25,000 (D) £50,000
(D) 50,000 (E) 3@t 31 =gt
(E) Not attempted E%E
71. Which of the following statements is correct|71. TN ¥ fosshett & foer@ & aR § Fm=fafaa o
regarding the history of painting in Haryana ? Y PTITFIT T 2
(A) The earliest artistic expressions in Haryana (A) EFETT ¥ gad gTFﬁ T Y E S
were discovered at the Siswal site, featuring et Rt TT3e T S TS off, e e 3
designs painted on earthenware in black and bz 17 5 forgt 3 e o Faf s o
white: (B) Tl # vigaeh i & el o e
(B) The Bhadrakali temple in Kurukshetra lacks Ryfyfait (FEFT) AT T 7 ST 3
any form of frescoes or murals. () fisi & o1 TEe SAURRRTE w1 % AR
(C) The Rang Mahal in Pinjore is decorated with FafoeT TR BT ST MU EET R &
wall paintings created by British artists W% |
during colonial times. D) q?lgvT’lT 3 Frol § <omet stee S0 T8
(D) The ‘Asthal Bohar’ paintings are not found fireret 3 |
in Panchkula and Pinjore. (E) 0 Tt 3T e
(E) Not attempted E%E
72. The town of Kaithal in Haryana is historically |72. SITOT a1 hefed ITeX UfceTioes &9 & fohm uftrg
linked with which famous female warrior ? e ArgT | waiferd @ 2
(A) Begum Hazrat Mahal (A) TTH gsid HTdd
(B) Razia Sultana (B) Iﬁl?ﬂlflj?rﬂ:f
(C) Rani Lakshmi Bai (C) T et =g
(D) Rani Avantibai (D) T srdctarg
(E) Not attempted (E) I R ST =Ted
D & 19 &



73.

74.

75.

Which of the following statements about email
addresses is/are incorrect ?
. An email address must contain an ‘@’

symbol.

II.  An email address is case-sensitive (e.g.,

John@example.com is different from

john@example.com).

III. There can only be one recipient in the “To”

field of an email.
Options :
(A) Tonly
(B) II and III only
(C) T'and II only

(D) L, II and III
(E) Not attempted

Which feature in Excel allows you to set rules for

how cells are formatted based on their

values ?

(A) Number Formatting

(B) Conditional Formatting

(C) Format Painter

(D) Cell Styles

(E) Not attempted E?E‘E

Which of the following describes a “hyperlink™ ?

(A) Software used to block  pop-up
advertisements

(B) Data stored on your computer by a website

(C) A clickable object that takes you to another
web resource

73.

74.

75.

A TSHE % I H Fefafad § @ H-ar8 wee
AT /8 2

. e ¥ @ fg v e ERe |

1. 301 ugH Fa-dfifea g & (I & forg,

John@example.com, john@example.com &
HATE) |

1. SHA % “To” %I H ohalel Teh YTHeRAT Bl Tehdl
gl

foremea

(A) Fad |

(B) aet 11 3R 111
(C) Faet [ 3R II
(D) 1, I1 3R 111
(E) I} &1 =et Sie

THS H hi-E T AT ST I 3k T 6
ATIR W BHE FH & forw Fm [uffa = $i
AR At 2 2

Fraffaa o @ Fi9-ar “ggwicis” &1 9o war

27

(A) UT9-310 fogToHT st sclfeh i o fIT W
TR

(B) forell SIsremse ST 31Tdeh hefet Tt HuRId 21

(C) U foreteh i AN SHTestae S 3ATIeh! ferell
31 39 e WA T ?

(D) A program wused to secure online
transactions (D) HATATET - T QTFW F & AT IgIT
(E) Not attempted ERIEEEIRIEE I
(E) 3T o1 amed
D & 20 &



76.

77.

78.

79.

80.

Despite the thunderstorm, the old man remained
seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
whatever echoed in his mind was louder.

What can be inferred about the man ?

(A) He was afraid.

(B) He didn’t notice the storm.

(C) He was deep in thought.

(D) He hated the rain.

(E) Not attempted

Rewrite the following sentence in a passive voice.
Someone is watching us.

(A) We were being watched by someone.

(B) We being watched by someone.

(C) We are being watched by someone.

(D) We are watched by someone.

(E) Not attempted

Which of the following is correctly spelled ?
(A) Inevatable (B) Inevitable
(C) Inevateble (D) Inevittable

(E) Not attempted

Fill in the blank with the correct tense :
By the time we arrived, the show

(A) starts (B) will start
(C) has started (D) had started
(E) Not attempted

In which sequence
sentences be arranged to form a cohesive
passage ?

should the following

[.  His parents encouraged him to try again.
II. He failed the mathematics test.

[I. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A) OL IL IV, 1
B) I, L IIL, IV
O LIL 100, IV E%
D) ILIL L IV

(E) Not attempted

81.

82.

83.

84.

8s.

Identify which part of the following sentence has
an error.

If I was you / I would not/
@ D
ignore the warning /  at any cost.
(11) (Iv)
(A) I (B) II
O v (D) 1II

(E) Not attempted

Which of the follow best describes the phrase —
“Throw in the towel” ?

(A) To win

(B) To give up

(C) To celebrate

(D) To clean up

(E) Not attempted

Change the following sentence into Direct

Speech :
She asked me if I was fine.

(A) She asked me, “Are you fine ?”
(B) She asked, “Am I fine ?”

(C) She said, “Are you fine ?”

(D) She asked, “Was I fine ?”

(E) Not attempted

What is the antonym of “Ambiguous” ?

(A) Vague

(B) Unclear

(C) Obscure

(D) Definite E‘?&’E
(E) Not attempted

Which of the following describes a person who
speaks many languages ?

(A) Bilingual

(B) Monoglot

(C) Translator
(D) Polyglot

(E) Not attempted
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86. Ffafaa i@ idh wse 2 94. ‘IR IToE FT Hi~a-forwee BT -
(A)dTsd  (B) ¥ (C) fagsft (D) dcaw (A) I +3 (B) M + &
(E) ST R o1 =ted (C) I + T (D) I + TH
87. TG H AR STAT % foTT Sugeh qerer 2 : (E) I T <A1 =
(A) @ § THerT (B) A TR qT aifeT ‘
(C) FHATFET (D) B T 95, ﬁﬁf&‘f@ﬁﬁﬁﬁ?—waﬁ%wmmsﬁrﬁa
(E) ITX A1 o1 =8d R
e Can (A) SO T (B) farermneies ame
88. THHfcTRad Sreal 4 ¥ Heferalleh Iea & : - ,
*) (B) e (®) |o|<~H:;|::r:|;; (D) Hegrefeh oy
(C) IR (D) wifd (E) Sa¢
(E) R el < et 9. Freferfian f & sl a2
EA)) Hehe T Tehe 3T (C) T (D) et
B) o] ¥, TTe aTed ATk :
(C) uftomm & rfAferaar gn (B) ST < e
(D) F&  ISTET R 18 Tl 97. Freffiaa wredt & & F-a1 T 78 2 2
(E) SR <1 <t wd B FE (3 D&
90. T=fcTRaa o & =Rl e THE € (E) 3T T 31 =
(A) T2 (B) UTwdiash
(C) IH-A (D) 3% 98. TR e hl Tgeh, Al USTd A-a< |
(E) I Tel o1 =med T i ST il 3R, T e wews ||
91. TrfARad 7 & T[S a1 il =I5 I ERRLRIERRIRIE GO
(A) &SI = fRrs a3t foa | (A) ITIE (B) Jcda
(B) 3ATSTehed YOI shT SITST T4 € | (C) T (D) 5%
(©) sﬁaanﬁ‘w r&rﬁqﬁﬁm oy (E) 3T 7t 37 =mey
(D) 38 T Hehed TohAT ? AR
(E) ST <1 =med 99. frmferiad & & deem S1sai I Y 2 :
92. ffctiad o & aemmoT et & wel g 1 =d= (A) freor, ot v, e
ir?m ®) ©) (D) ) 37 T g6, 7
a9 @9 g9 D3 5
(E) 32 AT =Rd © :j 3, 0, e
. ) (D) 9™, g9gl, 79, 99 EE
93. fAfciiaa sreg T & G&l 7Y 1T o8 IH 78T S < e
y N N (E) ST &1 =Ired e
(A) 0T — HS[H; 10T — TTT 100. freferRa fospedt & & sga=m 1 == AT ;
(B) 3T — IFI; 3 — A
(C) T ET, T ST (A)T&SH  (B) AW (C)awl (D) SwaT
(D) YT — LTSI, Y — LIET (E) & a1 =A1ed
(E) ST A&l 31 =red
D & 22 &
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Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on
the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

. Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

. No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed”” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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13.
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15.

16.
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18.
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SET—-B

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
10:00 AM to 11:45 AM - Test Code: D



Question Booklet Number

9 feehT ST

Candidate’s Roll Number / 2732t T TeT TFaX

TEST CODE : D

Time Allowed : 1 Hour 45 Minutes
GHT : 1 9927 45 Toe

Total Questions : 100
T T : 100

Maximum Marks : 100
Sferhad 37 : 100
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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
3 TIH-UF Tl B Tl § Ugel THudT (Heteriad faen wt ug

This Question Booklet contains 100 questions with
weightage of 1 mark for each question.

Before attempting the question paper, kindly check that
this booklet has total 24 pages and OMR Answer Sheet is
in triplicate. At the start of the examination within the first
five minutes, candidates are advised to ensure that all
pages of Question Booklet and OMR Answer Sheet are
properly printed and Question Booklet is not damaged in
any manner.

The OMR Answer Sheet consists of three copies, the
original copy, the commission copy and the candidate’s
copy. Do not separate or displace them. Do not darken the
bubbles in three copies of OMR Answer Sheet separately.
Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of
the examination. Invigilator will hand over the candidate’s
copy after separating it. The candidates are allowed to take
away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR
Answer Sheet Serial No. match with each other. In case of
any discrepancy, the candidate should immediately report
the matter to the invigilator for replacement of Question
Booklet and OMR Answer Sheet. No claim in this regard
will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet
should be filled carefully. Change of OMR Answer Sheet is
not permitted.

Do not forget to write your Roll Number on the top of this
Question Booklet and OMR Answer Sheet. Do not tear or
fold any page of the Question Booklet and OMR Answer
Sheet.

Candidate has to fill one option compulsorily out of the five
options given. If a candidate does not know the answer,
then he/she has to fill the fifth option (option ®). Extra
five minutes will be given to mark the fifth option, No marks
will be awarded against the fifth option as it indicates that
the candidate has not attempted that question.

1.
2.
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There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
shall result in deduction of one mark.
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(Read the instructions on last page of this question booklet.)
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Find the odd one out :
(A) 153 (B) 370
(C) 417 (D) 371

(E) Not attempted

If READ is coded as 94 (18 x 5 + 1 x 4), how will
MATH be coded ?

(A) 165
(B) 160 o
(C) 156 %%ii%
(D) 173

(E) Not attempted

Four individuals — P, Q, R and S — are suspects in
a theft case. They make the following statements :
P says : “Q is guilty.”

Q says : “Ris guilty.”

R says : “P is innocent.”

S says : “I am innocent.”

If it is known that exactly one of them is guilty, and
only the guilty person lies (all innocent people tell
the truth), then who is the guilty one ?
(A) P (B) S ©) Q

(E) Not attempted

(D) R

Find the odd one out :
(A) Lens

(B) Window

(C) Prism

(D) Mirror

(E) Not attempted

A certain number, when divided by 15, 20, or 25,
always leaves a remainder of 8. What is the
smallest such number that is also greater than
500 ?

(A) 615

(C) 592

(E) Not attempted

(B) 608
(D) 612

2.

3.

%@?WW:

(A) 153 (B) 370
(C) 417 (D) 371
(E) TR &I AT =med

Ifg READ &l 94 (18 x 5 + 1 x 4) % &Y | hifed
forar SITaT 8, A MATH 1 8 shifed fomar smmaom 2

(A) 165

(B) 160 o
(C) 156 S
(D) 173

(E) ST o1 =med

IR ARE — P, Q, R 3T S — =T o Teh Ao | Hfwey
213 Frafefaa sem Fea €
PFEATE: “Q a2 |7

QFEATE: “RA 7 |”

R&FEa e : “PFemg 1

SHEA S : “H fw g |7

Ife g F1d ® foh S99 @ aread | W & it @ 3T
eheled SISt e 33 STerell & (Gl foaTs ST & siietd
?), MR ?
(A) P (B) S
(E) IO o1 amed

© Q (D) R

%W?lﬁaﬁﬁm:

(A) &E

(B) faght
(OREE

(D) &1

(E) 3T 1 =Imed

we fAfYea @@ 15, 20, 37 25 9 fofsg s+ )
U § Y s=rdT @ | Vel gl Bid] §&ar shi-6t & St
500 G s g 2

(A) 615 (B) 608
(C) 592 (D) 612
(E) IO & a1 =med
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A cube has six different symbols drawn over its six
faces. The symbols are dot, circle, triangle, square,
cross and arrow. Three different positions of the
cube are shown in the figures.

Which symbol is opposite the Square ?

(A) Circle

(B) Cross

(C) Triangle

(D) Arrow

(E) Not attempted

If5S@1=60; 12 @ 8=200; 16 @ 2 = 180; then
what is the value of 16 @ 10="7

(A) 260

(B) 10

(C) 32

(D) 9

(E) Not attempted
e
i

A factory uses three machines (A, B and C) to|8.

produce a specialized type of widget.

Machines A and B working together can produce
100 widgets in 4 hours.

Machines B and C working together can produce
100 widgets in 5 hours.

Machines A and C working together can produce
100 widgets in 2-5 hours.

If Machine A were to work alone, how long would
it take it to produce 100 widgets ?

(A) 4-5 hours

(B) 5 hours

(C) 16/3 hours

(D) 40/9 hours

(E) Not attempted

6.

7.

Teh B o B8 ARl T BT AT-3TH Tdlish o g
€ | Tt § — fofg, o, B, ol shigr 3fie e |
HTHIAT F B shY A SFeT-37e feufat awis T3
gl

it 3 Ry - et & 2
(A) 39

(B) &

(C) Pt

(D) R

(E) 3Tl &A1 =med

IG5 @ 1=60;12 @ 8=200; 16 @2 =180 T; ar
16 @ 10 =HT U FTE ?
(A) 260
(B) 10
(C) 32
(D) 9
(B) ST TR o1 =med
g
Cofe)
Tk Ferell Ueh fomly TR o fosie s9H & e &
HIET (A, B 31X C) o1 ST SRl ® |
3T A 3TR B Us @1 &6 & 4 5 7 100 fosie
ST HHhdT B |
I B 3R C T |19 19 ek 5 52§ 100 foeie
ST AT B |
T A 3R C U 9 & Feh 2-5 " o
100 forste =T Fehet 2 |
i UM A STohct S L, a1 38 100 fomie s &
IELEIR PRSI
(A) 4-57%2
(B) 5%
(C) 16/3 8
(D) 40/9 52
(E) 3Tl &A1 =med
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9.  Consider the following statements : 9. fmfeiad wemt o fomem Fifsre
I. Haryana covers 2-34% of the geographical . ERETom YRa & ifetsh &5 T 2-34% ST STt
area of India. gl
II. The government has legalized the shooting of [I. TR = AT FIHTET h Mefl R Sl 99 o
female Nilgais. fe g
Il. Lantana camara pose a significant threat to 11 eiermT F7RT gfemn s urftfefasht &= & fo
the Haryana forest ecosystems. @%ﬁ@@ﬁﬂ% |
Which of the above statements is/are correct ? @'ﬂ?—ﬁﬁﬁﬁl‘ﬂ/ﬁ U T 2/8 2
(A) 1,1 and III (B) III only (A) 1, 11 31 (B) @hadt I
(C) T'and Il only (D) I'and III only (C) et [ SR III (D) ahaet 11 3R 111
(E) Not attempted (E) 3T &I a1 =ted [
of:
10. Which of the following statements about the 10. TRIOTH tljteéll-iﬂﬂl CINCIEICIRIRISE] (@aﬁa‘wﬁ) *
Mukhyamantri Bagwani Bima Yojana (MBBY) in TN H FAfcRaa A g R Fea aer @ 2
Haryana are correct ? I 39 AT 46 SHETT BEel 1 et foma
I. The scheme covers 46 horticultural crops. T |
II. Premium is ¥ 750/acre for vegetables/spices. 1. Gfssri/marar o fag fiftrm T 750/Twe 2 |
I1I. Maximum compensation is ¥ 15,000/acre for 111 gfssi/marer & fau  Afemas ge1as
vegetables/spices. ¥ 15,000/Tshs 2l
Options : ferepew
(A) Iand III only (B) I, T and III (A) et [ SR 111 (B) 1, 11 3R III
(C) II and III only (D) IandII only (C) Shared 11 S (D) hael [ AT
Ol
11. Which of the following pairs of institutions and |11. FfaRad § & GEm™T IR wwﬁwﬁq—w@n
their locations is incorrect ? TATE ?
(A) National Dairy Research — Karnal (A) rrv;ﬂ'q%'qﬁ 31':[{3[% HEIT —  hEA
Institute (NDRI) (TSRS
(B) Indian Institute of — Rohtak (B) AT Toe AT —  Ugd&
Management (IIM) (341‘§3T|'§QI[ )
(C) Indian Agricultural —  Panchkula (C) WIRCTH HlN ST HeA — YT
Research Institute (IARI) (JTTSTITTS)
(D) Central Institute for — Hisar (D) EB RS Y T — fear
Research on Buffaloes (TSRS
(CIRB) (E) 3Tl a1 =med
(E) Not attempted
D $4%



12. A solid metal cube of side 14 cm is melted and |12, 14 9t bl e Th 39 g1d & Ol TR
recast into smaller spheres of radius 1 cm. How 1 G B a1t B Mt ST ST 8 | U fora Mt
many such spheres can be formed ? ST ST Hehd 8 2
(A) 655 (B)S535 (C) 724 (D) 612 (A) 655 (B) 535 (C) 724 (D) 612
(E) Not attempted (E) Wq—{ﬁé:nm

13. If ‘@’ and ‘b’ are positive integers such that|13. Ife ‘@’ MW ‘b’ oHTCHS {W‘Tﬁ" T Sow &

2 2
a —b =31, then what is the value ofa x b ? a2 —b2 =3, AWaxbHRAFHRTE?
(A) 240 (B)246 (C) 128 (D) 321 (A) 240 (B) 246 (C) 128 (D) 321
(E) Not attempted (E) 3R &l &1 =ed
1 5 15 1 5 1)5
14. Ifx+ — =2,thenx +| | = 14. aﬁx+_=2,?ﬁx +| | =
X X X X
(A) 0 (B) 2 ©) 5 (D) 6 (A) 0 (B) 2 ©) 5 (D) 6
(E) Not attempted (E) 3T &l a1 =ed

15. From a point A on the ground, the angle of|15. WW@F%@ A ﬁ, Teh Feaner HAR & 39 o
elevation to the top of a vertical tower is 30°. From I~IT I 30° @ | Th ]%R\:; B, S ]%'_S; IN:E:CiED
a point B, which is 50 metres closer to the base of ATIRF 50 HieT 3Aferen ke 7, HiAm o I o S+
the tower from point A, the angle of elevation to T 60° B | AR T =g (Hier d) Fr e 2

is 60°. i ight of
the top of the tower is 60°. What is the height o (A) 25m (B) SOﬁ m
the tower (in metres) ? D
C) 50
(A) 25m B) 50/3 m (€) 50m . D) 25./3 m
E) 3T
(C) 50m D) 25./3 m (B) ST <1 e aye
(E) Not attempted e

16. Arun’s salary is 25% more than Bishnoi’s. Charan|16. 3707 T oa foreis o Aa= & 25% AT 8 | =/OT
earns 40% less than Arun. Deepak earns 30% more TR Y 40% HH FHHTAT S | 9ok, foIeTS & 30% AT
than Bishnoi. FHAMETE |
By how much is Deepak’s salary more than &9 T I =0T & 3d9 & feraT 1l © 2
Charan’s ? (A) 73-33% (B) 53:33%

(A) 73:33% (B) 53:33% (C) 66:67% (D) 62:25%
.670 750 =35 .
(C) 66:67% (D) 62:25% %%% (B) 30T 3T e
(E) Not attempted
_ . 17. 6 TSehi &1 3G I 50 FRelTum™ ® | Tk 74T ogeht

17. jf}'le ave;aie weight of 6 b?ys is 50 lgg. 3/7? lzoy off STTFRreT B ST 2 3 T ST 4% T AT |

oins and the new average increases . Later, . .
y N s Yy 4, U gaf aIgehr ot Iyt & Srar @ R hud
an 8th boy joins and the average increases by - e - 3
d
1 kg. What is the weight (in kg) of the 8th boy ? ! ""“;'“'” G ST e | 8 TIgh BT A (T H)
f)
(A) 60 ([B)5ST ()6  (D)56 e
(A) 60 (B) 57 (C) 62 (D) 56
E) Not attempted .
E) P (E) I T <A1 =med
D $55$



18. India successfully hosted which major|18. WA 2024 T fore BLeicl 31?1'{'?@'& e Tt Y
international summit in 2024 ? FIWTCIEI%BW I 2
(A) G20 Summit (A) Sf20 (G20) RTER Fe
(B) BIMSTEC Summit (B) feraesh (BIMSTEC) f¥rer evie
(C) SCO Summit (®) ey (SCO) P g9
(D) SAARC Summit E%? (D) @ (SAARC) Rrat ariiem
(E) Not attempted (B) St =R
19. Which of the following policies aims at 19. Tr=fIRadd & H-H AT sew afeare éﬁﬁ?!c_or
transforming rural economy through women-led Tl TE-FeRaT 9el (SHG) & "Iegw @ Jrior
self-help groups (SHGs) ? ITHTTEAT ohl FSAT & ?
(A) PM Gati Shakti (A) Hruw T 31feR (PM Gati Shakti)
(B) DAY-NRLM (B) EITATE-TASTRUATH (DAY-NRLM)
(€) e-SHRAM (C) &M (e-SHRAM)
(D) PM-KUSUM (D) fieA-FEH (PM-KUSUM)
(E) Not attempted (E) el T =ed
20. Which of the following phenomena best explains |20. f=fiflgs & & #H-dt uftoear A e it
the appearance of a blue sky ? SUTfd sl Ty T aTE § A0l § 2
(A) Wavelength-based scattering of light (A) JehIST T AU - ST Tehivf
(B) Absorption of ultraviolet rays (B) RIS foRTuTT SRt STaremior
(C) Curvature of the Earth (®) tcl'ggﬂ'gﬁm
(D) Reflection of ocean colour (D) TETERT % T 1 ufifaier
(E) Not attempted (E) T T =R ;@éirm
O
21. Statement I : The Prime Meridian passes through |21. F97 [ ; T HeATE @1 (IMARR) WAl & BaRt
Greenwich. ‘;ﬁ'(?ﬁ T |
Statement I : Tt is at 0° latitude. FHYT I7 - T2 0° TR |
(A) Statement I is correct, but Statement II is (A) FIT1HE T, AfRT HAT [T 2 |
incorrect.
(B) Statement I is incorrect, but Statement II is (B) e 1 TTeTd &, TRl o 11 6 € |
correct. (C) Y 1 3T Y 11 SHT T & |
(C) Both Statement I and Statement II are
incorrect. (D) YA 1 IR HY 11 ST T © |
(D) Both Statement I and Statement II are correct. E) Tl SR
(E) Not attempted
D $65%



22. Which of the following cities was awarded the|22. F=ifeiRaa & & forer et =1 2024 “ufymm it =f@
2024 “Green Capital of Asia” title ? TS <ht faarer fem mar 2
(A) Tokyo (A) Ty
(B) Delhi (B) ot El%’_lil
(C) Singapore (C) ﬁITITEIDT R
(D) Seoul (D) fyatier
(E) Not attempted (E) el ¥ aTEy
23.  Which of the following statements about India’s|23. Waﬁqﬁgﬁz%w&aﬁw%aﬁﬁﬁmﬁ\@ﬁﬁ
first bullet train project are correct ? Y HI-H FIT L2 2
I. It will have 12 stations including Surat, [ =OH q, TEIT 3N HreHd] afed 12 LI
Vadodara and Sabarmati. T |
I It iincludes ‘tlhe conlstruction of India’s first II. =H5 WA  qeel 998 % 419 1 Yol g w5
undersea rail tunnel. e ©
III. It is expected to reduce travel time between ftor e 2 |
Mumbai and Ahmedabad to under three 1. 368 Yo 31 STEHSTEG o i<l JTT b &
hours. TR A 5 T T B hT IS ¢ |
IV. It is being executed with financial and IV. 38 S ¥ ol 3t qerieh! 9er=dT & a1
technical assistance from Japan. rafad TSt
Options :
(A) I, T and IV only (B) I, II and III only Foreea
(©) landllonly (D) LIL I and IV (A) FIAIL NSV (B) e L, 11 AR 111
(E) Not attempted (C) et I AR I (D) I, I I SR IV
(E) STl <1 9med
24. Under which Act was the Trust Deed of 24, HuH a8 e &t o Eis v Affem & aga
PM CARES Fund registered ? UStiehd oAt TS oft 2
(A) Companies Act, 2013 (A) @t srfafem, 2013
(B) Indian Trusts Act, 1882 E%—E (B) WRT 2w AffTam, 1882
(C) Registration Act, 1908 (C) dsfiertor AR, 1908
(D) Societies Registration Act, 1860 (D) et usfiamer s, 1860
(E) Not attempted (E) Seel T aTEy
25. If a country’s Gini coefficient increases after|25. g Svaftertor & e fordlt 91 1 firft TTIEB JGT 7,
globalization, what does it indicate ? ql IE FATSIMAT 2 2
(A) There is no change in income distribution (A) 3T forawor & =his iterd Tt 81T
(B) Income inequality has worsened (B) T STEHTAT AT ot S/gad & ST
(C) Poverty levels have decreased uniformly (C) T o W & THEHT &9 § FHT AT
(D) Higher international trade occurred (D) I=IaR ST AR BT
(E) Not attempted (E) S0 31 ey
D SIS



26. A number is increased by 20%, then decreased by | 26. Teh G&AT H 20% hl Eﬁ{ ﬁﬁ'l?ﬁ%, T 30% ot =t
30%, and finally increased again by 50%. What is T STt 2, R ofd 7 Tt 50% i Ifg i STt ® |
the net percentage change in the number from its &I U 3 oA HH o A ygfaera gfadT =1
original value ? 29
(A) 10% (B) 26% (A) 10% (B) 26%

(©) 16% (D) 0% (€) 16% (D) 0%
(E) Not attempted (E) R TR AT A

27. A sum of money, invested at a certain rate of|27. U YT hl TR AT i T FHfv=d &
simple interest for 3 years, yields ¥ 1,200. If the 3 N} oh feTu fHa9T o T T 1,200 TTH I © | IS 3
same sum were invested at the same rate of NN a;h—qc% SITST shl GHT e (aﬁﬁaﬁ T
compound interest (compounded annually) for Aoy W 2 ant & foo faw e S ar
2 years, it would yield T 840. What is the principal F 840 ITH BT | et BErIEl GEER) T ST =T
sum and the rate of interest ? §9
(A) Principal : 4,200, Rate : 9-5% (A) TR T 4,200, 3 : 9-5% Qo)

(B) Pr?nc%pal :¥ 3,800, Rate : 10-:5% (B) T : ¥ 3,800, T : 10-5% Oz
© Pr%nc%pal :¥4,000, Rate : 10% (C) T 1 T 4,000, T 1 10%
(D) Principal : ¥ 3,600, Rate : 11-11% o
(E) Not attempted (D) HOEA :‘T 3,600,5T: 11-11%
(B) TR o1 =med

28. If a train is 180 m long and crosses a man in|28. IfE 180 WWW, @Eﬂﬁrﬁaﬁ 9 Hehe H U
9 seconds, then how long does it take for it to cross FTAT ], AT 3T 280 HIT v TEHH i IR L |
a 280 m long platform ? fehd=T 993 ST 2
(A) 27 seconds (B) 23 seconds (A) 27 G (B) 23 Uhg
(C) 18 seconds (D) 21 seconds (C) 18 Tshe (D) 21 9ehe
(E) Not attempted (E) I TR ST =R

29. A hemisphere and cone have equal volumes. If the |29, Teh 3Tt 31T Q'IEF % AT TR & | IS ‘\"IEF st
height of the cone is h and radius of both is r, find FAE he AR A B r 8, A r IS § h Jid
h in terms of r. ST |
(A) r (B) 3r/2 (A) t (B) 3r/2
© 2r (D) 4r/3 (©) 2r (D) 4r/3
(E) Not attempted g;&g (E) IS T AR

30. Selling Price of two items is T 120 each. One sold | 30. aaﬁﬁ%ﬁ?ﬁmaﬂﬁwwf 120 8 | T
at 25% profit, the other at 25% loss. What is the 25% AT 9 ST T, S8R aht 25% BT WX | SehMER
net profit or loss for the shopkeeper ? T 3G T T & aa‘rc% ? ?

(A) T 16 profit (B) No profit no loss (A)\} 16 T AT (B) AT T &I
(C) T 16 loss (D) T 25 loss (C) T163H &M (D) %25 g
(E) Not attempted (E) I 2T =R

D $85S



31. In a certain code, “TEACHER” is written as|31. Q%ﬁma@ﬁ, “TEACHER” & “VGCEJGT” &
“VGCEJGT”. How would “DULLARD” be & ¥ for@T S @ | I e H “DULLARD” &l fohet
written in the same code ? YRR foraT st 2
(A) FWNNCRE (A) FWNNCRE
(B) FWNNCSF (B) FWNNCSF
(C) FWNNCTF (C) FWNNCTF
(D) FWNNBTE (D) FWNNBTE
(E) Not attempted (B) 30T 37 e

32. Select the combination of numbers so that letters|32. TR & HISH HT oI hifsw arfer RERGIN
arranged accordingly will form a meaningful word. AR 378 Ueh Gredeh Yo o471 9k |

N|[R][O]]|C T A NIIR||lO]||C T A
1 2 3 4 5 6 1 2 3 4 5 6
(A) 652314 (A) 652314
(B) 462531 (B) 462531
(© 235461 (C) 235461 B
(D) 162435 (D) 162435 e
(E) Not attempted (E) C—

33. You are facing the rising sun early morning. You|33. 319 W-@H@?ﬁﬂgﬂ‘cﬁ 3R @%’W@%% | A9
turn 90° clockwise, then 45° anti-clockwise. Which 90° aferuTrad. , ot 45° amETEd Ejflﬁ 2| 31 3179 form
direction are you facing now ? fesmhr ﬁ(@gm@é% ?

(A) South-East (A) zfeurgg

(B) South (B) a—r&:l-u-l-

(D) South-West 3 (D) %&W—W

(E) Not attempted (E) S ST

34. The Kingdom of Ballabhgarh was annexed by the |34. 1857 % R farsie & oI1¢ IS 7 TeaTwTg TsT T
British after the Indian Rebellion of 1857. Who hosTT R foTaT AT | SHRT JiTaH I i AT 2
was its last ruler ? (A) T g (B) e fiw
(A) Gopal Singh (B) Nabhar Singh ©) il fide (D) o fife
(C) Ajit Singh (D) Balram Singh . E
(E) Not attempted (B) ST

D $95



35. Which of the following statements about units of|35. 2T TULU hH IHEAT o I H FAHfRad 7 @
data storage is/are correct ? HI-HT/8 Y T&l 278 ?
I. 1 Gigabyte (GB) is smaller than 1 Terabyte . 1 7feETge (GB), 1 30eTEe (TB) A BT & |
(TB). 1L 1 foreiiferz (Kb), 1024 forge sh sew & |
III. 1 Megabit (Mb) is 1/8th of 1 Megabyte (MB). 2
Options : ferepew
(A) I and III only (A) shae 11 3R 111
(B) I'and III only g (B) ohaet [ 3R
(C) Tonly ferze (C) Faa 1
(D) I'and II only (D) Fae [ RII
(E) Not attempted (E) 3 i 37 =mea
36. What does the acronym “MIME” stand for in the |36. 38T o Gyl § “MIME” T oRIT 319 & 2
context of email ? (A) HTSShHIETIR g2 BUfT SHamRia-
(A) Microsoft Internet Messaging Environment (B) A AT O UFHTH
(B) Mail Internet Message Extension (C) Hiamset 3flfs id gy
(C) Mobile Integrated Mail Encapsulation (D) q@wwﬁaw}m
(D) Multipurpose Internet Mail Extensions (E) STt 37 =med
(E) Not attempted
37. The ‘Chaudhary Bansi Lal Cricket Stadium’ is|37. <iert sieft oiret forohe wefeam gfmon & e sreed
located in which city of Haryana ? fRoag?
(A) Faridabad (A) HErETe
. [=45 0=
(B) Lahli (B) e %%E
(C) Gurugram (C) T&U™
(D) Panchkula (D) Fee
(E) Not attempted (E) ?ﬂ; T T EE
38. As per the official Haryana Government portal, |38. BRIWT W&HR & ATUwe A & I,
which of the following is not one of the five natural ffRed & @ &H-A1 S0 % 9 AThiaeh
geographical divisions of Haryana ? oA TP H Y Uk 78T © 2
(A) Yamuna-Ghaggar Plain (A) JHAT-IR He
(B) Shiwalik Hills (B) ferenferes werfeat
(C) Aravalli Range (C) T JaHTe]
(D) Bundelkhand Plateau (D) o SNICEATIN
(E) Not attempted (B) ST
D $10%



39. Consider the following statements : 39. Tfefad st w fomem Fifsre
I. The first nuclear power plant in North India [ ST YR | gl AT STl G R &%
is being built in the Hisar district of Haryana. IR SRR CCIR ISR R
II. The Haryana government has removed the 11 B e o e forem we wfiee ESEQ
age limit for the ‘Mukhyamantri Kisan Evam SttaH RRSIRIER] & for SR dmTEerdi R |
Khetihar Mazdoor Jeevan Suraksha Yojana’. 1. O AT Ot o7 e S5hT0r T80T o
III. The 3rd edition of the Saras Aajeevika Mela AT fomam T o |
was held in Gurugram. 300 H O HH-U FIT T & 9
Which of the above statements are correct ? (A) Faar 1 311
(A) I'and IT only (B) ahaet 11 3111 E%E
[=]
(B) II'and III only (C) I IR
(C) I Il and III OEEIEL
(D) T'and III only (E) ST TR ST AR
(E) Not attempted
40. Which author from Haryana won the Sahitya|40. 1990 9 3194 WW“&QW’%WW
Akademi Award for work in Haryanvi language in YT ¥ grieey 3fahedt T Siraq aret gfemom i
1990 for his poetry collection titled “Bire Da EICOR,
Viyah”? (A) T TE TS
(A) Mewa Ram Gaur (B) 32T W 24
(B) Uday Bhanu Hans (C) STt 1\%‘%
- Qs OO
©) I asb%r Singh E%é (D) it = T
(D) Gopi Chand Narang () 3o T 3T =
(E) Not attempted
41. 1In 2022, Haryana ranked among|41. 2022 H, fraid dar gerehish H giamon Yrdta T §
Indian states in the Export Preparedness Index. T I AT |
(A) 5th (A) 59
(B) 2nd (B) g\g}
(D) 8th (D) &3
(E) Not attempted (E) T T AT TRy
42. What is the current number of reserved 42. =@ fyam o 341'{3[\%?[ St (T ¥ fow
constituencies for Scheduled Castes (SCs) in the el o i 1 A e B E
Haryana Vidhan Sabha ? (A) 20 B) 15 .
(A) 20 (B) 15 ©) 17 D) 2
©) 17 (D) 2 -
(E) Not attempted (E) SR
D $118



43. What is the revised honorarium for the ‘Yuva 43. TN@TON @1fecy SHeheHt g fAU ST ATt “FaT ohgeh
Lekhak Samman Puraskar’ given by the Haryana HHATT qUERTC T GINTIT AT TR ?
Sahitya Akademi ? (A) ¥50,000
(A) T50,000 (B) ¥1,00,000
(B) £1,00,000 (C) ¥25,000
(C) T25,000 (D) ¥75,000
(D) % 75,000 (E) 3R T <1 amed
(E) Not attempted
o i
O]
44. Which of the following statements is correct|44. BRATON H femrehett & gfdem & s o fFfaRaa o &
regarding the history of painting in Haryana ? FH-OT FAT T R 2
(A) The earliest artistic expressions in Haryana (A) ghamm 3 gedr W T sfsaRea
were discovered at the Siswal site, featuring Bt ForgaTer ATse T A S oft, R T a9
designs painted on earthenware in black and Tire 7 3 it 3 A R e fese o |
white. (B) e i fisii & “areerer dee AR A
(B) The ‘Asthal Bohar’ paintings are not found in feomf 3|
Panchkula and Pinjore. ©) fereite 5 7 et sl st o Srae frfee
(C) The Rang Mabhal in Pinjore is decorated with WWWWW%@W% |
wall paintings created by British artists (D) T S T el ot 4 Bl off g %
during colonial times. SRR (ﬁv‘@lﬁ) T BT BT S 3
(D) The Bhadrakali temple in Kurukshetra lacks (E) T S
any form of frescoes or murals.
(E) Not attempted
45. The town of Kaithal in Haryana is historically |45. RO &7 kel IeX et &7 4 fha ufig
linked with which famous female warrior ? BIESIRIEARE:CI B
(A) Rani Lakshmi Bai (A) T et aTd
(B) Rani Avantibai (B) THY 3radiesg
(C) Begum Hazrat Mahal (C) sTH EsRd e
(D) Razia Sultana (D) TSt gear
(E) Not attempted (B) 3T o1 =med
D $12S



46. A piece of paper is folded and cut as shown in the

Question Figures. From the given Answer Figures,
indicate how it will appear when opened.
Question Figures :

e N - ., . .
. » . . .
i o ) M

- e '

"""" D

. [ S s
v P .

. . e

N . o

Answer Figures :

(A)
(B)
©

(D)

D

(E) Not attempted

46. T TS % Zhs Hl T HTHqAl | @y e

TIST X 1T AT & | 3T 715 I SATRIGAT H TSy foh
Qi I IE HET fa@rs o |
9 SATHTAT :

. . . . Pis ~.
. . . . . .
¥ . +
N . .
' [ v .
_________________
- T i
. ' .
1 . N
* - . .o
. - -
2

IR ATHTAAT :

(A) @
(B) @
© (5
(D) @

(E) 3T T =Ied @%g

47. Complete the series : 47. @ qg?f?ﬁﬁl@ :
7,14,11,22,17,34,? 7,14,11,22,17, 34,7
(A) 39 (A) 39
(B) 28 (B) 28
(C) 20 (C) 20
[OFHO] .
(E) Not attempted ;«E%a (E) o TEt 37 =t
48. Six faces of cube are painted red, blue, and green, |48. =9 % BT HeAoh! ohl AT, iet, ST B T H 39 a¥E T
in a manner that no two adjacent faces have the T 2 Toh 1S oft 31 ATE— weTehl o7 U7 Tk ST 77 |
same colour. The cube is then cut into 64 smaller TRT o T 64 B 991 T 121 73T | Tohds 9411 | shael
cubes. How many cubes have only one face Teh hoToh ATl TTeRT & 2
coloured red ? (A) 8
(A) 8 B) 6
(g) TO (©) 10
EDi " (D) 24
E) ST &I &1 =med
(E) Not attempted E) i
D $135S



49. The decline in the population of which bird species |49. &R (37X ‘Tli( IR ) forer geft sremfer <t st o
in Haryana (and across India) is a significant frere e weut uatervfta 7 2, STeeht 9 SR
environmental concern, largely attributed to the W%Wﬁ%wﬁﬁﬂzﬁaﬂgqﬁn% ?
use of Diclofenac in veterinary medicine ? (A) "

(A) Cranes E3E
(B) Vultures Eii 2’{@ E%é'
(C) Peacocks (D) T

(D) Sparrows (E) e et

(E) Not attempted

50. Under Haryana’s Parivar Pehchan Patra (PPP) 50. eREmm it ufiar vgem vt (dfididh) gomedt & d=a,
system, which of the following statements is frfafiad 0 9 -8 S gg © 2
correct ? (A) TSRO & STet o UfaRi hl T” 378K & TF e
(A) Families outside Haryana get a 9-digit ID AT 9-37ehT hl ATSET (ID) fredr 2

starting with letter ‘T". (B) 3Temlt TS (ID) Faet JaTE st % fo
(B) Temporary IDs are for migrant workers only. =4
(C) Only Haryana residents get a Family ID. (C) Faet s % FarfeEt w1 & ek s
(D) PPP is mandatory for all residents. (ID) firerefi & |
(E) Not attempted (D) it et 3 fore difieh st 2 |
(E) &l &1 =med

51. What percentage of Haryana’s geographical area is| 51. &R&TON & siiwifctesr & ot feraam wfdera wxfara &
covered by the Protected Area network (National Jeah (TS &, Iasiia TMIR0T, 0T i)
Parks, Wildlife Sanctuaries, Conservation T Fal TR T R 2
Reserves) ? (A) 0-34%

(A) 0-34% B) 1'1%

(B) 11% (C) 0-75%

(©) 075% (D) 0-62%

(D) 0-62% e (E) IR el &1 =Imed
(E) Not attempted ;«E%%

52. Identify the correct pair of indigenous cattle breeds | 52. RO & Icu=T BN aTeft 3ft TSt Al o Tt R
that originated in Haryana : I gE= hifere :

(A) Sahiwal cow and Banni buffalo (A) TTEETS T 3T o=t 97
(B) Hariana cow and Murrah buffalo (B) &I ﬁ(ﬂﬁ beped
(C) Tharparkar cow and Mehsana buffalo (C) IRUNR T 3R Hegor g
(D) Gir cow and Jaffarabadi buffalo (D) fir TR 37K SToprae e
(E) Not attempted (E) 3o e 37 =mea

D $14%



53. Which of the following statements about email |53. 3HeT UgEH & aX ¥ frfaRad & & sH-T1/@ Hem
addresses is/are incorrect ? AT /8 2
I.  An email address must contain an ‘@’ I AUSE T ‘@ g 31avg g = |
symbol. II. 30T USH HE-HfHfed Brar ® (3T & T,
II.  An email address is case-sensitive (e.g., John@example.com, john@example.com &
John@example.com is different from IAATR) |
john@example.com). 1L éﬁa% “To” tﬁ@ﬁ%ﬂ@mam
III. There can only be one recipient in the “To” 2
field of an email. e
Options : (A) FaaTl
(A) Tonly (B) sharet 1T 3TN Cla
(B) I and I1I only (©) Fa 1R =8
(C) TandII only (D) LI ST
(D) L, II and III (E) IO TR ST AR
(E) Not attempted
54. Which of the following describes a “hyperlink” ? |54. F=fdfad & @ H-A1 “BEWRicie” 1 IUH FHT
(A) Software used to  block  pop-up g7
advertisements (A) UT9-319 faqToHT 1 sk A ok [T T
(B) Data stored on your computer by a website 9T
(C) A program used to secure online transactions (B) foreft S=mmse g qumﬁ@a
(D) A clickable object that takes you to another (C) TS A3 {Bﬁaﬁ F % AT 39T
web resource 3T ST ATt W Ty
(E) Not attempted (D) Ueh foeTeh ot T SHTesiere STt 3T eh! fereft 311
o9 e W ST
2 (E) o Tl &1 =Tt
55.  Which feature in Excel allows you to set rules for|55. T#el § -8l gﬁm SATIRT Al sl ek AT
how cells are formatted based on their YR W B hH o fou Fam i w3 fr
values ? 3‘@4’% AT g ?
(A) Number Formatting (A) Fe BT
(B) Format Painter (B) P U
(C) Cell Styles (©) A wIEed
(D) Conditional Formatting (D) FEieret
(E) Not attempted (E) s ST
D $155%



56. The ‘Pinjore Gardens’ (Yadavindra Gardens) in|56. &R@mon ¥ sk M (@mefamsr me) fora ATEIheT
Haryana are an excellent example of which ﬁa“rws@gs‘c{m% ?
architectural style ? (A) s@-%rr@ﬁmamow T
(A) Indo-Saracenic architecture (B) TSTYQ areeat e
(B) Rajput architecture (C) forfest WW
(C) British colonial architecture D) WWW
(D) Mughal garden architecture (E) S0 3T et
(E) Not attempted

57. Under the Haryana Budget 2025 — 26, how much |57. g0 sI91E 2025 — 26 & d&d, ATS! A&HT JSHT &
amount has been allocated for women’s welfare qEd AIEATA o heToT o foTu forat fsy sqreifeq
under the Lado Lakshmi Yojana ? TER9
(A) 3,000 crore (A) % 3,000 IS
(B) ¥4,000 crore (B) 4,000 e
(C) 5,000 crore (C) %5,000 FIS
(D) 6,000 crore (D) % 6,000 FE
(E) Not attempted (E) S0 31 et

58. Which of the following Parks/Santuaries in 58. af@mm & fr=faRed & @ wH-81 IYH/RRETTT
Haryana is a Ramsar site ? THE TIA § 2
(A) Abubshahar Wildlife Sanctuary (A) AL TS T ITIOT
(B) Kalesar National Park (B) FHAT T ST
(C) Sultanpur National Park (C) MR T e
(D) Nahar Wildlife Sanctuary (D) ATE TS TR
(E) Not attempted (E) 30Tt 37 =mey

59. Which Article of the Indian Constitution facilitated | 59. R GfarermT & forar 34@%?{ < EITOT ol Teh ST
the creation of Haryana as a separate state ? ST & ®Y T g9 T TEr=aT sh 2
(A) Article 239 (A) HHT=Da 239
(B) Article 371 (B) 3@@?{ 371
(C) Article 1 hIEl%_Zr’_IEl (C) 341@3 1
(D) Article 3 B (D) = 3
(E) Not attempted (E) 3 T 37 =mey

60. Which among the following is not a Constitutional | 60. TT=fIRad T & FH-GT1 B0 TSI H Ueh Hoeeh
Body in the state of Haryana ? [BEIR K Fd
(A) State Finance Commission (A) T<F formt s
(B) Haryana Public Service Commission (B) EIATOT Sk T AT
(C) Haryana Human Rights Commission (C) EREToT AHETRERI SR
(D) State Election Commission (D) TS A= ST
(E) Not attempted (E) It TR
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61. Imagine you have three identical cube-shaped 61. heUTSHITSTT foh 3TUF UTH of i THTUTT SHTHR he
containers, each with an edge length of 10 cm. g g yds & R f e 10 cm ® 1 ST
These three cubes are stacked one directly on top T hl Teh oh HUL Ueh WgohT Ueh 2o SHRTTRAT S | 390
of the other, forming a single tower. What is the HEET &7 A0 TS S9%e 9T 8 2
outside surface area of this structure ? 2 ) 2

2 2 (A) 1500 cm (B) 1550 cm
(A) 1500 cm (B) 1550 cm 2 2
2 2 (C) 1700 cm (D) 1800 cm
(C) 1700 cm (D) 1800 cm (E) o T AT e
(E) Not attempted

62. The original Indian Constitution had 62. HA TR dfaem o Hifetsh PR o

Fundamental Rights while it presently has Steffer oIdqT™ | 388 HifeTes TRRR E |
Fundamental Rights. (A) 6:7 (B)8&7 (C)7;8 (D)7:6

(A) 6,67 B)&7 (©O)7;8 (D)7;6 (E) STl &1 =med e

(E) Not attempted o

63. A bucket is initially filled to 3/8 of is capacity with| 63. T TSl I Y& H IWH! &HAT % 3/8 Teh THT § ¥
water. Then, 1/2 of the water currently in the ST 2 | o, aredt T ﬁﬁs g T 1/2 R |
bucket is poured out. After this, water equivalent Frerret fean STTar 2 | 39k o1e, STt Y el &THdT &
to 1/4 of the bucket’s total capacity is added. 1/4 % ST 9 ST ST © | 319 1, a—T@%ﬁqﬁrﬁ
Finally, 1/3 of the new total volume of water in the Waﬁq's‘g»—crwam 1/3 aTex foranret fe=r san %T
bucket is poured out. T STee Y oot &mdT T e Wi oeft oft ot &
What fraction of the original bucket’s total ‘3;\'[%’3“% 9 °
capacity is still filled with water ? (A)Q7 6 B) 74
(A) 7/16 (B) 7/24
(©) 7/48 (D) §/42 (C) 7/48 . (D) 8/42
(E) Not attempted (E) S A et

64. Which one of the following pairs of international | 64. fHfctfad o & Fauiediar GrraHT TR 37k HeATerl
organizations and their  headquarters is T ShIH-HT Teh IH TAT 29
incorrect ?! (A) qj-@ﬁ (UNESCO) — i, i
(A) UNESCO - Paris, France (B) 3TTSUST (IAEA) — @ 2, ;ﬁg@—s\g
(B) TAEA — The Hague, Netherlands ©) WW (UN) -3 :n &, &1, ST
(C) UN - New York, USA
(D) FAO — Rome, Italy E ?E._E EE)) gg(;?:;ﬁﬁq, et
(E) Not attempted

65. IfLCM (a, b) = 84 and HCF (a, b) = 7, which pair| 65. Ifd LCM (a, b) = 84 3T HCF (a, b) = 7 ®, I
is possible as values of aand b ? @?—ﬁ@qaﬁaﬁb%ﬁ%ﬁaﬁW%?
(A) 21 and 28 (B) 14 and 21 (A) 21 328 (B) 143121
(C) 7and 12 (D) 28 and 42 (C) 7 T 12 (D) 28 3T 42
(E) Not attempted (E) 39L&} &1 =med
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66. In the following question, find out which of the 66. f=fcfad v &, 31 Fifsw foh 3w a@ﬁ?ﬁ (A),
Answer Figures (A), (B), (C) and (D) completes (B), (C) 3R (D) W & shi7-€ ATHA AT I T
the figure matrix. FAT R |

| L | o]0 | L | oo
|| N |olo R o
<8> oNO (YN
O1RRA ORI
dD|CRDO| ? dPD|ICRO| ?
Answer Figures : 3T STITfﬁI'éﬁ :
A | @ B) | of] A | @ B) | oo
[(s] l[s)] ol o) C )
S U o oJo
© | N D) | © | N O | _@
(CIE®) CE®) an
U > ©
(E) Not attempted (E) 3T &I a1 =ted
mym
O]

67. Which of the following diagrams represents the |67. TTHfcifigd # & -0T 3G 9 YT, ‘thltﬁavﬁ'{ﬂg’
relationship among Beverages, Coffee and Soft (3fideT) U o ofir deiey g9riar & 2
(Cold) drinks ?

w O_0O
® O OO O
" @
" @
Js
o o ® o
(E) 3T a1 =ed B
(E) Not attempted ETa
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68. Which of the following statements is correct

regarding recent infrastructure developments in

Haryana ?

(A) Rakhigarhi is located on the left bank of
Palaeo-Channel of Drishadvati.

(B) Haryana Right to Service Act was passed in

2016.

The Eastern Peripheral Expressway passes

(©)

through the city of Hisar.
(D) National Highway 152D connects Ambala
and Narnaul.

(E) Not attempted

68. TIATOT T BT o F(ATET Sl (STETT) o e o

daiy ¥ fmferfiga 8 @ S-ar e w2 2

(A) TERTET gUET IU-=d o aTg a¢ X e 2 |

(B) IO Ve s SRR AfM=T 2016 T utiia
foRam T o |

(C) Fe U aseel e 318t & et TSRl
2|

(D) T TmETt 152€ 3faTer 3R AR i
SIECIE

(E) TR o1 =med

69. Which temple in Thanesar served as a prominent | 69. & T FiH-BT HT TSI gYTLH o ITETHTA oh SR
religious site during the reign of King T TG Tftieh Tt oh ®9 § &1 Shiar T 2
Harshavardhana ? (A) T HRTe HieT
(A) Sthaneshwara Mahadev Temple (B) usafere Hfet
(B) Pashupatinatha Temple (©) 3;:"-];[ TearTelt Tt
(C) Amin Bhadrakali Temple (D) ferganfis a1 et Hfex
(D) Vishvamitra Ka Tila Temple (E) 3 T 31 =Irea
(E) Not attempted

my
iz

70. The “Surya Grahan Mela” (Solar Eclipse Fair) is a| 70. “Hﬁm AT’ Teh AT 3R ﬂ%r_clqﬁ SIDISCRAS)
unique and significant event specifically held in oo w9 @ gf@mn & o Y e w ‘El;flQ T B
which pilgrimage site in Haryana when a solar I ARSI fopam STTaT & 2
eclipse occurs ? (A) g Farectt 1 Hehe, @5?33[

(A) Sheikh Chilli’s Tomb, Kurukshetra (B) SR, ROZE
(B) Jyotisar, Kurukshetra (C) ¥ e, Fwar
(C) Bhishma Kund, Kurukshetra D ERETES @"5@3[
(D) Brahma Sarovar, Kurukshetra (E) 3R T <A1 amed
(E) Not attempted
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71. Under the Digital Personal Data Protection Act,|71. fefStea saftmra <o e aﬁ:ﬁm, 2023 %a%ﬁ,
2023, which of the following activities is 18 99 | W 3T o SFed| o [S[SIeet SATHTd ST I
prohibited when processing of digital personal data YO g 99 fAefealRaa 1 o st wfafafer
of children under the age of 18 years ? g g9
(A) Tracking or behavioural monitoring of (A) =t T d;m 7 SRR

children (B) feres rmft SHTeITsT Sucisy Ml
(B) Providi‘ng educational content or.1line ©) 7T v 61 TEnf & SR T T
© S(:)iif;(lslt:;ng personal data with parental D) el T e uRROE w i Eue O
(D) Storing children’s data in encrypted form (E) ST 1 e
(E) Not attempted

72. Which of the following is mot a factor used to|72. aﬁﬁ-—rwwﬁwwﬁ vlcidlgalﬁ d*ﬁcpd A o feTu
classify climates in the Koppen climate frefarfaa & 9 19-a1 e 3T 787 fohar Sman
classification ? 29
(A) Vegetation (B) Temperature (A) Tl (B) dATIHH
(C) Moisture (D) Wind (C) AT (D) &l
(E) Not attempted (E) 3T AET 37 =

73.  Which architectural style does the Sun Temple at|73. W& o ‘élgf it forer e Sl sl TefRia sar
Modhera represent ? 29
(A) Dravidian (A) sfag
(B) Indo-Islamic ElSe Sl-SEATHR
(C) Kalinga IE%EI E]Z; f%m
(D) Maru-Gurjara (D) HTE{L\_:T'{

(E) Not attempted (E) 3o 3T et

74.  Which of the following Indian cities has a tropical | 74. F=fcifaa & & forer wrdter s1eT 0 Swrenfesifia 1%
wet and dry (savanna) climate ? AR &k (HTT) Gl?l?:l‘l’g% ?

(A) Srinagar (B) Bengaluru (A) #HR (B) an@'{;
(C) Shillong (D) Shimla (C) 1T (D) ST
(E) Not attempted (E) I Y T AR

75. The “Chhau” dance, with martial and tribal origins, | 75. ﬂ@ﬁl’q (TfetereT) 3R eTTfearet A 91T “B&” I
is primarily from which Indian state ? HE Y foh TRAT TSI W 7 2
(A) West Bengal (A) Ufyem Smet
(B) Assam (B) 3@

(C) Haryana (C) e
(D) Manipur (D) Il'fﬁTg'{ E‘%‘E
(E) Not attempted (E) I TR
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76.

77.

78.

79.

80.

Rewrite the following sentence in a passive voice.
Someone is watching us.

(A) We are being watched by someone.

(B) We were being watched by someone.

(C) We being watched by someone.

(D) We are watched by someone.

(E) Not attempted

Change the following sentence into Direct
Speech :

She asked me if [ was fine.

(A) She asked me, “Are you fine ?”

(B) She asked, “Am I fine ?”

(C) She said, “Are you fine ?”

(D) She asked, “Was I fine ?”

(E) Not attempted

Identify which part of the following sentence has
an error.

If I was you / I would not/
@ (D
ignore the warning /  at any cost.
(1IT) (Iv)
(A) IV (B) II
O 1 (D) 11
E
(E) Not attempted Eg
(a4

Which of the following is correctly spelled ?
(A) Inevatable (B) Inevitable

(C) Inevittable (D) Inevateble

(E) Not attempted

Fill in the blank with the correct tense :
By the time we arrived, the show

(A) will start (B) starts
(C) had started (D) has started
(E) Not attempted

81.

82.

83.

84.

8S.

In which sequence should the following
sentences be arranged to form a cohesive
passage ?

I.  His parents encouraged him to try again.

II. He failed the mathematics test.

III. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A) IL, L, IIL, IV
(B) L 11, 11, IV
(O OL IL IV, 1
(D) IL IIL L, IV
(E) Not attempted

EEE

el
T4

Which of the following describes a person who
speaks many languages ?

(A) Polyglot

(B) Monoglot

(C) Translator

(D) Bilingual

(E) Not attempted

What is the antonym of “Ambiguous” ?

(A) Unclear

(B) Definite

(C) Obscure

(D) Vague

(E) Not attempted

Despite the thunderstorm, the old man remained
seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
whatever echoed in his mind was louder.

What can be inferred about the man ?

(A) He didn’t notice the storm.

(B) He was afraid.

(C) He hated the rain.

(D) He was deep in thought.

(E) Not attempted

Which of the follow best describes the phrase —
“Throw in the towel” ?

(A) To clean up

(B) To give up

(C) To celebrate

(D) To win

(E) Not attempted
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86. A HFHE hl Ao, T TSI A-a1= | 93. frefetfiad o & weraTor el o wel quE 1 =ET
] | e i 3R, foh Tt ga=< || EAS1E
ST il o SRR 2 AMTIL BT OFTIT DFG
(A) ST (B) 77 (E) 390 3 =
(ORS (D) Sca 94, formfrfaa § & w1y o 1 = AT
(E) 3 Tl &1 e (A) Tsh 3 forg s areiats f |

87. TrmfciRad wreg It # @&l el ot Sree I TE (B) 6 ST Tk ot 2
g (C) SATSToheT YT ohT TSI 7T # |
(A) 9 — BT, UTe — 3fas (D) et T 3T & HifeTT |
(B) 31 — IS, 14 — o (E) 3T el &1 =med
(C) 3uul —e‘hcl\a; hTIT — dTIR 95. ‘T I1eE T Ty fomRe BN
(D) FFE — T, F7E — < (A) T + 7 (B) ¥ + TH
(E) 3T 1 e (C) T+ (D) T+ 3%

88. FrAfciad forhed H & SIgarei ol 9 hITVT : (E) 3T &l &1 =1
(A) 31T '(B)E‘Eﬁ (© ST (D) T | g6 fomfeafad wreat & & Heereies 758 2 -
(E) 3T & o1 =med (A) fre (B) i

89. FrAfcfiad o & dcem weal HI AR : (C) TR (D) SER
(A) &, Fife, foRr, Frem (E) 3T el &1 =med
(B) fogor, ooar, e, e 97. Frerferfiaa & & <t T 2
© LU e TS B W (@) fEt (© ¥ (D) awm
(D) =, e, 7, 78 (E) S0 &1 =t
(E) 3T A& <A1 =med .
o ‘ 98. I H TN THT  foTT IwIH qara 2 :

90. ffcTiad weai & & -1 fuTa 787 8 2 (A) FHT REGTAFT () 1 o 50 3T
W B ©OF  O)FF (C) e & fireT (D) &
(E) 3T &A1 A1t (E) I eI &7 =18t

91, Freferfiam 5 & it v € 99, frmfoifiad o & sl A T R ;T
(A) fearior (B) fopar (A) ITedE (B) &8 =
(C) & . (D) E==ET (C) 3TTEA (D) &7+
(E) ST AL o1 =Ted (E) 3o 7 31 =

92. 3 ToRE FaE ST & TARITRT oh Tel T & : 100. Frfrfias 3 & S5.a7 319 3 smem @ ST a5 i
(A) Fex T TS} safera s e ot 2o
(B) T 5 ST e (A) fremmdiR T (B) Gagreds TR
(C) 7 ¥, SE 1<t Aferw (C) frmmauss A (D) SRomelsh Ao
(D) Hhe X Heh SAHT (E) e 2T =ed
(E) I &1 o1 =Imed
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SPACE FOR ROUGH WORK
T &hTd & ToTT T

$235%



D

9.

10.

[N
[N

[ER
N

N
w

N
e

.
o

=
(S

[y
~

=
©

19.

N
©

Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on
the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

. Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

. No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed”” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

9.

10.

11.
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13.

14.

15.

16.

17.

18.

19.

20.
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SET-C

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
10:00 AM to 11:45 AM - Test Code: D



Question Booklet Number
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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
3 TIH-UF Tl B Tl § Ugel THudT (Heteriad faen wt ug

This Question Booklet contains 100 questions with
weightage of 1 mark for each question.

Before attempting the question paper, kindly check that
this booklet has total 24 pages and OMR Answer Sheet is
in triplicate. At the start of the examination within the first
five minutes, candidates are advised to ensure that all
pages of Question Booklet and OMR Answer Sheet are
properly printed and Question Booklet is not damaged in
any manner.

The OMR Answer Sheet consists of three copies, the
original copy, the commission copy and the candidate’s
copy. Do not separate or displace them. Do not darken the
bubbles in three copies of OMR Answer Sheet separately.
Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of
the examination. Invigilator will hand over the candidate’s
copy after separating it. The candidates are allowed to take
away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR
Answer Sheet Serial No. match with each other. In case of
any discrepancy, the candidate should immediately report
the matter to the invigilator for replacement of Question
Booklet and OMR Answer Sheet. No claim in this regard
will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet
should be filled carefully. Change of OMR Answer Sheet is
not permitted.

Do not forget to write your Roll Number on the top of this
Question Booklet and OMR Answer Sheet. Do not tear or
fold any page of the Question Booklet and OMR Answer
Sheet.

Candidate has to fill one option compulsorily out of the five
options given. If a candidate does not know the answer,
then he/she has to fill the fifth option (option ®). Extra
five minutes will be given to mark the fifth option, No marks
will be awarded against the fifth option as it indicates that
the candidate has not attempted that question.

1.
2.
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There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
shall result in deduction of one mark.
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The ‘Chaudhary Bansi Lal Cricket Stadium’ is
located in which city of Haryana ?

(A) Lahli

(B) Panchkula

(C) Faridabad

(D) Gurugram

(E) Not attempted

What does the acronym “MIME” stand for in the
context of email ?

(A) Mail Internet Message Extension

(B) Microsoft Internet Messaging Environment
(C) Multipurpose Internet Mail Extensions

(D) Mobile Integrated Mail Encapsulation

(E) Not attempted

As per the official Haryana Government portal,
which of the following is not one of the five natural
geographical divisions of Haryana ?

(A) Aravalli Range

(B) Bundelkhand Plateau

(C) Yamuna-Ghaggar Plain

(D) Shiwalik Hills

E) Not attempted Ci
(E) Not attempte E%a

Which of the following statements about units of
data storage is/are correct ?

I. 1 Gigabyte (GB) is smaller than 1 Terabyte
(TB).

II. 1 Kilobit (Kb) is equal to 1024 bits.

II. 1 Megabit (Mb) is 1/8th of 1 Megabyte (MB).

Options :

(A) Tonly

(B) Tand II only

(C) Iand III only

(D) I and III only

(E) Not attempted

2.

4.

e} ST AT fehohe feam
fg?

(A) drEet

(B) eIl

(C) ®IETg

(D) TeIH

(E) ST <A1 =med i

FieTon o fore Sree H

30 % G’ § “MIME” ol RIT 31 § 2
(A) HeT AT BAST T

(B) HTSShIGTIE $ete HOTSHT SHamin=
(C) TeHITIH 3 Ul Uadexid

(D) HIsT3t $fefes Hel THhteie
(E) 3Tl &1 =med

BTN @R & AMUHNE WA & IR,
fafafad & & s9-a1 gfEmn & 9= TEHkdw
fiifeter THET 8 | Teh 7T R 2

(A) STTEAT qeqHTAT

(B) FaTrEE Y8R

(C) IHAT-EWR HEH

(D) Rrarferes varfeat

(E) 3T TR o1 =med

3T WURY T Sh1EAl + a0 ¥ fEfafed # @
T8 FHYT & /2 2

[ 17ATeTge (GB), 1 30eTse (TB) A BT R |

1. 1 fhaafere (Kb), 1024 force o srreR 2 |

111. 1 Bmfere (Mb), 1 HTIETEE (MB) 3T 1/8aT 91T
T

forereu

(A) FaA1

(B) et I 311
(C) Faet [ AR III
(D) ohaet 11 3R 111
(E) &l &1 =med
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If a country’s Gini coefficient increases after
globalization, what does it indicate ?

(A) Income inequality has worsened

(B) Poverty levels have decreased uniformly

(C) There is no change in income distribution
(D) Higher international trade occurred

(E) Not attempted

Under which Act was the Trust Deed of

PM CARES Fund registered ?

(A) Societies Registration Act, 1860
(B) Registration Act, 1908

(C) Indian Trusts Act, 1882

(D) Companies Act, 2013

(E) Not attempted Cir

R

Which of the following statements about India’s
first bullet train project are correct ?

I. It will have 12 stations including Surat,
Vadodara and Sabarmati.

II. It includes the construction of India’s first
undersea rail tunnel.

II. It is expected to reduce travel time between

Mumbai and Ahmedabad to under three
hours.

IV. It is being executed with financial and

technical assistance from Japan.
Options :
(A) L IL IIand IV
(C) L II and I only
(E) Not attempted

(B) II, I and IV only
(D) I'and II only

Which of the following cities was awarded the|8.

2024 “Green Capital of Asia” title ?
(A) Singapore

(B) Delhi

(C) Seoul

(D) Tokyo

(E) Not attempted

7.

afe Svteor o ama foredt aeT 3T fY TR s 2,
T I- TSR 2

(A) 3T STEATAT AR off sl 1 ST

(B) T o T T UhEHTT €9 8 HHY STHT

(C) 1 foraqwor & 1S ufterd &t 2T

(D) <o AT AR BHT

(E) 3Tl a1 =Imed

fiun o %e il o dis form erfufaw & ava
USiiehd ol 7T off 2

(A) GrETEd Usiisor STRIfam, 1860

(B) Ustietor Affm, 1908

(C) YR gee Aferfaam, 1882

(D) st srferfram, 2013

(E) TR &l &1 =med

VTR T T8 eie o TS o o & feforfad

T HH-H FAT T E 2

I 36 §Ld, JSieU R HeRAd! |igd 12 |
B |

I 36 9RA ol qgell 993 o i<t sht T qar
fomfor i 2

111, 368 Heg 3R TS & = AT Hl THY
THL A HE A FA B HI SIS R |

IV. 38 S 8 focfiar 3t qeieh 9gr=idT & a1
forarfead fRT ST TR |

foreprea .

(A) LI I AR IV

(C) ohae 1, 11 AR 11

(E) STl <1 =9med

(B) @& 11, 111 3R IV
(D) ohaed [ AR

frefafaa & 9 e wret =1 2024 “wfymEm $it gia
T ohT Raarer feam i 2

(A) femmge

(B) faoeft

ORGEIS] CHie
(D) T e
(E) Il &1 =med
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9. A factory uses three machines (A, B and C) to|9. U Heell T fomiy TR & fosie s9m & forg i
produce a specialized type of widget. AT (A,B R )] T ITFNT LA ¢ |
Machines A and B working together can produce I A 3T B Teh 919 hH ook 4 8¢ 1 100 fosie
100 widgets in 4 hours. ST Gl B |
Machines B and C working together can produce T3 B 31 C U |1 19 & 5 5§ 100 e
100 widgets in 5 hours. IR C i
Machines A and C working together can produce T A R C TF @Y FW O 25 52§
Ilf? &ngetsﬁn - ltlours' k al how | 1d 100 fésie s ¥ €
in r r ne, how long wou ‘
it takaeC it tz pr(:tlzcee (;(;gowidag(;tse‘; : R TR A el 1 F, TS 100 fosre T A
(A) 5 hours e WEﬁTIT ’
(B) 16/3 hours (A) ¥ )
(C) 40/9 hours (B) 1673 Q%
(D) 4-5 hours (€) 40/ 9%
(E) Not attempted E%E (D) 45 E%‘
(E) I I T <ed
10. A cube has six different symbols drawn over its six | 10. Tk €= % BT BeAh! T B IHAT-IHAT Tefieh o gY
faces. The symbols are dot, circle, triangle, square, g | Wt & - foig, 99, B, o, shie 3R o |
cross and arrow. Three different positions of the a@ﬁ—aﬁ o uq ﬁozﬁ:[ AAT-3AT Tefet ewils 18
cube are shown in the figures. )
Which symbol is opposite the Square ? T % fda Sa-ar ydim 2 2
(A) Cross (A) E
(B) Arrow (B) dR
(C) Circle (C) I«
(D) Triangle (D) ﬁ‘ﬂff
(E) Not attempted (E) ST &A1 =red %%E
1. If5@1=60;12@8=200; 16 @2 =180;then 11. IL5@ 1=60; 12 @ 8=200; 16 @ 2= 180 &;
what is the value of 16 @ 10 = 2 16 @ 10 =FHTAFFT = ?
(A) 260 (A) 260
B) 9 (B) 9
(C) 10 ©) 10
(D) 32 (D) 32
(E) Not attempted (E) ST TR T =T
D N 4 N



12.

Six faces of cube are painted red, blue, and green,
in a manner that no two adjacent faces have the
same colour. The cube is then cut into 64 smaller
cubes. How many cubes have only one face
coloured red ?

(A) 8
(B) 24
) 6
(D) 10
(E) Not attempted E%‘E

12. 99 % B8 BeAohl ol A1, et S T8 39 & T

7 ® R RIS oY Q1 AT FcAohl o1 TT Uk SET A & |
o o9 R 64 SIS T § whrer =T | fohdA =41 § et
Teh Theloh AT TT TR 2

(A) 8
(B) 24
©) 6
(D) 10
(E) TR &l &A1 =med

13. A piece of paper is folded and cut as shown in the|13. U TSl & 03353 H I ﬂ'@ﬁl’éﬁ T fe@m AN
Question Figures. From the given Answer Figures, HIST 3T 1T TR © | &1 715 I HATRIT | FTaTsy foh
indicate how it will appear when opened. Gl T IE e fewrs & |
Question Figures : U9 STThTaaT ¢
Answer Figures : I ATHIAET ¢ -

(A) @ (A) @
(B) @ (B) @
(©) @ (C) @
(D)
(D)
(E) Not attempted .
(E) 3T o1 =med
14. Complete the series : 14. @ Qﬁaﬁﬁq :
7,14, 11,22,17,34,? 7,14, 11,22,17,34,?
(A) 20 (A) 20
(B) 27 (B) 27
(©) 39
(©) 39 = @-E-'
(D) 28 (D) 28 mIEEE
(E) Not attempted (E) ST T BT e
D N 5 N



15.

16.

17.

18.

What is the current number
constituencies for Scheduled Castes (SCs) in the

Haryana Vidhan Sabha ?

(A) 2 B) 17

(©) 15 (D) 20

(E) Not attempted

Consider the following statements : 16.

I. The first nuclear power plant in North India is
being built in the Hisar district of Haryana.

II. The Haryana government has removed the
age limit for the ‘Mukhyamantri Kisan Evam
Khetihar Mazdoor Jeevan Suraksha Yojana’.

III. The 3rd edition of the Saras Aajeevika Mela

was held in Gurugram.
Which of the above statements are correct ?

(A) I, I and III
(B) I'and III only
(C) Tand II only
(D) I and III only

]
(E) Not attempted oL
In 2022, Haryana ranked among | 17.

Indian states in the Export Preparedness Index.
(A) 5th

(B) 8th

(C) 4th

(D) 2nd

(E) Not attempted

Which author from Haryana won the Sahitya|18.

Akademi Award for work in Haryanvi language in
1990 for his poetry collection titled “Bire Da
Viyah” ?

(A) Mewa Ram Gaur

(B) Uday Bhanu Hans

(C) Gopi Chand Narang

(D) Jasbir Singh

(E) Not attempted

of reserved|15.

ghamon forere wm  srgafed st (caE) % forg
ARF et 1 adam e fa 2 2

(A) 2 (B) 17

(C) 15 (D) 20

(E) 3T A &A1 =Imed

i wemt = famm fifse -

I 3T 9RA H el qTHTY] Sl R g o
AR S g TR ST @ R |

1L BETOT HTehr et foram ud wfet wsiet
Sfa geeT AT o oy A HAT 8T 41 2 |

111, &3 SATSHfereRt Het T e SEhT eI |
SIDISGAEDIRIE O

ST | © U HU 8 2

(A) L, 11 3R III

(B) haet I 3111

(C) haet I 3R

(D) haet 11 3R 111

(E) STl o1 =med

2022 ¥, fafd AT gerhich § g Wi TSt |

T 9 T |
(A) 53
(B) &3
(C) =Y
(D) T -
(E) I T o1 =med R

1990 H 370 ShlordT €T S 3T TS o T g
TN H HTfecd STeh1eHt TRl Sfic aTet SR shier
HH I 2

(A) HaTTm g

(B) ST W &H

(C) Tt =g TR

(D) Stesfit fig

(E) TRl &1 =med
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19.

Under the Haryana Budget 2025 — 26, how much
amount has been allocated for women’s welfare
under the Lado Lakshmi Yojana ?

19.

BT 1€ 2025 — 26 o d&d, ATel JA&HT JiSHT &
qed ATl o hodToT o fora foraet 1T strsifed <t
TSR ?

(A) %6,000 crore (A) % 6,000 IS
(B) 5,000 crore (B) 5,000 I
(C) 3,000 crore (C) 3,000 FS
(D) ¥4,000 crore (D) % 4,000 FIE
(E) Not attempted (E) Tt 37 =t
20. Which of the following Parks/Santuaries in|20. sf@mm & f=fafgs § & HH-A1 STH/ERT
Haryana is a Ramsar site ? THE T § 2
(A) Abubshahar Wildlife Sanctuary (A) AL TS ITIOT
(B) Kalesar National Park (B) FHAT T ST
(C) Nahar Wildlife Sanctuary (C) e FSTIeT SR
(D) Sultanpur National Park OO (D) FEaHT T I
(E) Not attempted B (E) ?TT'R qu[ TR
21.  Which Article of the Indian Constitution facilitated | 21. 9T Gfare™ o fore 34@%?{ 3 BRTOTT AT Wk 31T
the creation of Haryana as a separate state ? TSI o ®Y H 99 § F2r=IdT shil 2
(A) Article 239 (A) 3155 239
(B) Article 371 (B) 3:@%?; 371
(C) Article 3 (C) 3@'@3 3
(D) Article 1 (D) 343%—({ 1
(E) Not attempted (E) I et 37 =mey
22. The ‘Pinjore Gardens’ (Yadavindra Gardens) in|22. RN H Ui M (AefomsT mMe) %HEI'R@WT
Haryana are an excellent example of which ﬁq—«ﬁw?,??"g JAT = 2
architectural style ? (A) T e ElSEXl
(A) Mughal garden architecture (B) @_g@ﬁggaw
(B) Indo-Saracenic architecture (C) TSI Seehett
(C) Rajput architecture (D) forfesr sftufrRifvmes areqeren ElEE
(D) British colonial architecture (E) 3o 3T et N =8
(E) Not attempted
23.  Which among the following is not a Constitutional | 23. F=fcfaa & @ -4 i@ U7 4 U daenfes
Body in the state of Haryana ? [BEIR K Fi
(A) State Election Commission (A) TSI ST
(B) Haryana Human Rights Commission (B) HICINIEIGEIPEAeC IR
(C) State Finance Commission (C) =% famr 3
(D) Haryana Public Service Commission (D) ST ik ST AT
(E) Not attempted (E) It TR
D nTn



24.

25.

26.

27.

28.

Find the odd one out : 24.

(A) Window

(B) Prism

(C) Lens

(D) Mirror

(E) Not attempted

A certain number, when divided by 15, 20, or 25, |25.

always leaves a remainder of 8. What is the
smallest such number that is also greater than
500 ?

(A) 592

(C) 608

(E) Not attempted

(B) 615
(D) 612

If READ is coded as 94 (18 x 5 + 1 x 4), how will | 26.

MATH be coded ?
(A) 165
(B) 156
(C) 173
(D) 160

E) Not attempted T
(E) Not attempte E%.a

Find the odd one out : 27.

(A) 371
(C) 417
(E) Not attempted

(B) 153
(D) 370

Four individuals — P, Q, R and S — are suspects in|28.

a theft case. They make the following statements :
P says : “Q is guilty.”

Q says : “Ris guilty.”

R says : “P is innocent.”

S says : “I am innocent.”

If it is known that exactly one of them is guilty, and
only the guilty person lies (all innocent people tell
the truth), then who is the guilty one ?

A) Q (B) S (©) R
(E) Not attempted

(D) P

. [
(E) IR &I <A1 =med S

we fafdea g 1 15, 20, 31 25 @ foawfsag F+@
UM 8 319 =T & | Vet TaTdl BT 6l -6 & S
500 9 5L g 2

(A) 592 (B) 615
(C) 608 (D) 612
(E) 3T A &A1 =Imed

Ifc READ &1 94 (18 x 5+ 1 x 4) % &9 H whifed
foarm STt 2, a MATH o1 & shifea feram s 2
(A) 165

(B) 156

(C) 173

(D) 160

(E) TR &l &1 =med

%ﬂ'ﬂrﬂﬁﬁﬁl@:

(A) 371

(C) 417

(E) SO & a1 =med

(B) 153
(D) 370

IR A — P, Q, R 3N S — =R o Uah A § Tiewer
213 frfifaa e wea 2
PEEATE : “Q A g |”

QFEAT: “RAW T |”

R&FgaTe: “pfgmg |1”

SEdr e : “H (eiw g |”

gfe 98 J1a 2 for S0 @ areqa § we & A ® S
hered SISl Aeh B3 siera & (Gl et i & siterd
?), AR 2

A) Q B) S
(B) TRl <A1 =med

(© R (D) P

/\8/\



29. From a point A on the ground, the angle of|29. SHiq TT @ﬁg A ﬁ, Teh Fearer HAR o 3 o1
elevation to the top of a vertical tower is 30°. From I~ R 30° B | Th %l’g; B4, S 1%@; AT HAR &
a point B, which is 50 metres closer to the base of SATIRF 50 HieT 3Aferen e B, HiAw o 3T o1 313
the tower from point A, the angle of elevation to T 60° B | HHAR T =g (Hiew d) FR 2
the top of ‘?he tower is 60°. What is the height of (A) 55 J3m (B) 50 m
the tower (in metres) ?
C) 25m D
E) 3dT
(C) 25m (D) 50./3 m (E) ST Tl a1 =imed
(E) Not attempted
30. If ‘a’ and ‘b’ are positive integers such that|30. I ‘@’ W b’ oHATHF Tﬁ%" T oo f&
2 2
a —b =31, then what is the value of a x b ? 32 —b2 = 31,?-ﬁa X bFTFFRTE ?
(A) 321  (B)240 (C) 128 (D) 246 (A) 321 (B)240 (C) 128 (D) 246
(E) Not attempted (E) ST &l 1 =med
31. A solid metal cube of side 14 c¢m is melted and | 31. 14 9=t hSll I Tk 39 Ik ERCE R TG ICaY
recast into smaller spheres of radius 1 cm. How 1 9} 5= g 8¢ T ey STd# | ﬁ'ﬁﬁlﬁﬁ"ﬁﬁ
many such spheres can be formed ? ST ST Hehd 8 2
(A) 724 (B) 655 (C) 535 (D) 612 (A) 724 (B) 655 (C) 535 (D) 612
(E) Not attempted ESE (E) I AR ST AR
i
32.  Arun’s salary is 25% more than Bishnoi’s. Charan |32, 3707 &7 da {1 o aa & 259% AT & | =0T
earns 40% less than Arun. Deepak earns 30% more TR Y 40% HH FHTATS | Sk, foIeTS & 30% AT
than Bishnoi. FOETE |
By how much is Deepak’s salary more than 9%k T Id =0T o o d & fehdAT 21 © 2
Charan’s ? (A) 66:67% (B) 73:33%
. o . 0
(A) 66:67% (B) 73-33% (C) 62:25% (D) 53-33%
750 .30 . =5
(C) 62-25% (D) 53-33% (B) ST T = ﬁ%ﬂ
(E) Not attempted
1 5 15 1 5 15
33. Ifx+— =2thenx +|—| = 33, Ffex+— =2,dqIx +|—| = .
X X X X —_—
(A) 0 (B) 6 ©) 5 (D) 2 (A) 0 (B) 6 ©) 5 (D) 2
(E) Not attempted () ST e o1 =
34. The average weight of 6 boys is 50 kg. A 7th boy |34. 6 TSI T FEd g 50 FRAT™ & | Tk 7o ASHT
joins and the new average increases by 4%. Later, o} et 81 ST @ 3 937 3G 4% 9 ST = | e
an 8th boy joins and the average increases by T, Toh 89T gt i INHA B a1 & 37 3Neq
1 kg. What is the weight (in kg) of the 8th boy ? | Teretame o STTaT § | 89 egeh ol asiq (fohaTiomy )
(A) 57 (B) 56 (C) 60 (D) 62 FTE 2
(E) Not attempted (A) 57 (B) 56 (C) 60 (D) 62
(B) TR &l o1 =med
D N 9 N



35. Statement I : The Prime Meridian passes through |35. %Y= [ : I HeATE W1 (IMARR) Ml & BaRt
Greenwich. ﬂﬁl?ﬁ g |
Statement II : 1t is at 0° latitude. FHYT [T - IS 0° AT W= |
(A) Both Statement I and Statement II are correct. (A) U [ 3T A [ SHT -T2 |
(B) Both Statement I and Statement II are (B) e [ 30 e 11 SH1 i © |
incorrect (C) o 1 TTeTd &, Sifehet o 11T & |
(C) Statement I is incorrect, but Statement II is (D) %9 1 G2 2, SIS e 1 T 2 |
correct. . ’ '
E) 3 &I o1 ared
(D) Statement I is correct, but Statement II is ) i
incorrect.
(E) Not attempted
36. Which of the following phenomena best explains |36. F=feiRga & & sa-dt ufteeTr i sy &t
the appearance of a blue sky ? Juferf ol Terd Tt i | AU § 2
(A) Absorption of ultraviolet rays (A) ST ROt ST STareTor
(B) Curvature of the Earth (B) gedt &t Fghdl
(C) Reflection of ocean colour (C) HETEF & U1 o Afdfea
(D) Wavelength-based scattering of light (D) STehTST 1 a0 et srrenod gk
(E) Not attempted 3 E{E
E) I A& a1 =red 3
© o2
37. India successfully hosted which major 37. WRA+ 2024 H fore T fauisdir Rrew wwie
international summit in 2024 ? H%«ldlqjch AT oht ?
(A) SCO Summit (A) TEHIST (SCO) RTer e
(B) SAARC Summit (B) @ (SAARC) fImer et
(C) BIMSTEC Summit (C) fomaea (BIMSTEC) fimer wiefier
(D) G20 Summit 2o (D) 20 (G20) R weer
(E) Not attempted e (E) 3T 7S ST 9T
38. Which of the following policies aims at|38. f=fciRga @ FHia-dtifd e ‘:I'%Fﬂ@ﬁaﬁ?clc_or
transforming rural economy through women-led Il EI-EEAT H‘q@ (SHG) & ATea® & Trior
self-help groups (SHGs) ? I ILAT [ T & 2
(A) DAY-NRLM (A) STIAR-TIARTATH (DAY-NRLM)
(B) PM Gati Shakti (B) i f WA (PM Gati Shakti)
(C) e-SHRAM
(C) -9 (e-SHRAM)
(D) PM-KUSUM
(D) HH-%4H (PM-KUSUM)
(E) Not attempted D
(E) STl ST =med
D N 10 N



39. Which of the following statements is correct|39. BRITON H femrehett & 3fdem™ & s ¥ FfaRaa a7 &
regarding the history of painting in Haryana ? FH-TT FAT T R 2
(A) The earliest artistic expressions in Haryana (A) = F g 5 - Rreafest &
were discovered at the Siswal site, featuring St fogere Hls\; o S oft, Forerit sy S
designs painted on earthenware in black and g T 3 i 3 o T ,E: DY
hite. . ..
e (B) Tt & & meet st et 2 <o it
(B) The Rang Mabhal in Pinjore is decorated with WWWW o Bt S mERea 2
wall paintings created by British artists ©) 1 S R & ¢ EFIB:’ S Tt
during colonial times. G of 5
(C) The ‘Asthal Bohar’ paintings are not found in (D) % A 1 & oORr & et o .
Panchkula and Pinjore. oo
anchiuia and Hinore ferfeifermit (SFeht) AT =T 1 3T9TE ¢ |
(D) The Bhadrakali temple in Kurukshetra lacks (E) s AT
any form of frescoes or murals.
(E) Not attempted @%_Erl
s
40. What is the revised honorarium for the ‘Yuva 40. TRITOT AecT AehraH gr{rﬁ’qaﬁ EISARCIRNICED
Lekhak Samman Puraskar’ given by the Haryana GHATT JUERTT <Rl HINod AT T 8 2
Sahitya Akademi ? (A) %1,00,000
(A) ¥1,00,000 (B) ¥25,000
(B) ¥25,000 (C) %75,000
(C) T75,000 (D) 50,000
(D) 50,000 (E) 3T &Y <A1 A =y
(E) Not attempted Ok
41. The town of Kaithal in Haryana is historically|41. O kT Foet X et w9 ¥ fha ufeg
linked with which famous female warrior ? HS ATET & Heiler & 2
(A) Razia Sultana (A) Temm Hed™
(B) Rani Avantibai (B) Tt SFadieg
(C) Rani Lakshmi Bai (C) T weaft &g
(D) Begum Hazrat Mahal (D) sTTH &d Hed
(E) Not attempted (E) 3T o1 =med
D AL A



42. Which of the following is not a factor used to|42. aﬁﬁ:raaa@aﬂﬁwmﬁ SNEIR T Sfiehd i & forw
classify climates in the K&ppen climate freafafaa 5 9 9-a1 e ST 78 fomam sman
classification ? 29
(A) Temperature (B) Wind (A) dTTHH (B) &

(C) Vegetation (D) Moisture (C) S et (D) STEar
(E) Not attempted (E) 3T et 7 =med

43. The “Chhau” dance, with martial and tribal origins, |43. ﬂ&’&l’q (anfetereT) IR eTfearet TS J1edl “8&” T
is primarily from which Indian state ? ey ¥ Y fohe WRAI TsT 8 8 2
(A) Assam (A) TEq
(B) West Bengal (B) 9f¥=d sTTer
(C) Haryana (C) shemm
(D) Manipur e (D) II'&W@T
(E) Not attempted %%% (E) o7t 37 =t

44. Under the Digital Personal Data Protection Act, 44. fEfSieet safha St Teqor SAferfaem, 2023 & ),
2023, which of the following activities is 18 a9 T &Y Y % g o Tefoed safeema 2 &1
prohibited when processing of digital personal data JOERT hid 999 Afefaa @ O sa-dt nfafafer
of children under the age of 18 years ? e g9
(A) Tracking or behavioural monitoring of (A) a1 St 2T 91 sa=fen o

children . (B) TelT-foreT oht FEHf & SR ST T T
(B) Collecttlng personal data with parental ©) $forep T SFETE ST T
consen . . .
. : . (D) T4l I 3T TshE €T H HUE HLAT
(C) Providing educational content online . S
(D) Storing children’s data in encrypted form (E) s
(E) Not attempted

45.  Which of the following Indian cities has a tropical |45, f=ifetRaa & & forg YrdlT wet & Swikiestiar 3mms
wet and dry (savanna) climate ? 3R IS (TAHT) STerary 29
(A) Shillong (B) Shimla (A) e (B) femem
(C) Srinagar (D) Bengaluru (C) o (D) ERGED
(E) Not attempted (E) I ERRCIRCIE)

46. Which architectural style does the Sun Temple at|46. HI&L T Eﬁ T formr Teme et 1 TefRia wear
Modhera represent ? 29
(A) Dravidian (A) 3T
(B) Maru-Gurjara (B) HTETSH
(C) Indo-Islamic (C) Ser-gwemiv

. (D) HfedT EE
(D) Kalinga ‘ Tl
(E) TR &l &7 =met R
(E) Not attempted
D nN12An



47. Which of the following statements is correct|47. Wﬁ%’lﬁ%ﬂﬁ'ﬂﬁ & (STIETTA) & fasma &
regarding recent infrastructure developments in doy § fAefafiga 3 9 si-ar o 981 @ 2
Haryana ? (A) T Tomnt 1520 Sfeltenn 3R A
(A) National Highway 152D connects Ambala Sedarg |

and Narnaul. (B) ERemom &t 1 AR AR 2016 § wii
(B) Haryana Right to Service Act was passed in 3R T o7 |

2016. _ (C) $E IR Taresed fedm R1et & et TSRt
(C) The Eastern Peripheral Expressway passes 3

through the city of Hisar. .

shie ey (D) TETE gugdT qU-9et 3 Tl e W Rua ¥ |

(D) Rakhigarhi is located on the left bank of T \E

Palaeo-Channel of Drishadvati. (E) s
(E) Not attempted

48. Which temple in Thanesar served as a prominent |48. - H hI--GT HfT TS EYaTEA o ITEHTA o GIH
religious site during the reign of King T T Tftien LT oh ©9 § S ShiaT T 2
Harshavardhana ? (A) TYaR HETed Hiex
(A) Sthaneshwara Mahadev Temple (B) farganfisr s e wfen
(B) Vishvamitra Ka Tila Temple ) qerafeTe w6t
(C) Pashupatinatha Temple (D) 3%1:[ TR R
(D) Amin Bhadrakali Temple mym (B) 3 TEi 3T e
(E) Not attempted [a T

49. The “Surya Grahan Mela” (Solar Eclipse Fair) is a|49. “Hﬁ T80T HAT” Ueh AN 3R *-ISrONcy? SCIDISERAS)
unique and significant event specifically held in ooy w9 @ i & e Y T w Fl;&f T B
which pilgrimage site in Haryana when a solar TR NS foRaT ST R 2
eclipse occurs ? (A) ST&T TR, W
(A) Brahma Sarovar, Kurukshetra (B) SR, @593—7[

(B) Jyotisar, Kurukshetra ©) W‘gl;v_é, ‘355933[

(C) Bhishma Kund, Kurukshetra (D) 3@ Faeedt 1 Heher, g;geﬁ‘;r

(D) Sheikh Chilli’s Tomb, Kurukshetra (E) 3R T <A1 amed @éf@
(E) Not attempted 2

50. Selling Price of two items is ¥ 120 each. One sold |50. g d(—g'i% SEERCCACAREED I T 120 HRCE
at 25% profit, the other at 25% loss. What is the net 259%, aTﬂqTaaTTqu, aslﬁﬁ 25% T 9T | qua'lt
profit or loss for the shopkeeper ? F IS AT AT TR 2
(A) No profitnoloss (B) ¥ 16 loss (A) FA TN (B) T 16 I &I
(C) 25 loss (D) % 16 profit (C) T25T =T (D) T 16 FHTATH
(E) Not attempted (B) TR &l <A1 =med

D N13 A



51. A number is increased by 20%, then decreased by | 51. Teh G H 20% @él’ﬁ‘s{ﬁﬁﬁ%%, T 30% ot =t
30%, and finally increased again by 50%. What is T STt 2, IR ofd 7 6T 50% i gfg i et 2 |
the net percentage change in the number from its &I H 39 g UM 9 g Tfaerd qiEd
original value ? 29 ) ;

(A) 10% (B) 16% (A) 10% (B) 16%
(C) 0% (D) 26% ©) 0% (D) 26%
(E) Not attempted (E) T 7 AT AT

52. A hemisphere and cone have equal volumes. If the|52. Teh 3Ty 3T S'IT;F % AT TR & | IS Q'IEF El
height of the cone is h and radius of both is r, find FAE hE M A Bsarr e, A rF IS H h I
h in terms of r. ST |
(A) 3172 (B) 41/3 (A) 31/2 (B) 41/3
© r (D) 2r ©) r (D) 2r
(E) Not attempted E?;E (E) I TR ST

53. If a train is 180 m long and crosses a man in|53. J%ISOWWW,@GHW@9@W§W
9 seconds, then how long does it take for it to cross FHTAT 7, AT 3T 280 HiT Tr TeHH ol UL A |
a 280 m long platform ? frd=T 99T < 2
(A) 18 seconds (B) 23 seconds (A) 18 Uehs (B) 23T
(C) 21 seconds (D) 27 seconds (C) 21 Qe (D) 27 se
(E) Not attempted (E) I TR 2T =R

54. A sum of money, invested at a certain rate of|54. Ueh SUTIT ShT FTROT SATST ohl % fAffea Tt w
simple interest for 3 years, yields ¥ 1,200. If the 3 8] o feAu fAaer s T 1,200 ITH BId © | afe 3
same sum were invested at the same rate of BOENINIRCT %@_ﬁﬁ SIS hl 99 (anﬁm T
compound interest (compounded annually) for wafsa) w2 ant & foe faw fear s oar
2 years, it would yield T 840. What is the principal F 840 YTH BT | T SERIE GEER) ST 7T ST T
sum and the rate of interest ? $9
(A) Principal : ¥ 3,600, Rate : 11-11% (A) T 1T 3,600, 7 : 11-11%

(B) Principal : ¥ 3,800, Rate : 10-5% (B) HTEH : 73,800, & : 10-5%
(C) Principal : ¥ 4,000, Rate : 10% >
o (C) HAY9T:%4,000,3T: 10%
(D) Principal : 4,200, Rate : 9-5% o
(D) "9 :%4,200,35T:9-5%
(E) Not attempted & i E5mE
(E) S & a1 =med L]
55. The original Indian Constitution had 55. AA AR Gfaem o Hifetsh AfHR o
Fundamental Rights while it presently has STeIfeh IqHT | 39H Tifersh MR 2 |
Fundamental Rights. (A) 8:7 (B)6;7 (C)7;6 (D)7;8
(A) 87 (B)67 ()76 (D)7;8 (E) IR <A1 =Imed
(E) Not attempted
D N14 0



56.

A bucket is initially filled to 3/8 of'its capacity with
water. Then, 1/2 of the water currently in the
bucket is poured out. After this, water equivalent
to 1/4 of the bucket’s total capacity is added.
Finally, 1/3 of the new total volume of water in the
bucket is poured out.

What fraction of the original bucket’s total
capacity is still filled with water ?

56.

T SITee] 2l Y& H 3Eeh! &A1 o 3/8 o U & WU
ST | TR, aTet | WIS a S 1/2 T |l
TehTet o STaT € | 3%k oiTe, STt shl et &mdl
1/4 3 SIS AT ST ST 8 | 3 |, q1ee § JisE
Tt 3T TS et JAT T 1/3 AR e fear S 2 |
TS STee! ol et T BT feha T Wi 31+t oft ot &
WG R 2

(A) 8/42 (B) 7/16
(A) 8/42 (B) 7/16
C) 724 D) 7/48
(C) 724 (D) 7/48 © . D)
(E) Not attempted (E) S E@E
O
57. If LCM (a, b) = 84 and HCF (a, b) = 7, which pair|57. af¢ LCM (a, b) = 84 3 HCF (a, b) = 7 &, @I
1s possible as values of aand b ? ﬁ:{ﬁ@ﬁﬁaaﬁtb%ﬂﬁ%%ﬁﬁﬁﬁw%?
(A) 28 and 42 (B) 7and 12 (A) 28 3T 42 (B) 73R 12
(C) 21 and 28 (D) 14 and 21 (C) 21 3128 (D) 14 3R 21
(E) Not attempted - (E) I TS ST IR
o
58. Imagine you have three identical cube-shaped|58. sHeUATHINIT foh ATk ITH i THHHT THTERR ST
containers, each with an edge length of 10 cm. TR A Ids & AR R oS 10 cm 2 1 39 A
These three cubes are stacked one directly on top H1 ol Ueh oh UL Ueh TR Uk 2T ST AT R | 39
of the other, forming a single tower. What is the AT &7 A0 T3 S5 FIT 8 2
outside surface area of this structure ? 2 2
5 5 (A) 1800 cm (B) 1700 cm
(A) 1800 cm (B) 1700 cm 2 2
c ) 2 (C) 1500 cm (D) 1550 cm
D .
(C) 1500 cm (D) 1550 cm (E) <o Tt ST e
(E) Not attempted
59.  Which one of the following pairs of international |59. frfctfad # & Fauisdlar €3t R 37k FeATrl
organizations and their  headquarters s a;raﬁ:r.mqaﬁ?qﬂm% ?
. o .
tneorrect: (A) IR (UNESCO) — A, S
(A) UNESCO - Paris, France (B) WW (UN) - rqﬁ‘]ch, 60, ST
B) UN — New York, USA .
® W (C) TTETET (IAEA) - T 3, Frawdiew
C) TAEA — The Hague, Netherlands
© c (D) T (FAO) — T, Fet
(D) FAO — Rome, Italy !
(B) 3T 1 =ned
(E) Not attempted
D AL1SA



60.

Identify the correct pair of indigenous cattle breeds
that originated in Haryana :

(A) Gir cow and Jaffarabadi buffalo

(B) Hariana cow and Murrah buffalo

(C) Sahiwal cow and Banni buffalo

(D) Tharparkar cow and Mehsana buffalo

(E) Not attempted

60.

SO H Iea B Tt Sxft wareft &l o wet I
aﬁwvﬁﬁq:

(A) TR TR St S99

(B) BT TR S A e

(C) TTdaTe T 3R =t 9

(D) UTIRS T 3T Hgamon e

(E) STl ST =med
61. Under Haryana’s Parivar Pehchan Patra (PPP) 61. af@mm &t ufar qgem o (fidfidt) gomeft & qea,
system, which of the following statements is ffefafgad o sA-arFuT @ 8 2
correct ? (A) Tt Fafern o forg dididt srframd 2|
(A) PPP is mandatory for all residents. (B) IT&ATR SMTEEY (ID) el Yarel #firent 3 forw
(B) Temporary IDs are for migrant workers only. =3
(C) Only Haryana residents get a Family ID. (C) e BT ¥ franfest @1 & B s
(D) Families outside Haryana get a 9-digit ID (ID) e 2
starting with letter °T". (D) ST & aTet 35 TfERY 1 T S 9 A
E) Not att t L~ e
(E) Notattempted =y 1At 9-37ehT it ATEE! (ID) freret 2 |
B (E) 3o e 37 =mea
62. The decline in the population of which bird species |62. RO (3T qg IR H) fore ueft yemfa i s o
in Haryana (and across India) is a significant ﬁ|{|qdqaﬁqgrqq£?q'qfawﬁ'qﬂa§, SEED & R
environmental concern, largely attributed to the qy1 fafehear § feaetibTeh T39I 2 2
use of Diclofenac in veterinary medicine ? (A) o
(A) Peacocks (B) G™E
?(3:; granes () e
parrows
(D) Vultures ) T . E‘%—E‘
(E) 3R T <1 amed R
(E) Not attempted
63. What percentage of Haryana’s geographical area is | 63. &[0T % IMfores & 1 fohamT faera wxfera &
covered by the Protected Area network (National Fead (TS I, TIsia TUIAR0T, Hequr i)
Parks, Wildlife Sanctuaries, Conservation S o R TRT ® 2
f?
Reserves) ? (A) 0-62%
(A) 0-62% .
(B) 0-75%
(B) 0-75% C) 0-34%
(C) 0-34% © °
D) 1-1% (D) 1'1%
(E) Not attempted (E) ST TR T =T
D N1e A



64.

65.

66.

Which of the following statements about email
addresses is/are incorrect ?
I.  An email address must contain an ‘@’

symbol.

II. An email address is case-sensitive (e.g.,

John@example.com is different from

john@example.com).

III. There can only be one recipient in the “To”
field of an email.

Options :
(A) II and IIT only
(B) Tand II only

(C) I, I and III
(D) Tonly

(ORHO]
(E) Not attempted 2R
Which feature in Excel allows you to set rules for
how cells are formatted based on their
values ?

(A) Conditional Formatting
(B) Cell Styles

(C) Format Painter

(D) Number Formatting
(E) Not attempted

Which of the following describes a “hyperlink™ ?
(A) A program used to secure online transactions
(B) Data stored on your computer by a website

(C) A clickable object that takes you to another
web resource

64.

6S.

66.

A T & IR § Fefetfiad 3§ & SH-a1/8 e

ToTd 8/2 ?

I AT @ g sraw e Ry |

1. 30 ued He-Gfufee & ¥ (Serwr & fog,
John@example.com, john@example.com T
HATE) |

II1. 35T % “To” Hice H hael Uk TTHeRA! &l Hehd
g

e :

(A) FHaet 11 3R 1
(B) el I 311
(C) L1131

(D) &A1

(E) 3T &l &1 =med

TR H -1 o STTThT Sl 1 Tk AHT
IMYR W BiHe A o g fem feff@ &= 6
FqEfe ot & 2

(A) A BT

(B) & wrEeH

(C) ®iHE UaT

(D) eR BT

(B) TR o1 =med @?ﬁ

frafafas @ @ -9 “TeRici” &1 9 =T
27

(A) HAFATE TH-a sl GUEAT FH & TTq ITaRT
IEDIRCIECIGIRE R )

(B) foreft rereTse SRT HAT9eh et W EIeid S

(D) Software used to block  pop-up (C) Tah Toreteh Sl AW ATosiere SIT 3T Tohet 3771
advertisements e e oX of ST @
(E) Not attempted (D) UM9-319 foRToET i scdfeh i % fIC Tgwh
HiFea
(E) STl ST =med
D AT A



67.

68.

Which of the following diagrams represents the
relationship among Beverages, Coffee and Soft
(Cold) drinks ?

@ O_O

O

(E) Not attempted E%E

In the following question, find out which of the
Answer Figures (A), (B), (C) and (D) completes

the figure matrix.

| | 2le
|| 71N ]elo

i
ON/0O

dp|CRO| ?

Answer Figures :

A oo B @
(A) X X (B) A

o[ Jo o

(®) 0 (D) A
GE®) G

9 g

(E) Not attempted

67.

68.

(retfcTied 3 & =991 3@ U Tere, hithl 371 g
(3faeT) U o Sl Teler guIiaT ® 2

@ O OO

1
4
2
e}

frefefaa woa o, ra hifse for 3T TRt (A),
(B), (C) 3R (D) # & -6t HTH(d g8 I T
FATR |

I SATHAT :
(A) (o o) (B) c o ,
o[Jo ©
(®) @ (D) A
@ o )
S 9
(E) TRl <1 =9med

A18/\



69. Consider the following statements :

I. Haryana covers 2:34% of the geographical

area of India.

II. The government has legalized the shooting of

female Nilgais.

Il. Lantana camara pose a significant threat to

69. FHfifad et w fomm Fifs

[ BITOT 9T o WiTTiTeTeh &1 hT 2-34% HTT BaT
2

II. EThR 3 AIET el sl et AR skl 99 HT
fe g

MI1. ST FERT SR o qrierfaehl 9= & fag

the Haryana forest ecosystems. @%ﬁ@@ﬁﬂ% |
Which of the above statements is/are correct ? @ﬂ?ﬁﬁ@ﬁ?—’ﬂ/ﬁ o TRl 2/e 2
(A) III only (B) 1and III only (A) e I (B) had [ 3R
(C) I, and I (D) Il'and III only (C) I, 113 III (D) haet 11 3R 111
(E) Not attempted (B) TRl <A1 =med mE
i
70. Which of the following statements about the|70. ®f=TOmH tljteéll-iﬂﬂl CIICIEICEIRISE] (@Eﬂaﬁmﬁ) *
Mukhyamantri Bagwani Bima Yojana (MBBY) in I d Feffaga g g Ra-a hem adi € 2
Haryana are correct ? I 39 ISFT H 46 ST BEc i wiEe
I. The scheme covers 46 horticultural crops. T |
II. Premium is ¥ 750/acre for vegetables/spices. 1. Gfssri/marar o fag fiftrm T 750/Twe 2 |
I1I. Maximum compensation is ¥ 15,000/acre for 111. gfssi/marer & fau Afeas  ge1as
vegetables/spices. EiE ¥ 15,000/THE 2 |
Options : R e
(A) Il and III only (B) Iand III only (A) haet 11 3R 11 (B) haet [ 3T 111
(C) TandII only (D) L II'and IIT (C) e [ 310 (D) L, 11 31
(E) Not attempted (E) IR A 3T 91
71.  Which of the following pairs of institutions and |71. FFfcIRad H § HEIHT 3T I %%{HiWOhH-FITgW
their locations is incorrect ? TAT R ?
(A) Indian Institute of — Rohtak (A) VAT Teie G N SED
Management (IIM) (JTEATSTT)
(B) Indian Agricultural — Panchkula (B) WRATE N ST AN — Gl
Research Institute (IARI) (JTTSTITRATS)
(C) Central Institute for — Hisar (®) E R Y T _ fagr
Research on Buffaloes (AT
(CIRB) (D) TSI ST SFATHA HEAH —  FEA
(D) National Dairy Research — Karnal (TTETITRTS)
Institute (NDRI) (E) I A T =TE
(E) Not attempted
D N 19 N



72.

You are facing the rising sun early morning. You
turn 90° clockwise, then 45° anti-clockwise. Which

72.

T oTe-GoTg I G i 3T g e @S § | 3T
90° FfeFurTard, T 45° ATTad BHd 8 | 319 T g

direction are you facing now ? fesm &t @Tﬂ%’m@%% ?
(A) South-West (A) efeur-afiem
(B) South-East (B) zfaor et
(C) East ©) ]
(E) Iiouth ; mim D) afaqor
(E) Not attempte ety (E) S T T =T
73. The Kingdom of Ballabhgarh was annexed by the | 73. 1857 o YR farsie o o1g TS A Tty TE Tsd W
British after the Indian Rebellion of 1857. Who oot oY ToTaT T | SR ifaH IHeh i 97 2
was its last ruler ? INEESIGREH (B) T f&iE
(A) Ajit Singh (B) Nahar Singh (C) muTe fig (D) FaH fie
(C) Gopal Singh (D) Balram Singh (E) 3T et 37 =med
(E) Not attempted
74. In a certain code, “TEACHER” is written as 74. U {4f3=d agéﬁ, “TEACHER” &I “VGCEJGT” %
“VGCEJGT”. How would “DULLARD” be w9 7 fora ST € | 3¢ e § “DULLARD” 1 fohet
written in the same code ? TehTT foAaT S 2
(A) FWNNCSF (A) FWNNCSF
(B) FWNNCTF (B) FWNNCTF
(C) FWNNCRE (C) FWNNCRE
(D) FWNNBTE (D) FWNNBTE
. =5
(E) Not attempted (E) S 31 =ITea 2
75. Select the combination of numbers so that letters |75. T&ITRAT & HIASH 1 =TI hHiST dqlleh RERGIN
arranged accordingly will form a meaningful word. SFTEAT IT&T Teh TTedeh 3168 ST Heh |
N|[R][O]]|C T A NIIR|[]|O]|]|C T A
1 2 3 4 S 6 1 2 3 4 5 6
(A) 235461 (A) 235461
(B) 462531 (B) 462531
(C) 652314 (C) 652314
(D) 162435 (D) 162435
(E) Not attempted (E) ST &1 e
D n20N



76.

77.

78.

79.

80.

Which of the follow best describes the phrase —
“Throw in the towel” ?

(A) To win

(B) To clean up

(C) To give up

(D) To celebrate

(E) Not attempted

Fill in the blank with the correct tense :
By the time we arrived, the show

(A) will start (B) has started
(C) starts (D) had started
(E) Not attempted

What is the antonym of “Ambiguous” ?
(A) Definite

(B) Vague

(C) Unclear

(D) Obscure Eé’_lil
(E) Not attempted (a7
In which sequence should the following

sentences be arranged to form a cohesive
passage ?

[.  His parents encouraged him to try again.
II. He failed the mathematics test.

[II. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A IL LIL IV

(B) UL IL IV, 1

O ILIUL L IV

(D) L IL, II1, IV
(E) Not attempted

Which of the following describes a person who
speaks many languages ?

(A) Translator

(B) Polyglot

(C) Monoglot

(D) Bilingual

(E) Not attempted

81.

82.

83.

84.

8S.

Despite the thunderstorm, the old man remained
seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
whatever echoed in his mind was louder.

What can be inferred about the man ?

(A) He hated the rain.

(B) He was afraid.

(C) He didn’t notice the storm.

(D) He was deep in thought. Eé;r’_li_l

o

(E) Not attempted Oz

Which of the following is correctly spelled ?
(A) Inevateble (B) Inevitable

(C) Inevatable (D) Inevittable

(E) Not attempted

Identify which part of the following sentence has
an error.

If I was you / I would not/
@ (ID
ignore the warning /  at any cost.
(11) Iv)
(A Il B) I
O v (D) 11

(E) Not attempted

Rewrite the following sentence in a passive voice.
Someone is watching us.

(A) We were being watched by someone.
(B) We being watched by someone.

(C) We are watched by someone.

(D) We are being watched by someone.
(E) Not attempted

Change the following sentence into Direct
Speech :

She asked me if [ was fine.

(A) She asked, “Was I fine ?”

(B) She asked, “Am I fine ?”

(C) She asked me, “Are you fine ?”

(D) She said, “Are you fine ?”

(E) Not attempted
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86. TH=fciRad vreel & & Heueivs e § 93. HR HHe hl Tgeh, Al USTd A-a< |
(A) SR (B) TR nguﬁrﬁwﬁﬂwﬁmﬁmwn
(O REETA (D) wifa ST dferl 7 STHR S :
(E) I AEH &7 =T (A) I (B)THF (C) IH&T (D) T
§7. e i e e i (E) ST < =met
(A) ETl (B) U< 94, freferfad sreei & & sia-ar fAuTd 78 2 2
(C) fordror (D) &1 ATh  B)FR  ©OHfF DO
(E) ST el &1 9med (E) 3T A& o1 =Imed
88. ffcifaa # & eid wsa & : 95, freferigd § & stewft wra wHTE R
(A) TS (B) d@® (C) d=d (D) foreft (A) TIEh (B) 315
(E) 3T A& o1 =Imed (C) 1A (D) SIH-HE
(E) SR =l <1 =9med
89. TrfeRad & @ 1[E v i = Hfo 96. “XIHV Iog 1 Al-Y-fo= B :
(A) 3G FIT Geherd fohaT 2 (A) I + L (B) I + T
(B) TSt A fre sht arefiarta faa | (C) I+ (D) I + F
(C) ftdet 7T &1 @ fifsTw | (B) SR el 1 9med
(D) SIS WIS T SIS T4 | 97. Trmfafaa & & wersmr eafat % welt g
(E) 3T A& &1 =Imed Hifvre -
B WTT BEE (O3 OTA
90. frefarfad foeredi o & sigere o1 =2 hINT : (E) TR 7t 37 =eey
WFH BT (O A (D) T | g0 i i & T 379 3 IR R A 99
(E) 3T & <A1 =med T2
. e . (A) e o (B) Hegids I
ot (iAl)lngléli\@r@T“ ;::g SRS (©) Femmdiw I (D) ol A
5SS TR GF (E) 3T Tel o1 =Imed
(B) qﬁﬂgﬂ?;;‘g}g 99. FgH WR SIHT o foTq 3ugwh Herawr 2 :
(P o, ot g | (iR e dven
(E)sa\j{:raﬁrémaﬁ% OB (C) FHTHHFL AT (D) FHA o q sferr
E) (E) ST 1 =T
02 “be T demy AR A A oy, | 100 FEACIER Wd T H W ef et s I T
(A) Fe ¥ e} safer oo 1 8
(B) T M, ATE ATl ATH (A) hATe - Al ; S — <iret
(C) afrorm 7 rfaféraar g (B) PTOT — T8, PATT — et
(D) T T EF AT (C) S — ST, 31— W
(B) 3T el o1 9med (D) 99 — & UTe — Ao E,;E
(E) 3T 8 3T =mey ™
D ‘/\22/\
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Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on
the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

. Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

. No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed”” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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10.

11.

12,

13.

14.

15.

16.

17.

18.

19.

20.
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SET-D

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
10:00 AM to 11:45 AM - Test Code: D



Question Booklet Number

9 feehT ST

Candidate’s Roll Number / 2732t T TeT TFaX

TEST CODE : D

Time Allowed : 1 Hour 45 Minutes
GHT : 1 9927 45 Toe

Total Questions : 100
T T : 100

Maximum Marks : 100
Sferhad 37 : 100
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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
3 TIH-UF Tl B Tl § Ugel THudT (Heteriad faen wt ug

This Question Booklet contains 100 questions with
weightage of 1 mark for each question.

Before attempting the question paper, kindly check that
this booklet has total 24 pages and OMR Answer Sheet is
in triplicate. At the start of the examination within the first
five minutes, candidates are advised to ensure that all
pages of Question Booklet and OMR Answer Sheet are
properly printed and Question Booklet is not damaged in
any manner.

The OMR Answer Sheet consists of three copies, the
original copy, the commission copy and the candidate’s
copy. Do not separate or displace them. Do not darken the
bubbles in three copies of OMR Answer Sheet separately.
Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of
the examination. Invigilator will hand over the candidate’s
copy after separating it. The candidates are allowed to take
away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR
Answer Sheet Serial No. match with each other. In case of
any discrepancy, the candidate should immediately report
the matter to the invigilator for replacement of Question
Booklet and OMR Answer Sheet. No claim in this regard
will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet
should be filled carefully. Change of OMR Answer Sheet is
not permitted.

Do not forget to write your Roll Number on the top of this
Question Booklet and OMR Answer Sheet. Do not tear or
fold any page of the Question Booklet and OMR Answer
Sheet.

Candidate has to fill one option compulsorily out of the five
options given. If a candidate does not know the answer,
then he/she has to fill the fifth option (option ®). Extra
five minutes will be given to mark the fifth option, No marks
will be awarded against the fifth option as it indicates that
the candidate has not attempted that question.

1.
2.

36 ST YRRt § 100 ¥ € | ek T o o 1 3 g |

STHA-T i B A © T HOT S of foh 30 IR 7 et 24 T
¥ ST o1 w91, I T ) i et # | s o8 were 4 |
aﬁﬁ%%ﬁqﬁmméﬁﬁﬁm%wmwﬁ%ﬁl
HTTHT ST IRAHT S 31T, IT T o 91 T3 T8 aiE
B g S ST e gfrhr aht et oft R & aafar e g 7 |
HNTH. AT, I TF sh1 1= Tfet &, 7ot i, STt i ue srvareff
ﬁlﬁm-wqﬁlﬁ.@.w.wwaﬁﬁqﬁﬁﬁl
AT I S-S hram 4 L | el wlem gurad g4 W
S T, S s Y < e s v o e
Y 37 | weiareren g aTvreff ufd STemT ok 3 ¢ o St | atereff
O AT 3 3 Gl Rl o ST Hehd € | I
T G o o foh o qfereRT Heam ST i .um . st o ||
i HEAT THAAT BT =1rey | foret oft werm i feredfer ame <
msﬁaﬁﬁ%mﬁwgrﬁawaﬁwﬁ.@.w.wmwl
ﬁwﬁlﬁmﬁéﬁ%ﬁaﬁ%%mi@&mﬁwl
[EECEERERIS I

aft sTTevae foawor araeTHigEe 31U, IR T § W R | I
31 TH.3TR. I T o FaTd hl STl T 2 | I
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FHI T HE AXTAS | I
srvreff ont fow T i fahet § O ek foehen s Afed B | 3fe
arereff BT I T uar 2, o 3@ uteat faskew (faew (B)) wl
BT | gi=rat faehed 9 o fog uie fime stfafies feg smin | qTﬂqTI
forehed Wi W 1 37k e fau SITan Riifer 0 I Tohd fHerdl @
for arereff 3 38 9 o1 ST T foRT R

CORRECT METHOD/T&T ai<rt

WRONG METHODS/ATAd aiieh
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There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
shall result in deduction of one mark.
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(Read the instructions on last page of this question booklet.)
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1.  Complete the series : 1. %@Fﬂ Q;{Df?ﬁﬁl? :
7,14,11,22,17,34,? 7,14,11,22,17,34,°?
(A) 39 (A) 39
(B) 20 (B) 20
©) 28 (C) 28
(D) 27 (D) 27
. =350
(E) Not attempted (B) 30T 37 e E%%

2.  Six faces of cube are painted red, blue, and green, | 2. T o B Belehl i AT, e, IR T HTE T
in a manner that no two adjacent faces have the T 2 foh 1e oft @1 AT woTehl &1 TT Teh ST 27 |
same colour. The cube is then cut into 64 smaller TRT o T 64 D1 991 T 12T 73T | Tohd= 9411 | shael
cubes. How many cubes have only one face Teh hcTeh ATl TThT & 2
coloured red ? (A) 24
(A) 24 (B) 8

C) 6
ED; o (D) 10

B E) W o1 =med
(E) Not attempted E%‘é E) T

3. A piece of paper is folded and cut as shown in the|3.  Teh TS & \DE%% F I ﬂﬁo‘ﬁ?ﬁ T feEm SIRKINN
Question Figures. From the given Answer Figures, HIST 3T 1T TR © | & 778 I HAThI & Farsy foh
indicate how it will appear when opened. Wi T IS a1 fo@rs 2 |
Question Figures : 9T TR AT :

Answer Figures : I TR TAAT : -
(A) @ (A) @
B
(B) @ (B) @
©)
(®)
(D)
(E) Not attempted )
(E) 3T o1 =med
D +2+



The “Surya Grahan Mela” (Solar Eclipse Fair) is a | 4.

unique and significant event specifically held in
which pilgrimage site in Haryana when a solar
eclipse occurs ?

(A) Bhishma Kund, Kurukshetra

(B) Sheikh Chilli’s Tomb, Kurukshetra

(C) Jyotisar, Kurukshetra

(D) Brahma Sarovar, Kurukshetra

(E) Not attempted

Which temple in Thanesar served as a prominent |5.

religious site during the reign of King

Harshavardhana ?

(A) Amin Bhadrakali Temple

(B) Sthaneshwara Mahadev Temple
(C) Vishvamitra Ka Tila Temple
(D) Pashupatinatha Temple

(E) Not attempted

Which of the following statements is correct|6.

regarding recent infrastructure developments in

Haryana ?

(A) The Eastern Peripheral Expressway passes
through the city of Hisar.

(B) Rakhigarhi is located on the left bank of
Palaeo-Channel of Drishadvati.

(C) Haryana Right to Service Act was passed in
2016.

(D) National Highway 152D connects Ambala
and Narnaul.

(E) Not attempted

T TEVT HAT” Teh STARGT ST HEwqul TS & ST
Tty & & sfemn & form def v ® g geor an
T TSI FohalT STt & 2

(A) A g, Fwar

(B) ¥ forewett T weherT, Foar
(C) AR, Fwar

(D) & TR, Frar

(E) 3Tl &1 =Imed

AT | -G HIT TSI YT o RIS o SR
T T 4TfHe T o &9 H 1 Tl o1 ?

(A) ST vgehTett HfeT
(B) TUMYeR URled Hfat
(C) Torganfim =t e Hifex
(D) SRfcHT HT

(B) ST TR o1 =med

FIATON H BTt o S(ATET STl (SHETHT) o forehrer o
Hefy & ffeTfad § 4 SH-a weA i g 2

(A) $E IR TEEsEd o8 R1et & IRt TSRt
2|
(B) TETE! Vgt qU-=et o a1d qe W R 2 |

(C) &femom Tar =t Aftepr srfarfam 2016 o urf@
IEDIRIBIE

(D) T TmET 152€) SiETer R AR i
SIS e |

(E) ST &I T =med

+3+



7. Abucket is initially filled to 3/8 of its capacity with|7. ek STl I I[& H IWh! &HAT % 3/8 qeh THT § W
water. Then, 1/2 of the water currently in the ST ® | o, St 3 ﬁﬁs gt T 1/2 TREam ot
bucket is poured out. After this, water equivalent Frertet e Sar 2 | 34k o1e, STedt Y el &THAT 6
to 1/4 of the bucket’s total capacity is added. 1/4 3 SR 9 ST ST @ | 319 1, a?ﬁﬁnﬁag
Finally, 1/3 of the new total volume of water in the QFﬁ?mpf:Fsc;WﬂﬁT T 1/3 aTeT frere R s 2 |
bucket is poured out. el STeet oY oot &mdT T e i onef) oft ot &
What fraction of the original bucket’s total ‘J;UE?FH% 9 N
capacity is still filled with water ? (A)Q7 4 B) 7/16
(&) 7724 B) 716 (C) 7/48 (D) 8/42 ofHO!
(C) 7/48 (D) 8/42 , i
(E) Not attempted (E) ST 1 <

8. Imagine you have three identical cube-shaped|8.  =HedAT SHISTT foh Aok ITH oI THHHT THTHR s
containers, each with an edge length of 10 cm. é, S0 ¥ g & Tt ﬁ?ﬁl’l’st 10 cm 2 | A
These three cubes are stacked one directly on top T ol Ueh oh HUX Ueh TR Ueh 2T ST AT ® | 59
of the other, forming a single tower. What is the G T STl Iss AAHA FT R ?
outside surface area of this structure ? 2 2

2 2 (A) 1550 cm (B) 1800 cm
(A) 1550 cm (B) 1800 cm 2 2
2 2 (C) 1700 cm (D) 1500 cm
(C) 1700 cm (D) 1500 cm (B) 3Tt 3T =
(E) Not attempted

9. Which one of the following pairs of international |9. fT=fdflaa & & W‘?ﬁq HITSHAT 3 3T Jj’@qlﬂm
organizations and their headquarters is T Shi-AT T I TATR ?
incorrect ?! (A) g—fﬁg TS (UN) — zl—\qﬁ;f;’ GO SHfET
(A) UN — New York, USA (B) THUST (FAO) - UW, 3t
(B) FAO — Rome, Italy ©) I (IAEA) — T, :ﬁa@@}r
(C) TIAEA — The Hague, Netherlands D) aﬁ@ﬁ (UNESCO) — fa, shiet
(D) UNESCO — Paris, France - (E) S et T A
(E) Not attempted Bt

10. The original Indian Constitution had 10. | TR dfaem o mifere MR o
Fundamental Rights while it presently has SteIfeh oIqqT™ | 388 Hiferen SAferepr 2|

Fundamental Rights. (A) 78 (B)6,7 (C)8;7 (D)7;6
(A) ;8 (B)67 (O)87 (D)7;6 (E) R &A1 =Imed
(E) Not attempted

11. IfLCM (a, b) = 84 and HCF (a, b) = 7, which pair|11. af¢ LCM (a, b) = 84 3R HCF (a, b) = 7 &, a
is possible as values of a and b ? @?—ﬁ@qaﬁaﬁb%ﬁ%ﬁaﬁW%?
(A) 7and 12 (B) 28 and 42 (A) 7312 (B) 28 342
(C) 14 and21 (D) 21 and 28 (C) 14321 (D) 21 3R 28
(E) Not attempted (E) 3R e} a1 =mea
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12. In a certain code, “TEACHER” is written as 12. Ueh f4f3=q Elgﬁ, “TEACHER” &l “VGCEJGT” &
“VGCEJGT”. How would “DULLARD” be & ¥ for@T S @ | I e H “DULLARD” &l fohet
written in the same code ? YRR foraT st 2
(A) FWNNCTF (A) FWNNCTF
(B) FWNNCRE (B) FWNNCRE
(C) FWNNBTE (C) FWNNBTE
(D) FWNNCSF ;@@E‘ (D) FWNNCSF
(E) Not attempted R (E) SR ST

13. The Kingdom of Ballabhgarh was annexed by the | 13. 1857 % W1 fa51g & a1 SUSI 3 ToctvTTE TsT T
British after the Indian Rebellion of 1857. Who oot oY ToTaT T | SR ifaH IHeh i 97 2
was its last ruler ? (A) e foig (B) senm fig
(A) Nahar Singh (B) Balram Singh (C) 3shia fig (D) T g
(C) Ajit Singh (D) Gopal Singh (E) 3T e} =9
(E) Not attempted

14. Select the combination of numbers so that letters |14, T&IT & G 1 I hiST dTioh SERRILCN
arranged accordingly will form a meaningful word. SIFTET ST&T Teh TTedeh 3168 T Hoh |

N|[R][O]]|C T||A N||IR||O]|]|C T||A

1 2 3 4 5 6 1 2 3 4 5 6
(A) 162435 (A) 162435
(B) 652314 (B) 652314
(C) 235461 (C) 235461
(D) 462531 D) 462531
E) Not attempted : oMo
(E) Notattempte (E) 3T o1 =med o

15. You are facing the rising sun early morning. You |15. 39 sIg-Helg ITd F &t ﬁ?ﬂ'ﬁ'm@%% | AT
turn 90° clockwise, then 45° anti-clockwise. Which 90° ferumad, fot 45° STHTad quﬁ 2 | 39 Y T
direction are you facing now ? e fr e F we g ?

(A) South-East (A) efequrgd

(B) East (B) qL\T:f

(C) South (C) afaor

(D) South-West (D) gfequr-ufy=m

(E) Not attempted (E) 3l &1 =Imed
D +5+



16.

17.

18.

19.

What does the acronym “MIME” stand for in the | 16.

context of email ?

(A) Mobile Integrated Mail Encapsulation

(B) Microsoft Internet Messaging Environment
(C) Mail Internet Message Extension

(D) Multipurpose Internet Mail Extensions

(E) Not attempted

Which of the following statements about units of | 17.

data storage is/are correct ?

I. 1 Gigabyte (GB) is smaller than 1 Terabyte
(TB).

II. 1 Kilobit (Kb) is equal to 1024 bits.

III. 1 Megabit (Mb) is 1/8th of 1 Megabyte (MB).

Options :

(A) Tonly

(B) Tand II only

(C) Iand III only

(D) I and III only -
(E) Not attempted T

EEE

The ‘Chaudhary Bansi Lal Cricket Stadium’ is|18.

located in which city of Haryana ?
(A) Gurugram

(B) Faridabad

(C) Lahli

(D) Panchkula

(E) Not attempted

As per the official Haryana Government portal, | 19.

which of the following is not one of the five natural
geographical divisions of Haryana ?

(A) Aravalli Range

(B) Yamuna-Ghaggar Plain
(C) Shiwalik Hills

(D) Bundelkhand Plateau
(E) Not attempted

30 & e § “MIME” ol RIT 319 § 2
(A) HIsTse $fefee it THahegeie
(B) HTShIGTYE Fete HOTSIT e
(C) T LI HOS UM

(D) ACHILIE $eTAL Ul Uaeid

(E) ST TRl 3T =med

3T TR HI A &+ 9N ° fmfaRed @ @

HIH-|T/Y FHYT & 2/2 2

1. 17fFTeEsge (GB), 1 2UeTEE (TB) A BETR |

1. 1 fanfere (Kb), 1024 foree o srreR 2 |

11. 1 ATIfse (Mb), 1 HTETES (MB) ST 1/8aT 9T
g |

forerea :

(A) a1

(B) haet [ 3R II

(C) haet [ 3R I

(D) shaet 11 AR

(B) TR o1 =med

e sl AT fehohe Tefeaw g o forg st d
feog 9

(A) TeU™

(B) ®EEE

(C) wrEatt

(D) d=IpaT v
(E) ST TE T =med )

ENAOT ER & ATMUHNE dIdd & TR,
frafafaa & @ 9w efEmn & ui= wEfas
fiiifereh T9T 3 8 Tk TR R 2

(A) ITEAT gt

(B) FHAT-SWR A

(C) Rranfres veifeat

(D) SIS UBR

(E) &l &1 =med
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20. What percentage of Haryana’s geographical area is |20. &NTOT & imifetsh & a1 foha=m gfaera wefara &
covered by the Protected Area network (National Fead (U I, Iasiia TUIR0Y, 0T i)
Parks, Wildlife Sanctuaries, Conservation I e feRaT T ® 2
Reserves) ? (A) 11%

(A) 11% (B) 0-62%
(B) 0-62% (C) 0-75%
. 0
D) ° (E) S & & =med
(E) Not attempted

21. Identify the correct pair of indigenous cattle breeds |21. &N & 3cq=T B dTelt 2T AR AT o H_T RAG)
that originated in Haryana : EIRREIC IS L
(A) Sahiwal cow and Banni buffalo (A) FERETH T SR F= 4|
(B) Tharparkar cow and Mehsana buffalo (B) SRR T ST HEHTOT Far
(C) Hariana cow and Murrah buffalo (C) Erem gaﬁ{gﬁ aﬂﬁg
(D) Gir cow and Jaffarabadi buffalo (D) ﬁTITﬂ'q

(E) 3T o1 =med Clir
(E) Not attempted mEa

22. Under Haryana’s Parivar Pehchan Patra (PPP)|22. gfemom &t ufar yg=me o (dididh) qomeft & qed,
system, which of the following statements is frfaiad 0 9 -8 S 9e © 2
correct ? (A) TR L (ID) haret Yarelt vkt o forg
(A) Temporary IDs are for migrant workers only. 1
(B) PPP is mandatory for all residents. (B) ooft FraTRel & fore diidy el 2 |
(C) Families outside Haryana get a 9-digit ID () =R & STET F IRER T e Y T E

starting with letter ‘T". Tt 937t St TS (ID) et 2 °
(E) I(\)In‘ty :t{aryalnz residents get a Family ID. (D) 3 2 ¥ FraTEt = & S o
(E) Notattempte - (ID) foreret 2 |
E%‘a (E) ST AEl &1 =Imed

23. The decline in the population of which bird species |23. oM (3ﬁ'(q3 ﬂT{?fﬁ) fore geft seTfar ot ST |
in Haryana (and across India) is a significant firrere weh weut uaterufta 7 @, fSrereht 9 SRl
environmental concern, largely attributed to the qy1 Fefehear § feaetitbTeh T 39T 2 2

f Diclof in veteri dicine ?
use of Diclofenac in veterinary medicine (A) TR
(A) Peacocks
(B) @™
(B) Cranes fr
C
(C) Vultures ©
(D) Sparrows (D)
(E) Not attempted (E) ST ST =T
D +7+



24. Which of the following statements is correct|24. BRITON T fesrehett & 3fdem™ & s & FfaRaa o &
regarding the history of painting in Haryana ? FH-TT FAT T R 2
(A) The earliest artistic expressions in Haryana (A) = F g 5 - Rreafest &
were discovered at the Siswal site, featuring St fogere Hls\; o S oft, Forerit sy S
designs painted on earthenware in black and g T 3 i 3 o T ,E: DY
hite. . .
e (B) Tt & & meet sufafier shret 2 S it
(B) The Rang Mahal in Pinjore is decorated with 3 5T T ST e & TR 2 |
wall paintings created by British artists ©) % A i & ofRr R ;"T .
during colonial times. AP
HIIng COTOMIAT HIMES ferfeiferil (Sheeht) AT RITe o1 A9 2 |
(C) The Bhadrakali temple in Kurukshetra lacks (D) 1 S e & ¢ Stev AR Td
any form of frescoes or murals. & oﬁ 5
(D) The ‘Asthal Bohar’ paintings are not found in (E) 3 71 37 e
Panchkula and Pinjore.
(E) Not attempted Ejfrm
G
25. The town of Kaithal in Haryana is historically |25. RO T FuaT T Ufarifas w9 @ fha afg
linked with which famous female warrior ? HiEAT AgT © Feifea g 2
(A) Razia Sultana (A) Ti\lrl'ng?dW
(B) Rani Lakshmi Bai (B) THY oret oImg
(C) Begum Hazrat Mahal (C) & &SHd "
(D) Rani Avantibai (D) T CERIEIE
(E) Not attempted (E) IoCAET 27 =t E%E
26. What is the revised honorarium for the ‘Yuva|26. BRETOT @1fecs Tehre gmﬁrqaﬁ ISR CIRNICED
Lekhak Samman Puraskar’ given by the Haryana GHATT JUERTT <Rl HINTod AT =T 8 2
Sahitya Akademi ? (A) % 1,00,000
(A) ¥1,00,000 (B) % 25,000
(B) 25,000 (C) 50,000
C) 50,000
© (D) ¥75,000
(D) T75,000 .
(E) SR o1 9med
(E) Not attempted
D +8 +



27.

28.

29.

Which of the following statements about email |27.

addresses is/are incorrect ?

I.  An email address must contain an ‘@’

symbol.

II. An email address is case-sensitive (e.g.,

John@example.com is different from

john@example.com).

III. There can only be one recipient in the “To”
field of an email.

Options :

(A) I, I and IIT

(B) Tonly

(C) TandII only

(D) II and IIT only

(E) Not attempted

Which feature in Excel allows you to set rules for | 28.

how cells are formatted based on their
values ?

(A) Format Painter

(B) Conditional Formatting

(C) Cell Styles

(D) Number Formatting

(E) Not attempted E%E

Which of the following describes a “hyperlink” ? |29,

(A) Data stored on your computer by a website

(B) Software used to  block

advertisements

pop-up

(C) A clickable object that takes you to another

web resource
(D) A program used to secure online transactions

(E) Not attempted

A T & IR § fFefefad § @ SH-91/8 e

ToTd 8/2 ?

L ATSHH @ g e g Aoy |

II. 39 Ued Ha-Gfufees 8 2 (Serwr & fog,
John@example.com, john@example.com g
HATE) |

[11. 9 & “To” Hics H dhael Ush YTHehA! &1 Tehdl
gl

e :

(A) 1, 11 311
(B) shaaT 1

(C) shaeT I 311
(D) et 11 3R 11
(E) STl &1 =med E%EE'

TF | -4l G S9! el i 39k AHI
ATYR | e FE o fou Fam Fuif =3 H
FqEfe ot & 2
(A) B U

frafafad & @ sF-a1 “gruwicis” *1 Jui

g7

(A) FoReT JeTTSE ST 1Tk HE T IR 2T

(B) 9iu-379 fqmoHl i st A * I TH
HFeaR

(C) T fofreteh i A 3iTesigre ST ATt fohelt 317
e g W ST 8

(D) HAMATET T-a sl GUET H o foTq 3TanT
[ERIEEEISIRCAIpIL]

(E) 3T o1 =med

+9+



30. If ‘a’ and ‘b> are positive integers such that 30. AT ‘@’ SR ‘b’ oAcHw Yoriw & Fww R
2 2
a —b =31, then what is the value ofa x b ? a2—b2=31,?ﬁa>< bHRTHAFTE ?
(A) 246 (B) 128 (C) 321 (D) 240 (A) 246 (B) 128 (C) 321 (D) 240
(E) Not attempted (E) ¢ T T = TRd
31. From a point A on the ground, the angle of|31. WW@%@; A ¥, Uk SHedier TR o I &6
elevation to the top of a vertical tower is 30°. From I3 0T 30° 8 | T %FS: B, S %F:{ A TR %
a point B, which is 50 metres closer to the base of ATIR Y 50 HeT 37ferer ke 2, Hiam o i o1 3139
the tower from point A, the angle of elevation to T 60° B | HIHR Y FHar$ (e J) R 2
the top of ‘Fhe tower is 60°. What is the height of A) 50 J3m (B) 50 m
the tower (in metres) ? o 5
D) 25m
(A) 50/3 m (B) 50m © 253 I;T D)
E) I & o =med Em
®) 3 (D) 25m ( D
(E) Not attempted oo
32. 14 GHT ST 9Tt T 3G 9Tq ok O ol TTEATR
32. A solid metal cube of side 14 cm is melted and S N S s
. . 1 Tt Frsa aTet B1e el ST 911 & | U fohae et
recast into smaller spheres of radius 1 cm. How 5o
many such spheres can be formed ? ST :
(A) 655 (B)535 (C) 612 (D) 724 (A) 655 (B) S35 (C)612 (D) 724
(E) Not attempted (E) ST T AT =T
1 s (1) 1 s (1Y
33. Ifx+ — =2,thenx +| | = 33, Flex+— =2,dqx +|—| = )
X X X X
(A) 5 B) 0 ©) 6 (D) 2 (A) 5 (B) 0 (C) 6 (D) 2
(E) Not attempted (E) T &l a1 =ed
34. Arun’s salary is 25% more than Bishnoi’s. Charan |34. 37807 &1 dd- {oIg1g & aa & 25% 31 & | =0T
earns 40% less than Arun. Deepak earns 30% more TR Y 40% HH HHTAT S | 29k, foIe TS & 30% AT
than Bishnoi. FOETE |
By how much is Deepak’s salary more than 9 T A 90T & aaT O fohar At & 2
Charan’s ? (A) 66:67% (B) 53-33%
(A) 66:67% (B) 53:33% (C) 62:25% D) 7333%
(C) 62:25% (D) 73:33% (B) 30T 3T e
(E) Not attempted
35. 6 TSI ol TEd a5 50 fRaATITd € | Tk 73T TS
35. The average weight of 6 boys is 50 kg. A 7th bo ) j
. 8¢ WeIE > y . of sTIftreT &1 STTaT 37 T SfEd 4% 3¢ ST 2 | 919
joins and the new average increases by 4%. Later, . .
. . H, U 8ol agar ot it @ ST ® SR shed
an 8th boy joins and the average increases by C .
1 kg. What is the weight (in kg) of the 8th boy ? | FoeiTarm a1 ST & | 891 <Tgeh il s (= T ﬁ)
FTE 2
A) 57 B) 60 C) 62 D) 56
&) ®) © (D) (A) 57 (B) 60 (C) 62 (D) 56
(E) Not attempted (E) 3R el &A1 e
D +10 +



36.

37.

Which of the following diagrams represents the
relationship among Beverages, Coffee and Soft
(Cold) drinks ?

® O_O

O
" @

® @O

(E) Not attempted

By
=

In the following question, find out which of the
Answer Figures (A), (B), (C) and (D) completes

the figure matrix.

| %
IR

i
ON/0O

dp|CRO| ?

o|o
olo

Answer Figures :

A o[ )o B 0
( ) ( ) ( ) (. )

o[Jo o

© 0 (D) ()
@[ [ GE®)

S g

(E) Not attempted

36.

37.

FetfeTied 3 & =199 3R U TaTe, hithl 371 g
(3faeT) U o Sl Teler guIiaT ® 2

® O_O

O
" @

D @O
(E) 3R & <1 =med

frfefed woa °, 1a Aifse for 3T stmpfaar (A),
(B), (C) 31 (D) # & H-H} ST A= 1 T
HAT |

3T SATHAT :
(A) (o o) (B) c o S
ol Jo o
(©) @ (D) N
((e] i (=) (=] (=)}
S 9
(E) SO & a1 =med
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38.  Which architectural style does the Sun Temple at|38. T T Hﬁ i formr womuer Sieft 1 wefdia sar
Modhera represent ? 29
(A) Indo-Islamic (A) FSI-ZEATHR
(B) Dravidian (B) sfae
(C) Maru-Gurjara (C) ATETSIC
(D) Kalinga oo (D) FfAT
(E) Not attempted DB (E) I ¥ aTEy
39. Which of the following is not a factor used to|39. meﬁwaﬁmwa?m
classify climates in the Koppen climate fefafaa 8 9 w9-ar e Sy 8@t fomar st
classification ? 29
(A) Wind (B) Moisture (A) BT (B) SIEGI
(C) Vegetation (D) Temperature (€) Ity (D) ATIHH
(E) Not attempted (E) I TR ST =R
40. Which of the following Indian cities has a tropical |40. F=ifeiRaa & & forer YR 3T 0 Swrepfesifia s
wet and dry (savanna) climate ? R REACEIRDEEIR! 29
(A) Shillong (B) Srinagar (A) e (B) R
(C) Bengaluru (D) Shimla (®) EHIGE (D) Rl
(E) Not attempted (E) wq—eﬁétﬂ'm
41. The “Chhau” dance, with martial and tribal origins, 41. IS (TR HR STeTE HT AT “BI” Tod
is primarily from which Indian state ? e 9 Y foh TRAT TSI 8 8 2
(A) Haryana (A) g
(B) Assam (B) 3@
(C) Manipur (C) TR
(D) West Bengal (D) ‘?Iﬁ%l\janﬂFf
. [= {5
(E) Not attempted (E) T2t 37 =t =
42. Under the Digital Personal Data Protection Act,|42. fefSree safrra 2er weqor Q’ﬁiﬁ'ﬂq, 2023 éﬁﬁgﬁ,
2023, which of the following activities is 18 a¥ T Y Y & =4l o TefoieeT SahTa 221 &7
prohibited when processing of digital personal data YT hid 999 FefeilRaa 7 9 st nfafafer
of children under the age of 18 years ? g g9
(A) Collecting personal data with parental (A) T 1 Tenf & SR SoT U
consent . -~ -
(B) Tracking or behavioural monitoring of (B) Sl T SfohT o1 ST
children (C) 3ferer Traft ST SUTsY T
(C) Providing educational content online (D) S==l T ST Ushe s &Y H HUETT HEAT
(D) Storing children’s data in encrypted form (E) I ALY T =R
(E) Not attempted
D +12 +



43.

44.

45.

Consider the following statements :

I. Haryana covers 2:34% of the geographical
area of India.

II. The government has legalized the shooting of
female Nilgais.

Il. Lantana camara pose a significant threat to
the Haryana forest ecosystems.

Which of the above statements is/are correct ?

(A) Iand III only (B) I only

(C) IIand II only (D) I, D and III

(E) Not attempted

Which of the following pairs of institutions and
their locations is incorrect ?

(A) Indian Agricultural — Panchkula
Research Institute (IARI)

(B) Indian Institute of — Rohtak
Management (IIM)

(C) Central Institute for — Hisar
Research on Buffaloes
(CIRB)

(D) National Dairy Research — Karnal
Institute (NDRI)

=45
(E) Not attempted E%‘é

Which of the following statements about the
Mukhyamantri Bagwani Bima Yojana (MBBY) in
Haryana are correct ?

I. The scheme covers 46 horticultural crops.
II. Premium is ¥ 750/acre for vegetables/spices.

III. Maximum compensation is ¥ 15,000/acre for

vegetables/spices.
Options :
(A) L, II and III (B) Iand III only
(C) IandII only (D) II and III only

(E) Not attempted

43. Taffad st w foem Fifsre

1. BITOT ST o SINTIToTeh &1 T 2-34% W ST
T |

[I. ThR F HIST AT hl el AR Sl 9 o
feng |

111, 1 35 siem a7 aritufash @&t & fae
T e 0l @ ¢ |

ST H § HH-A1/H e FE 8/2 2

(A) aet [ 3T (B) e 111

(C) haet 11 3R 111 (D) I, 11 3R 111

(E) 3T <A1 A18d M
wxh
44. Treferfiad # @ ST 3R 37k TAH] 1 -6 W

TATE ?

(A) IR Y SFTEEH FEAF gl
(JTTRTIHRTE)

(B) VR Ty T ~  Ugdh
(HATSHTZTH)

(C) HET 9H STTEYM He - feaw
GISIEEITC)!

(D) USRI eI eI — AT
(TTEIART)

(E) I &I a1 =Ted

45. BTN § qeaHs SHTerHt ST ST (THfsETS) %

IR 7 FeAfafad 7 8 HI9-0 FaF T8 8 2

I 39 ST H 46 STTEHT HEAT bt TS fomam
TR |

1. afssEi/mare & foe fiftrm z 750w R |

IIL. "issE/maTell & {dq  SAfRerdd g3t
7 15,000/THS 2 |

foremea :

(A) L 13RI (B) ohaet [ AR 111

(C) wHaet 13RI (D) saet 11 3R 111

(E) 3T o1 amed

+ 13 +



46.

47.

48.

49.

Which author from Haryana won the Sahitya
Akademi Award for work in Haryanvi language in
1990 for his poetry collection titled “Bire Da
Viyah” ?

(A) Jasbir Singh

(B) Uday Bhanu Hans

(C) Mewa Ram Gaur

(D) Gopi Chand Narang EiE
(E) Not attempted El%ﬂ
Consider the following statements :

I. The first nuclear power plant in North India
is being built in the Hisar district of Haryana.

II. The Haryana government has removed the
age limit for the ‘Mukhyamantri Kisan Evam
Khetihar Mazdoor Jeevan Suraksha Yojana’.

III. The 3rd edition of the Saras Aajeevika Mela
was held in Gurugram.

Which of the above statements are correct ?

(A) Tand II only
(B) Iand III only
(C) I, T and III
(D) II and IIT only
(E) Not attempted

In 2022, Haryana ranked
Indian states in the Export Preparedness Index.
(A) 2nd

(B) 5th

(C) 4th

(D) 8th

(E) Not attempted

among

What is the current number of reserved
constituencies for Scheduled Castes (SCs) in the
Haryana Vidhan Sabha ?

(A) 20
©) 17
(E) Not attempted

(B) 15
(D) 2

46.

47.

48.

49.

1990 & 37U ShferdT € “=fi 31 =418 o forw gfmoret
TS H G 3TehTeHt kIt Sfid- aTel SRETOT shio
FTY 2

(A) Stesfit fi

(B) 33T ATJ &

(ORCIRCEIS

(D) Tt =g TR

(E) 3T &l &1 =med

Freaferfaa emt w famm fifse -

I S ARG H YeT WA STl G ST o
AR N H TS @ 2 |

1L BT ek 3 Heges forem ue wfaet asig
STa R AT o [T AT AT 8T & 2 |

[11. 6T TSt Hel ol T SEhoT & |
SrTAfSTa TR T |

ST H U HIH-H FHT RIS 2

(A) a3

(B) ohaet [ 3R II

(C) L 1SR III

(D) haet 11 3R 111

(E) 3T o1 =red E%E

2022 H, Frrta dart gerhish H gRamoT YRt st o

T YT AT |
(A) TR
(B) 59
(C) =
(D) 84
(E) STl ST =med

i fererm T | gt sfEt (gwE) % foe
AR FaTeH-8=1 shl IdHT S ford=i 8 2

(A) 20 (B) 15
©) 17 (D) 2
(E) 3T A &A1 =Imed
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50. Which among the following is not a Constitutional |50. F=fctfaa & & sn-a1 i@ U7 § U daenfes
Body in the state of Haryana ? T 78 2 2
(A) Haryana Human Rights Commission (A) 2T greaETiERTe ST
(B) Haryana Public Service Commission (B) EITOT ek Tl AT
(C) State Election Commission (C) TSI o= ST
(D) State Finance Commission (D) T3 fom T&mT
(E) Not attempted (E) STXTel T EE
51. Under the Haryana Budget 2025 — 26, how much |51. g sIS1E 2025 — 26 & d&d, ATS! A&HT JSHT &
amount has been allocated for women’s welfare aed gferstt %W%WWT@T ATefed Y
under the Lado Lakshmi Yojana ? TR
(A) %3,000 crore (A) %3,000 FS
(B) ¥4,000 crore (B) 4,000 FS
(C) ¥5,000 crore (C) %5,000 FS
(D) 6,000 crore 5 %@-E-' (D) % 6,000 Fe
(E) Not attempted ol (E) Io0AET 27 =1t
52. The ‘Pinjore Gardens’ (Yadavindra Gardens) in|52. REmom# st me (Feferst men) %HEIT{@WT
Haryana are an excellent example of which WW@W% ?
architectural style ? (A) wqrgq AT
(A) Mughal garden architecture (B) @'WW
(B) Indo-Saracenic architecture (C) fifem ﬁqﬁaﬁ@—o‘-{;@w
(C) British colonial architecture (D) TSI TRHeT
(D) Rajput architecture (E) S0 31 et
(E) Not attempted
53. Which of the following Parks/Santuaries in 53. af@mm o ff=faRad & @ -8 ITH/RYERT
Haryana is a Ramsar site ? THER TIA & 2
(A) Sultanpur National Park (A) EHE T ST
(B) Nahar Wildlife Sanctuary (B) ATEX asiia ST
(C) Abubshahar Wildlife Sanctuary (C) TR TSI ST I
(D) Kalesar National Park (D) R TR 3o EE
(E) Not attempted (E) S9CAE1 3 = OB
54. Which Article of the Indian Constitution facilitated |54, WRdT GfarermT & fore 33@%3 = EITOIT T T ST
the creation of Haryana as a separate state ? ST o &Y | s § TR hl 2
(A) Article 239 (A) =BT 239
(B) Article 371 (B) 3= 371
(C) Atticle 1 (C) =T 1
(D) Article 3 (D) T3
(E) Not attempted (E) ST T =Ed
D + 15+



5S.

56.

57.

58.

59.

I[f READ is coded as 94 (18 x 5 + 1 x 4), how will
MATH be coded ?

(A) 160

(B) 165

(C) 173

(D) 156

(E) Not attempted

A certain number, when divided by 15, 20, or 25,
always leaves a remainder of 8. What is the
smallest such number that is also greater than
500 ?

(A) 592

(C) 612

(E) Not attempted
Find the odd one out :
(A) Mirror

(B) Window

(C) Prism

(D) Lens E%-E'
(E) Not attempted B

(B) 608
(D) 615

Find the odd one out :
(A) 371

(C) 153

(E) Not attempted

(B) 417
(D) 370

Four individuals — P, Q, R and S — are suspects in
a theft case. They make the following statements :
P says : “Q is guilty.”

Q says : “R is guilty.”

R says : “P is innocent.”

S says : “I am innocent.”

If it is known that exactly one of them is guilty, and
only the guilty person lies (all innocent people tell
the truth), then who is the guilty one ?

(A) S (B) P (C©) R
(E) Not attempted

D) Q

5S.

56.

57.

S8.

59.

Ifg READ &l 94 (18 x 5 + 1 x 4) & &Y H hifed
foram STTaT 2, O MATH Rl 38 hifed fomam stmaem 2

(A) 160
(B) 165
(€) 173
(D) 156 mym
(E) S & ¢ =med izt

Ue fYera G & 15, 20, 31 25 @ foarfsig v W
BHYI 8 Y STl § | V) Sod B1eT 6ar hi-61 & s
500 T fr oI 2

(A) 592

(C) 612

(E) 3T o1 amed

ﬁﬂ'ﬁrﬂﬁ@ﬁm:

(A) &dor

(B) faget

(C) fusm

(D) @&

(E) TR &l &1 =med

(B) 608
(D) 615

%ﬂ'ﬂrﬂﬁﬁﬁl@:

(A) 371

(C) 153

(E) 3O & a1 =med

(B) 417
(D) 370

IR T — P, Q, R 3N S — =R o Ueh HHA § Gidwer
213 fFefafag e wea €
PW%:“QW%I”

QFedTe: “RaA T |7

R e : “P feiw g |

ST : “H e g |”

Ife a5 71d & for 370 @ araa 4w € 9t 3
helel a1 STk 13 sliera & (@t fefe e & sitetd
?), A TR 2
(A) S (B) P
(E) 3T el &r =g

(© R D) Q

+ 16 +



60. A factory uses three machines (A, B and C) to

produce a specialized type of widget.

Machines A and B working together can produce
100 widgets in 4 hours.

Machines B and C working together can produce
100 widgets in 5 hours.

Machines A and C working together can produce
100 widgets in 2-5 hours.

If Machine A were to work alone, how long would
it take it to produce 100 widgets ?

(A) 16/3 hours

60. Tk Shaedl T foO9iy YR & fomie s & fofu =

T (A, B 3T C) T STIRT &L § |

3T A 3R B U 91 & i 4 ¥ | 100 fosie
T Hehel1 © |

T3 B 3 C Tsh &Y & &l 5 5 7 100 fomie
ST Gehd 8 |

T A 3R C U 9 &9 ek 2-5 °e o
100 fosie ST EFAT © |

Ife g3 A 3Thcd S &L, @1 39 100 focie 90 o
Tora=T wm T 2

(B) 5 hours (A) 16‘;;}:'%
(C) 40/9 hours (B) S#
(D) 4-5 hours (C) 4079 08@
(E) Not attempted E%‘E (D) 4-5°%¢
(E) TRl <A =med
61. If5@1=060;12 @ 8=200; 16 @ 2=180; then 61. IR5@ 1=60;12@ 8=200; 16 @2 =180 =;
what is the value of 16 @ 10 =? 16 @ 10 =FTAAFATE ?
(A) 260 (A) 260
(B) 10 (B) 10
(C) 32 ©€) 32
‘ mym
(E) Not attempted (E) S TR AT TR o
62. A cube has six different symbols drawn over its six | 62. Teh I & B8 HoTehl W D8 - Tcieh gY
faces. The symbols are dot, circle, triangle, square, € | Wik € — fofg, 9, By, o, i SR i |
cross and arrow. Three different positions of the a@ﬁzﬁ T g &) i -1 feafeat ewils 78
cube are shown in the figures. 4
Which symbol is opposite the Square ? T % frofa Ha-ar ydim 2 2
(A) Cross (A) FE
(B) Triangle (B) n7er
(D) Circle (D) a9
(E) Not attempted (E) I et 7 =mey
D +17 +



63.

64.

65.

66.

Under which Act was the Trust Deed of
PM CARES Fund registered ?

(A) Registration Act, 1908

(B) Companies Act, 2013

(C) Indian Trusts Act, 1882

(D) Societies Registration Act, 1860

(E) Not attempted

If a country’s Gini coefficient increases after
globalization, what does it indicate ?

(A) Income inequality has worsened

(B) Higher international trade occurred

(C) Poverty levels have decreased uniformly

(D) There is no change in income distribution
(E) Not attempted

Which of the following cities was awarded the
2024 “Green Capital of Asia” title ?

(A) Seoul

(B) Tokyo

(C) Delhi

(D) Singapore

(E) Not attempted #E%i"m

Which of the following statements about India’s
first bullet train project are correct ?

I. It will have 12 stations including Surat,
Vadodara and Sabarmati.

II. It includes the construction of India’s first
undersea rail tunnel.

II. It is expected to reduce travel time between
Mumbai and Ahmedabad to under three
hours.

IV. It is being executed with financial and

technical assistance from Japan.
Options :

(A) L II and III only
(C) LI, IIand IV
(E) Not attempted

(B) II, I and IV only
(D) Tand II only

63.

64.

65.

66.

fiun o %e il o dis form rfufaw & q=a
USiiehd ol T8 off 2

(A) Usfistor Aferfm, 1908

(B) ahuT Aferf=m, 2013

(C) W e AffTam, 1882

(D) |ETEd usiieRtor SAfafam, 1860

(E) TR o1 =med

AfE Svtereor & amq foredt 3T T Y 70Tk S 2,
Al T8 AT AT & 2

(A) T STEHFAT T o Tl & AT

(B) I=adt IIqUS T A9 BIHT

(C) TRl o =X H ThHEH &Y § HHY ST

(D) 3T forawor & =his iterd Tt &ieT

(E) I 1 =Imed
frafafaa o @ fohm /et 1 2024 “ufrn $ gfa
TreTer ST Rearer fe=m = 2

(A) faene

(B) il

(C) fawedt

(D) e

(E) SR T <1 9med %?;E

VR 3 I8! qeie o TS oh ok 7 e feriad &

I A FA TS 2

[ 39 gq, JEe iR deAdt afed 12 ReH
=i |

II. 3@H 9Rd st Geetl @95 & = ot & gt =
fomtor sifirer & 1

III. 3Y 4o AR SFEHETSE o i<l JT1 ol G
HEHL I W A B shl ST 2 |

IV. 38 JUH ¥ focfiT 3 derieh! 98T o a1r
forarfraa TR ST T 2

foremea :

(A) shae 1, 11 3R 111
(C) LIL ARV
(E) 3T A &A1 =Imed

(B) shad 11, I11 TR IV
(D) el 13RI

+ 18 +



67.

Which of the following phenomena best explains
the appearance of a blue sky ?

(A) Reflection of ocean colour

(B) Curvature of the Earth

(C) Absorption of ultraviolet rays

(D) Wavelength-based scattering of light

(E) Not attempted

67.

frafafgs @ @ #-H gfeeTr A s $i
Suferfer ol T 3= e T qHATAT R 2

(A) TR % T 1 gidferar

(B) qealt shl skl

(C) TSI foRuTT shT SFaremeor

(D) JhTST ST TUTCEA- TN ThiofT

(E) TR o1 =med

68. India successfully hosted which major|68. WA+ 2024 ¥ forer e i fIeR e it
international summit in 2024 ? HWT‘ET% HSTaHT S 2
(A) G20 Summit (A) Sf20 (G20) f3Ter T
(B) SAARC Summit (B) ®Th (SAARC) Rret gwtem
(C) BIMSTEC Summit (C) fsmdess (BIMSTEC) f¥ter awier
(D) SCO Summit (D) THEST (SCO) forer wwer
(E) Not attempted (E) 3T 7t 37 =y E%_irﬁ:'
Of=
69. Which of the following policies aims at|69. TT=fcIRad # @ Hia-Hl fifa 1 ez afeasn a?elﬂcc_d
transforming rural economy through women-led Il TE-HeRaT 9El (SHG) & "iegw @ Jrior
self-help groups (SHGs) ? ST EEAT ! AT & 2
(A) DAY-NRLM (A) SETE-TTTRTATH (DAY-NRLM)
(B) PM Gati Shakti (B) dfum ifd wfer (PM Gati Shakti)
(C) e-SHRAM (C) 3-2 (e-SHRAM)
(D) PM-KUSUM o (D) fieA-%E" (PM-KUSUM)
E) Not att t i .
(E) Notattempted = (E) 3 T 31 =rea
70. Statement I : The Prime Meridian passes through 70. 9 [ : I TeEATg @M (AMAR) Ao & ge
Greenwich. 1\@((‘“ g
Statement II : 1t is at 0° latitude. HYT 1] - TE 0° STLAITILE |
. i
(A) Statement I is correct, but Statement II is (A) o 1 EET 2, S e 1T 2 |
mcorrect. . "
(B) Both Statement I and Statement II are (B) 3 1 ST e 11 S et |
incorrect. (C) % [ 3R HYT 11 IHT T € |
(C) Both Statemejnt'l and Statement II are correc.t. (D) % [ TeTd 2, Sife oM 1 8e 2 |
(D) Statement I is incorrect, but Statement II is ‘
correct. (E) ST T AT e
(E) Not attempted
D +19 +



71. A number is increased by 20%, then decreased by | 71. Teh G&AT H 20% hl Eﬁ{ ﬁﬁ'l?ﬁ%, T 30% ot =t
30%, and finally increased again by 50%. What is T ST 7, SR 3T | TR 50% AT ghg T STt 2 |
the net percentage change in the number from its & H° gg% O 99 9 I ITa9rd giadd o1
original value ? 29 ) )
(A) 26% (B) 16% (A) 26% (B) 16%
(©) 0% D) 10% g (©) 0% (D) 10%
(E) Not attempted s (E) T2t 27 =med

72. A sum of money, invested at a certain rate of |72, Uk GFIIT hl TRl AT i T FHfv=d & W
simple interest for 3 years, yields ¥ 1,200. If the 3 N} oh feTu fHa9T o T T 1,200 TTH I © | IS 3
same sum were invested at the same rate of NN a;h—.d% SIS Rl G99 (Eﬂﬁiﬁ ®] O
compound interest (compounded annually) for gqﬁﬁ—d) W 2 g9 & fau e fFm S oar
2 years, it would yield ¥ 840. What is the principal F 840 TH 21 | o T (FTE) 3T 7T & T
sum and the rate of interest ? $9
(A) Principal : 4,000, Rate : 10% (A) TR : 24,000, 3 : 10%
(B) Pr%nc%pal :¥4,200, Rate : 9:5% (B) HEH 1 T 4,200, T : 9-5%
© Pr%nc%pal : ¥ 3,800, Rate : 10-5% (C) TEE £ 3,800, T : 10-5%
(D) Principal : ¥ 3,600, Rate : 11-11% o
(E) Not attempted (D) HOEA :‘T 3,600, : 11-11%

(B) TR o1 =med

73. A hemisphere and cone have equal volumes. If the | 73. Teh 3TeITid 3R ‘QTgF % SR SRR & | Afg 3‘@" &
height of the cone is h and radius of both is r, find SO hE NS A Bsarr®, A rF 9Si H h I
h in terms of r. T |
(A) 3r/2 (B) 41/3 (A) 31/2 (B) 41/3
(©) 2r (D) r (C) 2r D) r
(E) Not attempted (E) R E NIRRT

74. 1If a train is 180 m long and crosses a man in|74. Ife 180 uﬁaamﬁ%wngtqaasrraﬁrﬁmmﬁw
9 seconds, then how long does it take for it to cross FTAT 7, AT 3T 280 HITT TF TEHH I I A |
a 280 m long platform ? fha=T 993 & 2
(A) 18 seconds (B) 21 seconds (A) 18 Uehe (B) 21T
(C) 23 seconds (D) 27 seconds (C) 23 Tshe (D) 27 e
(E) Not attempted (E) I &l g1 =ed i

OB

75. Selling Price of two items is T 120 each. One sold | 75. a d«\)i@% SEERRCIEINCER I T 120 2l @Faﬁ
at 25% profit, the other at 25% loss. What is the 25% AT 9T ST TR, S8 hi 25% BT W | ESZEELS
net profit or loss for the shopkeeper ? T 3[G AT T G ERZlT% ?
(A) T 16 loss (B) %25 loss (A) T16HrEM (B) T25H =l
(C) Noprofitnoloss (D) ¥ 16 profit (C) T T T &I (D) %16 AH
(E) Not attempted (E) IR a1 =

D + 20 +



76.

77.

78.

79.

Despite the thunderstorm, the old man remained
seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
whatever echoed in his mind was louder.

What can be inferred about the man ?

(A) He was afraid.

(B) He was deep in thought.
(C) He hated the rain.

(D) He didn’t notice the storm.
(E) Not attempted

Which of the follow best describes the phrase —
“Throw in the towel” ?

(A) To win

(B) To clean up
(C) To give up
(D) To celebrate

{3 E
(E) Not attempted :

e

In which sequence should the following
sentences be arranged to form a cohesive
passage ?

I. His parents encouraged him to try again.
II. He failed the mathematics test.

[I. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A) L 11, 111, IV

(B) IIL I, IV, I

O IL 1L I, IV

(D) I, I, 111, IV

(E) Not attempted

Fill in the blank with the correct tense :
By the time we arrived, the show

(A) will start (B) starts
(C) has started (D) had started

(E) Not attempted

80.

81.

82.

83.

84.

8s.

Rewrite the following sentence in a passive voice.
Someone is watching us.

(A) We are watched by someone.

(B) We were being watched by someone.

(C) We being watched by someone.

(D) We are being watched by someone.

(E) Not attempted

Which of the following is correctly spelled ?
(A) Inevitable (B) Inevittable
(C) Inevatable (D) Inevateble

(E) Not attempted

Which of the following describes a person who
speaks many languages ?

(A) Bilingual

(B) Monoglot

(C) Polyglot

(D) Translator

(E) Not attempted

Change the following sentence into Direct
Speech :

She asked me if | was fine.

(A) She said, “Are you fine ?”

(B) She asked, “Was I fine ?”

(C) She asked, “Am I fine ?”

(D) She asked me, “Are you fine ?”

(E) Not attempted

What is the antonym of “Ambiguous” ?
(A) Obscure

(B) Unclear

(C) Definite

(D) Vague

[= {51
(E) Not attempted A

O

Identify which part of the following sentence has
an error.

If I was you / I would not/
@ (D)
ignore the warning /  at any cost.
(I10) (Iv)
(A) I (B) 111
O (D) 1V

(E) Not attempted
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86.

87.

88.

89.

90.

91.

92.

93.

G T TR ST o T ST qeraw & -

(A) FHTUEF T (B) ©d &

(C) @Teh § forer (D) % fT 9T ST
(B) ST el &1 9med
frferfaa vreel o & Heleraes eg 2

(A) affa (B) TUTIIRR

(C) AR (D) e

(E) I &1 o1 =mad

fretfcrfiad wroe i o @t eref aret wog I &
EE

(A) I — SIS, =T — T

(B) YT — SLATSIT; U< — @l

(C) T — FhTH; FHUTIT — qAAR

(D) USH — &4T; UTa — 3qfas

(E) 3 TE <1 <Ied EE
frefaftaa 0 @ st g anE §

(A) TR (B) EAH-7

(C) STeciTesh (D) 3FTEA

(E) 3T T2 a1 =ed
frafafaa o @ id =g ®

(A) st (B) d@m (C) 3w (D) A
(E) SR Tl <1 =9med

‘YR’ TTe¢ ohT Gi-y-fo=ae g -

(A) IH + TH (B) I +1

(C) IH + T (D) I + T

(E) 3T T a1 =med
frafefaa o @ srfowit wse 2

(A) fergreor (B) &3

(C) TH==sIT (D) foram

(E) I &1 o1 =mad

3¢ Toh FLae A3dT & ATk T Tl 3T R
(A) aftom & SAffraar g

(B) I%] %, =Te a1l 3Aereh

(C) Hhe T Eehe AT

(D) e T TSre safers svm 72 ey
(E) 3T T2 a1 =red

94.

9s.

96.

97.

98.

99.

100.

frfaTaa foreredt o & sgar= o1 = i ;
(A)ast  (B) SHAT  (C) I (D) TeoH
(E) ST 1 =med

frfaTRad 7 @ ST a1 1 =2 ShIIg

(A) 3ftaet T 1 T8 difT |

(B) SATSTehel WS ohT TSI T ¢ |

(C) TSt o T sht arefiarta o |

(D) 39 T Hehed {ohaT 2

(E) 3T A& o1 =Imed

freforfaa & & s-ar o7ef % STTYR W e &1 99
TR

(A) ferermrelen arrerr (B) GagTeleh et
©) SuTTele ATy (D) R T
(B) ST el 1 9med

fefofiaa & & qoem 1eai T TR 2 -
(A) foor, gk, weft, g

(B) 9™, =iie, fortur, rer

(C) T, TR, 4w, I3

(D) <, gUeT, T, oF By
(E) STl o1 =Imed =

Fretferfiae & & waror e 3 weh T B o
i

AT B)L3 OFE DEH
(E) ST =1 &1 9med
freferfiaq sreei § @ w9 fAuma 78 2 2
@& @®I ©OHfK DT
(E) 3T A& o1 =Imed

AR hl Tegeh i, T TSI Ta< |

T | e i 3R, fohy HEt gae< ||
7Y dferTa o STCER Q :

(A) FHH (B) ¥t

(C) ™ (D) Jcd&

(E) 3T A& o1 =Imed
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N
©

Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on
the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

. Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

. No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed”” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

9.

10.

11.

12,

13.

14.

15.

16.

17.

18.

19.

20.

Sparll 1 T AT AN T 2, T T €Tt e 5 Gl T

i BT S W-Heaud 2, wwm%weﬁmaﬁqaﬁBl
%@T%’W%lgﬂ%wﬁﬁwqﬁaw—@n@wﬁaﬁw 9 f
STSFHT 56, FARTAT I, STTER F1e, e afe g e |
Tk TG HeE T AT SR 8, s srerell i when 3 s
STl T &1 St | |
Wﬁwﬁﬁ%%éuﬁﬁw F o for 3=
1.0 3T, T G G STl B AT, T 1 A, WA T A, |
TR g T FIS, qﬁmﬁﬁﬁxmﬁaw o TR T
e o R | o Feoh B fer # et off b 1 7ie o g w |
Wmﬁwﬁmﬁmm%mmﬁrﬁmwmﬁ
ST ST 12 3 SHS I S AR srereft ar and arr % stz |
SUTReIf-Toeh T, H1.0H 3T, wwwaﬁtamﬁﬁﬁmwﬂ'—rﬁ
wn@aﬁts%ﬁwmwzwm%ﬂﬁl |

AT T <raTaAT & AT 8 R F 3. UH.IR, IR uoreh |
ferelt «ft TR <Rt FAOTT T FATT 3T 7 &1 38 Wi | . UH.3TR. |
I UE H HT Wi forem R w1 o gvaq 39 e & forg
s, T, S, mmwﬁmaﬁmmml
ﬁsa%mwﬁsﬁaﬁ%aﬁmwﬁ&a%lswmaﬁ
3 TERT & T TSR 9T VU, I AR F e 02 B W, I
TR 3 FIoT B W AT et B U erereft <y sttt o
JT.UH. AW, I7 U=Teh ST g e ot fam s | I
ST oht =rdTa a1 STTet & foh o AT, Aietser Wi, fohet oft T
aﬁa@hgﬁwﬁmmww@rwﬁqﬁawml
3 fora ga firem o fore aeet waref wdveqy oz & 9 o e 3R A &
IR, =, wﬁmﬁﬁaﬁrm%&ﬁaﬁwwaﬂm%ﬁl I

Wﬁ%m%ﬁ%ﬁmﬁaﬁwwﬁ@ﬁmﬁﬁm
Wﬁlqﬁww%wﬁﬁﬁmﬁ%wwﬁﬁaﬁaqﬁ?m I
et & A1 S oot Soore R foRar T #, T Sl ® @ 5@
et et VT Seete HIT ST S adte 3 sesh srvarfiar e I
o €t STt e wiasy 7 o ST aredt aderet | Sufted g 9w sl
Tfcsrer o fear smam | I
FeT-ohg 1 iEd= a1 qiter-aret | €1 3 Uiad= & garer 7 fohet oft |
arvreff it g o forem 7€t fopa st |
TRfareTeh ST STOIRT-U AT JUTeifer oreh 7 31reff o Tohe o g et I
=7 T sreeff & R STa | et 3 3EF BT F e
IR v § fordl} oft yerr <t ety arg S o arvreff ony e I
;ﬂmaﬁmﬁrﬁam@ﬁsﬁw—gmmﬁwm

|

arvareff g foret I9e o S & &9 ¥ fou 7o gt faehedt # @ wh I
forered T AR AT WAT AR § | I8 SATART AT RO |
TS T TTT SreTed el/eh el STet O & AT | il 3ol 9y
& o fcaer oo T T T R |
TR o e SR St i e o S foret oft ervreff =t e
(STt diteTes) i ST o sl 71 St | R of st |
e SHT B | o TIaTT-oh% DS ol STAT T8 2 | I

ﬁﬁaﬁﬁmﬁaﬁaﬁ@w wwwﬁaﬁeﬁaﬁwﬁfﬁ
2| AR IS .., S e @t U T, A e 6 W |
“ThTE” A o YT S0 TEAER L S 3R 30 W “fea forg

3|
wwﬁmﬁﬁmﬁﬁnwéﬁmlmml
TTeTd W YT 371.TH. 3T, I T30k 3T & Tha T 2 | |
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Provisional answer key
26-07-25 Morning Session Set D
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